## Notice for appointment of Regular/Rural Retail Outlet Dealerships IndianOil proposes to appoint Retail Outlet dealers in Telangana State as per following details Name Of Location 11 12 Area of site (in Sq. M.) (CC/DC/C FS) Depth of Site (in M) working capital requirem ent for YADADRI BHUVANAGIRI 52 400 0 0 Draw of Lots 0 2 Bollepalli, Bhongir Mandal Rural SC CFS 20 20 Rachloor village not on NH765, Kandukur Mandal RANGA REDDY 52 ST CFS 35 35 1225 0 0 Draw of Lots 0 2 JOGULAMBA GADWAL Bhairapur Village limits on Alampur Road, Alampur Mandal Rural SC CFS 20 20 Draw of Lots 0 2 Marriguda on Chandur Road, Marriguda Mandal NALGONDA Rural 52 SC CFS 20 20 400 0 0 Draw of Lots 0 ROM HITEX ARCH TO HICC ON HITEX ROAD CFS 25 20 0 Draw of Lots 3 SC Between Pillar 80- 140. PVNR Express Highway on 200 SC 20 800 0 0 3 RANGA REDDY Regular CFS 25 0 Draw of Lots Mehdipatnam to Raiender Nagar road either side Aliabad X road to Classic Dhaba Turkapally on SH1 MEDCHAL MALKAJGIRI 130 SC CFS 35 35 1225 0 Draw of Lots 0 3 Bhongir town main road (within 5 KMs from Jagdevpur x road towards Raigiri) 30 CFS 0 0 3 YADADRI BHUVANAGIRI Draw of Lots attuthumman on SH-20 NAGARKURNOOL Regular 100 SC CFS 35 35 1225 0 Draw of Lots 0 3 10 3 neenpur village (On Chanda Nagar to IDA Bollaram Road) Regular 150 SC CFS 25 20 800 0 Draw of Lots 0 Within 3km from Vangamarthi village busstand on NH - 365, 150 SC 35 35 NALGONDA Regular CFS 1225 0 0 Draw of Lots 0 3 12 REVALLY VILLAGE TOWARDS MIDJIL ROAD ON SH18 NAGARKURNOOL 100 ST CFS 35 35 1225 0 0 Draw of Lots 0 13 andeed on SH23 MAHBUBNAGAR Regular 100 ST CFS 30 30 0 0 Draw of Lots 0 3 14 Chintapally revenue village limits on SH19 NALGONDA Regular 100 ST CFS 35 35 1225 0 0 Draw of Lots 0 3 15 35 3 hurkalapalli to Charakonda on SH18 Regula 100 ST CFS 35 1225 0 Draw of Lots 0 16 Within Ghatkesar municipal limits on Ghatkesar-bogaram-MEDCHAL MALKAJGIRI Regular 130 ST CFS 30 30 900 0 0 Draw of Lots 0 3 17 Manchal Village, Manchal Mandal 60 OPEN DC 35 35 1225 12 30 5 18 Kawadipalli village (Road connecting Abdullapurmet to Kawadipalli), LHS , Abdullapurmet Mandal RANGA REDDY DC 35 35 1225 12 30 Draw of Lots Rural OBC 19 ohir Village, Kohir Mandal Sangareddy Rural 60 OPEN DC 20 20 400 12 30 Draw of Lots 5 4 52 5 Goletti village, ABDULLAPURMET Mandal RANGA REDDY DC 35 35 1225 12 30 Draw of Lots

21		1				1			1			ı		
21	Gandhinagar Village, Waddepally Mandal	JOGULAMBA GADWAL	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
22	From ORR to Gandipet chowrasta on LHS, Gandipet Mandal	RANGA REDDY	Rural	70	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
23	IPPALPALLE VILLAGE, MAHABUBANAGAR RURAL MANDAL	MAHBUBNAGAR	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
24	Eklakshanpet Village, Keshampet Mandal	RANGA REDDY	Rural	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
25	Within 3km from Kandukur towards NTR Thanda (not on NH765), Kandukur Mandal	RANGA REDDY	Rural	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
26	Chinnamangalaram, Moinabad Mandal	RANGA REDDY	Rural	60	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
27	Chegur, Nandigama Mandal	RANGA REDDY	Rural	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
28	Kareli Village, Dharur Mandal	VIKARABAD	Rural	52	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
29	Kothapet, Keshampet Mandal	RANGA REDDY	Rural	60	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
30	Kankunta, Jinnaram Mandal	Sangareddy	Rural	60	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
31	TEEGALAPALLE VILLAGE, KODAIR Mandal	Nagarkurnool	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
32	Kotpalli Village limits on Tandur-Mominpet Road, Kotpalli Mandal	VIKARABAD	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
33	Khapraipalle Village, Atmakur Mandal	YADADRI BHUVANAGIRI	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
34	GUNDED VILLAGE, Balanagar Mandal	Mahbubnagar	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
35	PEDDAKOTHAPALLY VILLGE, PEDDAKOTHAPALLY Mandal	Nagarkurnool	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
36	Dharmawaram Village, Itikyala Mandal	JOGULAMBA GADWAL	Rural	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
37	within 2 KM from Siripuram bus stop towards vellanki, Ramannapet Mandal	YADADRI BHUVANAGIRI	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
38	GORITA VILLAGE, THIMAJIPET Mandal	Nagarkurnool	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
39	Naskal Village on Vikarabad to Pargi road, PARGI Mandal	VIKARABAD	Rural	52	OPEN CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
40	Satwar, Zaheerabad Mandal	Sangareddy	Rural	60	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
41	Kalukuntla village on Allampur to Raichur Road, Devarakadra Mandal	MAHBUBNAGAR	Rural	60	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
42	Hayathabad, Shahabad Mandal	RANGA REDDY	Rural	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
43	Parveda, Shankarpally Mandal	RANGA REDDY	Rural	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
44	Nanganoor Village and Mandal	SIDDIPET	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
45	Within 2km from KALWAKOLE VILLAGE Bus stop towards Nagarkurnool, PEDDAKOTHAPALLY Mandal	Nagarkurnool	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
46	VANGOOR VILLAGE, VANGOOR Mandal	Nagarkurnool	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
47	AMMAPUR VILLAGE, Chinna chinta kunta Mandal	Mahbubnagar	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
48	Muttannapeta village, Bejjanki Mandal	SIDDIPET	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
49	Chilipched village, Chilipched Mandal	MEDAK	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
50	Between Rudravelly to Raghavapur, on Bibinagar road, Bibinagar Mandal	YADADRI BHUVANAGIRI	Rural	50	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
	ı	1			I						I	1	<u> </u>	

51	Mehtab khan gudem, Nawabpet Mandal	RANGA REDDY	Rural	70	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
52	Kandanelli Village on Tandoor to Dharoor road, Tandoor Mandal	VIKARABAD	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
53	Togurpalle, Kondapur Mandal	Sangareddy	Rural	60	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
54	Baligera village, Gattu Mandal	JOGULAMBA GADWAL	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
55	Bondugula, Rajapet Mandal	YADADRI BHUVANAGIRI	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
56	UDITHYAL VILLAGE, Balanagar Mandal	Mahbubnagar	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
57	Within 3km from Pulumamidi Village Bus Stop towards Maheswaram, Kandukur Mandal	RANGA REDDY	Rural	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
58	Khanapuram, Kodada Mandal	SURYAPET	Rural	52	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
59	Tadparthy village, Bhoothpur Mandal	Mahbubnagar	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
60	Between Malkaram village crossroad and Hanuman temple, on makthaguda road, Shamshabad Mandal	RANGA REDDY	Rural	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
61	Railapur village, Medchel Mandal	MEDCHAL MALKAJGIRI	Rural	52	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
62	Mannapuram Village, Dharur Mandal	JOGULAMBA GADWAL	Rural	52	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
63	Inderasham Village, Patancheru Mandal	SANGAREDDY	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
64	sangem, valigonda Mandal	YADADRI BHUVANAGIRI	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
65	Pocharam Village to Yeliminedu, Ibrahimpatnam Mandal	RANGA REDDY	Rural	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
66	Kavalampet Village, kandi Mandal	Sangareddy	Rural	60	OBC PH	DC	20	20	400	12	30	Draw of Lots	5	3
67	Mallepally Village, Kondapur Mandal	Sangareddy	Rural	60	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	2
68	Within 1km from GUDIPALLI VILLAGE jn on Shanaypalli road, RHS, Nagarkurnool Mandal	Nagarkurnool	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
69	Nimmikal with in 2 KMs Towords Nuthankal, Atmakur(S) Mandal	SURYAPET	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
70	Mansanpally Village, KONDAPUR MANDAL	SANGAREDDY	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
71	Narayanpur Village, Narayanpur Mandal	YADADRI BHUVANAGIRI	Rural	55	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
72	Between Peddakodur and chinnakodur on Siddipet - Ellantakunta road, Chinnakodur Mandal	SIDDIPET	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
73	Ankireddypally, Keesara Mandal	MEDCHAL MALKAJGIRI	Rural	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
74	Veliminedu village on Kistapuram road (not on NH65), Chityal Mandal	NALGONDA	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
75	Edullagudem Village, Valigonda Mandal	YADADRI BHUVANAGIRI	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
76	Nagapuri village, Cherial Mandal	SIDDIPET	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
77	PUDUR VILLAGE, Gadwal Mandal	JOGULAMBA GADWAL	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
78	Brahmanapally, BIBINAGAR Mandal	YADADRI BHUVANAGIRI	Rural	55	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
79	Pocharam village, Regode Mandal	SANGAREDDY	Rural	52	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
80	MUNAGALA TURKAPALLLY , Valigonda Mandal	YADADRI BHUVANAGIRI	Rural	50	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
	•									·		ı		

81	With in 2 KM from Chinnanemilla Cross road towards chivvemla, Maddirala Mandal	SURYAPET	Rural	52	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
82	Domalapally village on Nalgonda to Munugodu road, Munugodu Mandal	NALGONDA	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
83	SAIDAPUR VILLAGE, Yadagirigutta Mandal	YADADRI BHUVANAGIRI	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
84	Arrur, valigonda Mandal	YADADRI BHUVANAGIRI	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
85	Charikonda village, Amangal Mandal	RANGA REDDY	Rural	60	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
86	Yennaram, Ramannapet Mandal	YADADRI BHUVANAGIRI	Rural	50	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
87	Pedarevally village, Balanagar Mandal	MAHBUBNAGAR	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
88	Narva village, Narva Mandal	MAHBUBNAGAR	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
89	Jallapur Village, Itikyala Mandal	JOGULAMBA GADWAL	Rural	60	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
90	From ORR underpass Near Leonia Holistic Resorts to Muduchinthalpally, Shamirpet Mandal	MEDCHAL MALKAJGIRI	Rural	70	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
91	Akunoor village, Cherial Mandal	SIDDIPET	Rural	52	OPEN PH	DC	20	20	400	12	30	Draw of Lots	5	4
92	Bangaliguda, Moinabad Mandal	RANGA REDDY	Rural	60	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
93	Mamidipally, Kandi Mandal	SANGAREDDY	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
94	Dirsincharla, Nereducherla Mandal	SURYAPET	Rural	52	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
95	Marpally village, Marpally Mandal	VIKARABAD	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
96	Chowder gudem, Kondurg Mandal	RANGA REDDY	Rural	60	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
97	Maldakal village, Maldakal Mandal	JOGULAMBA GADWAL	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
98	Vattipally to Chatlapally, Jagdevpur Mandal	SIDDIPET	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
99	Chinnachinthakunta Village, Chinnachinthakunta Mandal	MAHBUBNAGAR	Rural	52	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
100	Yeldurthy village, Yeldurthy Mandal	MEDAK	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
101	Nawabpet village, Nawabpet Mandal	MAHBUBNAGAR	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
102	Dommat, Mirdoddi Mandal	SIDDIPET	Rural	60	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
103	From Aliyabad Chaurasta at Shamirpet to Jaganguda Temple, on either side, Shamirpet Mandal	MEDCHAL MALKAJGIRI	Rural	70	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
104	VALLUR VILLAGE, Jadcherla Mandal	MAHBUBNAGAR	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
105	KUCHCHERKAL VILLAGE (Not on NH), Rajapur Mandal	MAHBUBNAGAR	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
106	JAFFERPALLY ON ROAD CONNECTING PARGI TO KONDURG, PARGI Mandal	VIKARABAD	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
107	KODGAL VILLAGE, Jadcherla Mandal	MAHBUBNAGAR	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
108	Doulathabad, Hathnoora Mandal	SANGAREDDY	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
109	Idhampally village, Devarakonda Mandal	NALGONDA	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
110	Gomaram village, Shivampet Mandal	MEDAK	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4

111	ITIKYAL VILLAGE, Itikyala Mandal	JOGULAMBA GADWAL	Rural	52	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
112	Within 6km from Turkapally village jn (on SH1) towards Kolthur Village, Shamirpet Mandal	MEDCHAL MALKAJGIRI	Rural	60	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
113	Brahmanavellemia, Narketpally Mandal	NALGONDA	Rural	50	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
114	Ramaram Village on Tekumatla to Jangaon X Road, Suryapet Mandal	SURYAPET	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
115	Nakkalapalli, Moinabad Mandal	RANGA REDDY	Rural	60	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
116	From Dandumailaram bus stop towards NH65, Ibrahimpatnam Mandal	RANGA REDDY	Rural	60	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
117	Within 2km radius from Atmakur (S) Jn, on Chinnanemilla to Chivvemla Road, Atmakur(S) Mandal	SURYAPET	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
118	Addagudur Village, Addagudur Mandal	YADADRI BHUVANAGIRI	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
119	Gaddipally village on Durajpally to Garidepally road on LHS, Garidepally Mandal	SURYAPET	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
120	Kasrabad Village, Suryapet Mandal	SURYAPET	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
121	Manoor village, Manoor Mandal	Sangareddy	Rural	52	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
122	NANDI VADDEMAN VILLAGE, BIJINEPALLI Mandal	Nagarkurnool	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
123	Within 3 KMs from Mattampalli Railway Bridge towards Mattapalli, Mattampalli Mandal	SURYAPET	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
124	Nemalipuri X Road to Vajinepalli , Mallareddy gudem Mandal	SURYAPET	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
125	Gurralagondi to Malyala X road on siddipet Sircilla road, Siddipet Rural Mandal	SIDDIPET	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
126	GUNDOOR VILLAGE ON ROAD CONNECTING KALWAKURTHY AND TELKAPALLY, KALWAKURTHY Mandal	Nagarkurnool	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
127	Velidanda village on Munagala to keetharigudem road, Garidepalli Mandal	SURYAPET	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
128	Turmamidi village, Turmamidi Mandal	VIKARABAD	Rural	60	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
129	Penjerla, Kothur Mandal	RANGA REDDY	Rural	60	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
130	Kammadanam, Farooqnagar Mandal	RANGA REDDY	Rural	60	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
131	Bonnal village, Chegunta Mandal	MEDAK	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
132	Kuknoor Village, Yeldurthy Mandal	MEDAK	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
133	Pulkal village, Pulkal Mandal	SANGAREDDY	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
134	Nallabandagudem village limits (from Ramapuram X road towards Ramapuram), Kodada Mandal	SURYAPET	Rural	52	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
135	Kokonda village, Wargal Mandal	SIDDIPET	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
136	Within 2 KM from Daulatabad jn on Daulatabad – Gajwel road	SIDDIPET	Rural	50	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
137	MADGUL VILLAGE, MADGUL Mandal	Nagarkurnool	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
138	PAMIREDDYPALLY TANDA, Peddamandadi Mandal	WANAPARTHY	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
139	Lakadaram not on NH, Patancheru Mandal	SANGAREDDY	Rural	60	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
140	Ranjole, Zaheerabad Mandal	Sangareddy	Rural	60	OPEN CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
					-						-			

141	Sulthanpur, Pulkal Mandal	Sangareddy	Rural	60	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
142	Pedaveedu Village on Matampalli to Dachepalli Road, Mattampalli Mandal	SURYAPET	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
143	Singitham, Raikode Mandal	SANGAREDDY	Rural	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
144	THOODUKURTHY VILLAGE, NAGARKURNOOL Mandal	Nagarkurnool	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
145	Ramapuram village on Dondapadu to Ramapuram X road, Kodada Mandal	SURYAPET	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
146	Veerlapalem village on dameracherla to adavidevulapally road, Dameracherla Mandal	NALGONDA	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
147	Kandawada, Chevella Mandal	RANGA REDDY	Rural	60	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
148	Within 2Km from Maramma temple X road towards Bejjikal road, Tripuraram Mandal	NALGONDA	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
149	Thallaveerappagudem village (Wazirabad NSP Canal to Dameracherla on LHS), Dameracherla Mandal	NALGONDA	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
150	Within 6 km from Veerlapalem village limits towards Damarecherla on LHS, Dameracherla Mandal	NALGONDA	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
151	SATHAPUR VILLAGE, PEDDAKOTHAPALLY Mandal	Nagarkurnool	Rural	60	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
152	Cherukupally, DINDI Mandal	NALGONDA	Rural	52	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
153	Janpahad village on wadapalli road, Palakeedu Mandal	SURYAPET	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
154	KONDANAGULA VILLAGE, BALMOOR Mandal	Nagarkurnool	Rural	60	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
155	YAPATLA VILLAGE , PEDDAKOTHAPALLY Mandal	Nagarkurnool	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
156	Settipalem on Settipalem x rd to Suryapet Road, Settipalem Mandal	NALGONDA	Rural	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
157	Pellipakala village limits on Ashmapuram road, K.Mallepally Mandal	NALGONDA	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
158	Nagenenipalli, Bommalaramaram Mandal	YADADRI BHUVANAGIRI	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
159	SRISAWADA VILLAGE, TADOOR Mandal	Nagarkurnool	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
160	Akkannapeta village, Akkannapet Mandal	SIDDIPET	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
161	Nagulapally, Farooqnagar Mandal	RANGA REDDY	Rural	60	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
162	Kammeta Village on Shankarpally to Chevella road, Chevella Mandal	RANGA REDDY	Rural	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
163	INDRAKAL VILLAGE, TADOOR Mandal	Nagarkurnool	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
164	PANGAL VILLAGE, Pangal Mandal	WANAPARTHY	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
165	Mellacheruvu village, Mellacheruvu Mandal	SURYAPET	Rural	60	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	2
166	GovindrajPally Village limits (On Hathnoora to Jogipet Road), Hathnoora Mandal	SANGAREDDY	Rural	60	OBC PH	DC	20	20	400	12	30	Draw of Lots	5	3
167	Between Manneguda crossroad to Yennepally on LHS towards Vikarabad, Pudur Mandal	VIKARABAD	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
168	Within 2km from SLC institute of Engg & Tech towards Kothaguda X road on Piglipuram road, Abdullapurmet Mandal	RANGA REDDY	Rural	70	OPEN	сс	35	35	1225	12	5	Bidding	10	4
169	TALAKONDAPALLE VILLAGE, KADTHAL Mandal	RANGA REDDY	Rural	48	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
170	Katakamgudem (Ramapuram village), Kodada Mandal	SURYAPET	Rural	52	SC	CFS	20	20	400	0	0	Draw of Lots	0	2

171	Jai Kesharam (on Valigonda -Choutuppal road), Choutuppal Mandal	YADADRI BHUVANAGIRI	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
172	Nemarugomula village, Bibi Nagar Mandal	YADADRI BHUVANAGIRI	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
173	TALLAPALLY VILLAGE, TELKAPALLY Mandal	Nagarkurnool	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
174	Within 2km from KONDURG-Nawabpet in towards Shadnagar, Kondurg Mandal	RANGA REDDY	Rural	60	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
175	Pillaipally, Pochampally Mandal	YADADRI BHUVANAGIRI	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
176	Morrur village (Nakrekal to Tipparthy road), Nakrekal Mandal	NALGONDA	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
177	Mekavanampalli village on road connecting Mominpet - Sadashivpet within Vikarabad Dist border, Mominpet Mandal	VIKARABAD	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
178	Bibinagar village, Bibinagar Mandal	YADADRI BHUVANAGIRI	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
179	Alingapuram, Palakeedu Mandal	SURYAPET	Rural	52	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
180	Waddepally village, waddepally mandal	JOGULAMBA GADWAL	Rural	60	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
181	Venakatpuram, Moinabad Mandal	RANGA REDDY	Rural	60	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
182	Within 3km from Pargi- Kodangal jn towards Shadnagar (not on SH), Pargi Mandal	VIKARABAD	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
183	survail, Narayanpur Mandal	YADADRI BHUVANAGIRI	Rural	50	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
184	GUMMADAM VILLAGE, Pebbair Mandal	WANAPARTHY	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
185	NARLAPUR VILLAGE, KOLLAPUR Mandal	Nagarkurnool	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
186	Bhacharam Village , Abdullapurmet Mandal	RANGA REDDY	Rural	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
187	Sirgapur Village, Sirgapur Mandal	Sangareddy	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
188	Bonthapally Village, Bonthapally Mandal	SANGAREDDY	Rural	60	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
189	Mannapur, Mogdumpaliy Mandal	Sangareddy	Rural	60	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
190	Pulicharla village, Pedavoora Mandal	NALGONDA	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
191	Kummera, Chevella Mandal	RANGA REDDY	Rural	60	OPEN PH	DC	35	35	1225	12	30	Draw of Lots	5	4
192	Akupamula Village not on NH65, Munagala Mandal	SURYAPET	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
193	Between Narsaipally to Singotam on road connecting WANAPARTHY -KOLLAPUR, KODAIR Mandal	Nagarkurnool	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
194	Raipole village, Daulatabad Mandal	SIDDIPET	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
195	DINDI CHINTHALAPALLY VILLAGE, VANGOOR Mandal	Nagarkurnool	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
196	Munugodu to narayanapur(LHS), 12KM from Munugodu Bus stand, Gundlapalle Mandal	NALGONDA	Rural	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
197	Vatpally Village Not on SH, Vatpally Mandal	Sangareddy	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
198	Gudpalle, Zaheerabad Mandal	Sangareddy	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
199	Chintal Ghat, Kohir Mandal	Sangareddy	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
200	Chinchode, Farooqnagar Mandal	RANGA REDDY	Rural	60	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3

201											1	1		
	Thungapahad Village limits towards Matur Road RHS, Miryalguda mandal	NALGONDA	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
202	Sirpuram village, Hatnoora Mandal	Sangareddy	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
203	Yedupayala, Edupayala Durgamma-Nagsanpally Road, Medak Mandal	MEDAK	Rural	60	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
204	POLKAMPALLE VILLAGE ON KONDAREDDY PALLY - CHINTHAPALLI ROAD, VANGOOR Mandal	Nagarkurnool	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
205	Dhoolmitta village, Maddur Mandal	SIDDIPET	Rural	52	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
206	Jagannathpur, Narayankhed Mandal	Sangareddy	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
207	VELGONDA VILLAGE, Chinnambavi Mandal	WANAPARTHY	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
208	Venkatapur, Kohir Mandal	Sangareddy	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
209	Jukal village, Narayankhad Mandal	Sangareddy	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
210	Narwa village limits on Jaklair -Atmakur road, Narayanpet Mandal	MAHBUBNAGAR	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
211	FROM VELTOOR VILLAGE TO CHELLAPHAD X ROAD, Chinnambavi Mandal	WANAPARTHY	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
212	PEDDUR VILLAGE, TELKAPALLY Mandal	Nagarkurnool	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
213	Arur, Sadasivpet Mandal	Sangareddy	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
214	Ganapavaram Village, Kodada Mandal	SURYAPET	Rural	52	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
215	YEDUTLA VILLAGE, Gopalpet Mandal	WANAPARTHY	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
216	Maddikunta, Sadasivpet Mandal	Sangareddy	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
217	Peddapur not on NH, Sadasivpet Mandal	Sangareddy	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
218	From Chandranyanguda to HBL Nagar Bus stop, on Shadnagar to Kothur road, LHS, Nandagama Mandal	RANGA REDDY	Rural	60	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
219	Tolkatta, Moinabad Mandal	RANGA REDDY	Rural	60	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
220	Hoti (K) Village limits on Zaheerabad-Tandur Road, Zaheerabad Mandal	SANGAREDDY	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
221	Basanthpur Village, Nyalkal Mandal	Sangareddy	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
222	KALWARALA VILLAGE, Pangal Mandal	WANAPARTHY	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
223	Dhontanapally, Shankarpally Mandal	RANGA REDDY	Rural	60	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
224	Jinnaram village, Jinnaram Mandal	Sangareddy	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
225	Mogdumpally village, Mogdumpally Mandal	Sangareddy	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
226	Itikyal to Dhamarakunta, Jagdevpur/Markook Mandal	SIDDIPET	Rural	52	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
227	Machanoor Village, Jharasangam Mandal	Sangareddy	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
228	Tatipally, Munipally Mandal	Sangareddy	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
229	PEDDAMANDADI Village, Peddamandadi Mandal	WANAPARTHY	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
230	Kothalur village, Pedavoora Mandal	NALGONDA	Rural	52	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1	L	I .			l	1	I .				1	1		

231	GOUTHAPUR village, Balanagar Mandal	MAHBUBNAGAR	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
232	Chitkul, Kowdipally Mandal	MEDAK	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
233	Tadkal Village, Kangti Mandal	Sangareddy	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
234	Basavapur, Pulkal Mandal	Sangareddy	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
235	PACHARLA VILLAGE, Rajoli Mandal	JOGULAMBA GADWAL	Rural	50	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
236	RAJAPUR VILLAGE NOT ON NH-44, Rajapur Mandal	MAHBUBNAGAR	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
237	Chinna Ghanpur Village, Kulcharam Mandal	MEDAK	Rural	50	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
238	DONUR VILLAGE, Midjil Mandal	MAHBUBNAGAR	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
239	Polepalle Village, Amangal Mandal	RANGA REDDY	Rural	50	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
240	Akuthotapalle, Amangal Mandal	RANGA REDDY	Rural	48	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
241	Mankhal, Maheswaram Mandal	RANGA REDDY	Rural	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
242	Ponugodu Village, Garidepally Mandal	SURYAPET	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
243	Doma village not on SH, Doma Mandal	VIKARABAD	Rural	60	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
244	YELKUR VILLAGE, Maldakal Mandal	JOGULAMBA GADWAL	Rural	50	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
245	MEDIKONDA VILLAGE ON IEEJA MEDIKONDA ROAD, Gattu Mandal	JOGULAMBA GADWAL	Rural	50	OPEN PH	DC	20	20	400	12	30	Draw of Lots	5	4
246	Peddareddypet, Pulkal Mandal	Sangareddy	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
247	RAJOLI VILLAGE, Rajoli Mandal	JOGULAMBA GADWAL	Rural	50	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
248	Within 3km from Kandukur X Road towards Kothaguda (Not on NH765), Kandukur Mandal	RANGA REDDY	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
249	Inole village, Patancheru Mandal	SANGAREDDY	Rural	50	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
250	Mukhtapur village, Nagalgidda Mandal	SANGAREDDY	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
251	DOKUR VILLAGE NOT ON NH-167, DEVARKADRA MANDAL	MAHBUBNAGAR	Rural	50	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
252	KALWAL VILLAGE, NARWA MANDAL	MAHBUBNAGAR	Rural	50	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
253	KANKURTHY VILLAGE, MADDUR MANDAL	MAHBUBNAGAR	Rural	50	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
254	KOTAKONDA VILLAGE, NARAYANPET MANDAL	MAHBUBNAGAR	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
255	PALLERLA VILLAGE, KOILAKONDA MANDAL	MAHBUBNAGAR	Rural	50	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
256	PEDRIPAHAD VILLAGE, NARAYANPET MANDAL	MAHBUBNAGAR	Rural	50	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
257	VENKATAPURAM VILLAGE on Mahabubnagar to Koilkonda road, Mahabubnagar Rural Mandal	MAHBUBNAGAR	Rural	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
258	VEEPANGANDIA VILLAGE, VEEPANGANDIA MANDAL	WANAPARTHY	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
259	Shanaipalle village, Revally Mandal	WANAPARTHY	Rural	50	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
260	Within 2Km from Mettu cross road towards Siddipet, Thogutta Mandal	SIDDIPET	Rural	50	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
	1		i		1						į .			

261	Within 2 KM from Daulatabad jn on Daulatabad-Ramayampet road	SIDDIPET	Rural	50	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
262	Navalga village, Navalga Mandal	VIKARABAD	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
263	Penpahad village, Penpahad Mandal	SURYAPET	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
264	Yapalasingaram village on Mellacheruvu road, Huzurnagar Mandal	SURYAPET	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
265	Tellaballi village, Nadigudem Mandal	SURYAPET	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
266	Anajipur Village , Mothkur Mandal	YADADRI BHUVANAGIRI	Rural	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
267	PALADUGU VILLAGE, Mothkur Mandal	YADADRI BHUVANAGIRI	Rural	48	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
268	Within 2 KM from Valigonda Bus stand towards bhongir, Valigonda mandal	YADADRI BHUVANAGIRI	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
269	Abenda, Narayankhed Mandal	Sangareddy	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
270	Mudwin village, Kadthal Mandal	RANGA REDDY	Rural	48	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
271	Within 3km from Malkapur village towards Narkhuda, Shamshabad Mandal	RANGA REDDY	Rural	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
272	Yalal village, Yalal Mandal	VIKARABAD	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
273	Dondapadu village on Jaggaiahpet road, Chintalapalem Mandal	SURYAPET	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
274	Teegul, Jagadevpur Mandal	SIDDIPET	Rural	52	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
275	Cheberthy, Jagadevpur Mandal	SIDDIPET	Rural	52	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
276	Mubaraspur, Daulatabad Mandal	SIDDIPET	Rural	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
277	From Gandimaisamma X roads to Bahadurpally X roads on SH on LHS.	MEDCHAL MALKAJGIRI	Regular	175	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
278	From Hayathnagar Bus Stop to Autonagar Signal on NH65, LHS	RANGA REDDY	Regular	160	OBC	сс	35	45	1575	25	10	Bidding	30	4
279	ACHAMPET TOWN ON SH-20	NAGARKURNOOL	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
280	Within 2 km from Huzurnagar -Miryalaguda X Road towards Kodada on LHS	SURYAPET	Regular	155	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
281	From Santhoshnagar Jn to L B Nagar Jn On Inner road, LHS	RANGA REDDY	Regular	150	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
282	FROM PEDDAMBARPET ORR to ABDULLAPURMET BUS STOP ON NH 65, LHS	RANGA REDDY	Regular	200	OBC	сс	35	45	1575	25	10	Bidding	30	4
283	VIKARABAD BUS STAND TO RAILWAY BRIDGE VIA NTR CHOWRASTA	VIKARABAD	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
284	From Sagar X Road to Champapet Signal on LHS	RANGA REDDY	Regular	180	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
285	Within 3km from SBI BANK Moinabad towards chevella on either side	RANGA REDDY	Regular	150	OPEN	сс	35	35	1225	25	10	Bidding	30	5
286	FROM ABDULLAPURMET Bus Stop to PEDDAMBARPET ORR on NH 65, LHS	RANGA REDDY	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
287	From COCO COLA Factory, Moula Ali to Tarnaka X roads) - LHS	MEDCHAL MALKAJGIRI	Regular	200	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
288	Dhanwada on SH 22	MAHBUBNAGAR	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
289	KALWAKURTHY TOWN	NAGARKURNOOL	Regular	100	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
290	on Pipe line road (From ranga theatre Medak Road Junction to Deewan Dhaba NH 44 Junction) on either side	MEDCHAL MALKAJGIRI	Regular	180	OPEN CC 1	DC	25	20	800	25	60	Draw of Lots	15	5

291	Patancheru on NH65, LHS ORR to Patancheru Police Station	SANGAREDDY	Regular	200	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
292	From LB Nagar Circle to Santoshnagar Jn on Inner road, LHS	RANGA REDDY	Regular	150	ST	CFS	25	20	800	0	0	Draw of Lots	0	3
293	From Gurramguda Jn to Sagar Ringroad on SH 19, LHS	RANGA REDDY	Regular	150	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
294	FROM PASSPORT OFFICE, SHAIKPET TO DARGAH CROSSROAD ON LHS	HYDERABAD	Regular	300	OPEN	СС	25	20	800	25	10	Bidding	30	5
295	AYYAPPA SOCIETY UNDERPASS (100 FT ROAD) TO JUBILEE RIDGE HOTEL, KAVURI HILLS PHASE 1	RANGA REDDY	Regular	350	OPEN	СС	25	20	800	25	10	Bidding	30	5
296	Zaheerbad town	SANGAREDDY	Regular	130	sc	CFS	30	30	900	0	0	Draw of Lots	0	3
297	From Dilsuknagar Bus Stand to LB NAGAR JN on LHS	RANGA REDDY	Regular	200	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
298	From Basavatarakam Cancer Hospital, Banjara Hills TO CITY CENTRE, EXIT GATE (BANJARA HILLS ROAD NO. 10)	HYDERABAD	Regular	350	OPEN	СС	25	20	800	25	10	Bidding	30	5
299	Alkapuri x roads to Uppal Junction LHS	MEDCHAL MALKAJGIRI	Regular	250	OPEN CC 2	DC	25	20	800	25	60	Draw of Lots	15	5
300	Muthangi on NH 65, (LHS Muttangi to ORR)	SANGAREDDY	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
301	From Jeedimetla Bus Depot to Jeedimetla Police Station on LHS	MEDCHAL MALKAJGIRI	Regular	190	SC CC 1	CFS	25	20	800	0	0	Draw of Lots	0	3
302	CHEERANJEEVI EYE & BLOOD BANK TO KBR PARK CIRCLE ON LHS	HYDERABAD	Regular	350	OPEN	СС	25	20	800	25	10	Bidding	30	5
303	BETWEEN DREAMVELLY HIGH SCHOOL, KARWAN ROAD TO NOBEL HOSPITAL IN TAPPACHABUTRA ROAD, RHS	HYDERABAD	Regular	250	OPEN	СС	25	20	800	25	10	Bidding	30	5
304	WITHIN 2 KM FROM Hayathnagar to Injapur ROAD via information colony (Not on Highways)	RANGA REDDY	Regular	150	OBC	СС	25	20	800	25	10	Bidding	30	4
305	From Aliyabad Chowrastha shamirpet to SHAMIRPET MRO OFFICE on SH-1 on LHS	MEDCHAL MALKAJGIRI	Regular	120	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
306	Motinagar Jn to Borabanda on Allapur road	RANGA REDDY	Regular	350	OPEN	сс	25	20	800	25	10	Bidding	30	5
307	FROM DLF CYBER CITY INDIRA NAGAR TO MRO OFFICE, SERILINGAMPALLY	RANGA REDDY	Regular	400	OPEN	сс	25	20	800	25	10	Bidding	30	5
308	Connecting road between Kothapet jn to Nagole Signal Jn (Not on NH 65)	RANGA REDDY	Regular	150	ОВС	DC	25	20	800	25	60	Draw of Lots	15	4
309	FROM INORBIT MALL ROAD JUNCTION TOWARDS INDIRA GANDHI NATIONAL OPEN UNIVERSITY VIA KAVURI HILLS ROAD, MADHAPUR	RANGA REDDY	Regular	400	OPEN	cc	25	20	800	25	10	Bidding	30	5
310	Mysigandi toll to Karkalpahad to on NH765, LHS	RANGA REDDY	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
311	FROM MADHAPUR - JUBILEE HILLS JUNCTION TO PEDDAMMA TEMPLE ON JUBILEE HILLS ROAD NO. 36 ON LHS	HYDERABAD	Regular	200	OPEN	сс	25	20	800	25	10	Bidding	30	5
312	Between Kamineni Hospital jn to Sushma Theatre on Mansurabad Road (Not on NH65)	RANGA REDDY	Regular	150	OBC	СС	25	20	800	25	10	Bidding	30	4
313	Jagadgirgutta road from Chinthal Junction to Vivekananda Statue	MEDCHAL MALKAJGIRI	Regular	200	OPEN CC 1	DC	25	20	800	25	60	Draw of Lots	15	5
314	From Ramdev Rao Hospital kukatpally to JNTU signal on NH65 on LHS	MEDCHAL MALKAJGIRI	Regular	250	SC	CFS	25	20	800	0	0	Draw of Lots	0	3
315	On Siris Road connecting from Kamineni Hospital Jn. to L.B.Nagar road (Not on NH65)	RANGA REDDY	Regular	150	OBC	сс	25	20	800	25	10	Bidding	30	4
316	Within 2km from Meerpet village jn towards BN reddy road	RANGA REDDY	Regular	150	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
317	FROM GNT CIRCLE NALLAGANDIA TO ANDRA BANK TELLAPUR BRANCH	RANGA REDDY	Regular	350	OPEN	СС	25	20	800	25	10	Bidding	30	5
318	Within 2 km from Rampally x road (on ECIL-Keesara road) towards Keesara	MEDCHAL MALKAJGIRI	Regular	150	OBC	СС	25	20	800	25	10	Bidding	30	4
319	Within 2 KM from Venkatampeta gate on SH19, towards Nagarjuna sagar	NALGONDA	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
320	SHILPARAMAM TO Sree Seetharamanjaneya Swami Devasthanam temple	RANGA REDDY	Regular	250	OPEN	СС	25	20	800	25	10	Bidding	30	5
	-													

321	FROM PASSPORT OFFICE, SHAIKPET TO RAIDURGAM POLICE STATION ON LHS	RANGA REDDY	Regular	400	OPEN	cc	25	20	800	25	10	Bidding	30	5
322	TOOPRANPET TO MALKAPUR ON NH65, LHS	YADADRI BHUVANAGIRI	Regular	150	OBC	СС	35	45	1575	25	10	Bidding	30	4
323	Indu Aranya colony to Rajiv Gruhakapla on Bandlaguda road, RHS	RANGA REDDY	Regular	170	SC	CFS	25	20	800	0	0	Draw of Lots	0	3
324	Palwai Village limits , LHS on SH 18 towards Kondamallepally	NALGONDA	Regular	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
325	JRC CONVENTIONS & TRADE FAIRS TO FILMNAGAR JUNCTION (NARNE ROAD)	HYDERABAD	Regular	350	OPEN	cc	25	20	800	25	10	Bidding	30	5
326	Gadwal Railway gate to Yerravalli Cross roads, LHS	JOGULAMBA GADWAL	Regular	110	OBC PH	DC	30	30	900	25	60	Draw of Lots	15	4
327	PRATAP SINGARAM VILLAGE	MEDCHAL MALKAJGIRI	Regular	150	ST PH	CFS	25	20	800	0	0	Draw of Lots	0	3
328	FROM LANCO HILLS CROSSROAD TO WIPRO CIRCLE JUNCTION	RANGA REDDY	Regular	350	OPEN	cc	25	20	800	25	10	Bidding	30	5
329	MANIKONDA SUB POST OFFICE TO SKYILLA GATED COMMUNITY ENTRANCE IN NARSINGI PUPALLAGUDA MAIN ROAD	RANGA REDDY	Regular	400	OPEN	СС	25	20	800	25	10	Bidding	30	5
330	Malkapur on NH-65, RHS towards Vijayawada	YADADRI BHUVANAGIRI	Regular	150	OBC	СС	35	45	1575	25	10	Bidding	30	4
331	FROM MIYAPUR CIRCLE (ALLWYN X ROADS) TO KONDAPUR RTO OFFICE ON LHS	RANGA REDDY	Regular	350	OPEN	СС	25	20	800	25	10	Bidding	30	5
332	Tekmal on SH15	MEDAK	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
333	KONDAPUR RTO OFFICE TO MIYAPUR CIRCLE (ALLWYN X ROADS) ON LHS	RANGA REDDY	Regular	350	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
334	WANAPARTHY TO PANGAL ROAD WITH IN 2KM FROM WANAPARTHY POLTECHNIC COLLEGE	WANAPARTHY	Regular	100	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
335	Within 3km from Nagaram x road on Suryapet-Jangaon road, LHS	RANGA REDDY	Regular	150	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
336	Prathibha High School, Secretariat Colony TO SHIVA SUPERMARKET, PUPPLAGUDA, MANIKONDA	RANGA REDDY	Regular	350	SC	CFS	25	20	800	0	0	Draw of Lots	0	3
337	FROM KODANDAPUR TO BEECHUPALI (BETWEEN KM STONE 173 & 163) ON NH-44 , LHS TOWARDS HYDERABAD	JOGULAMBA GADWAL	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
338	FROM WIPRO CIRCLE TO GOPANAPALLY CHOWRASTHA, LHS	RANGA REDDY	Regular	400	OPEN	СС	25	20	800	25	10	Bidding	30	5
339	From HPS Begumpet to Rasoolpura Metro Sation on LHS	MEDCHAL MALKAJGIRI	Regular	300	OPEN CC 1	DC	25	20	800	25	60	Draw of Lots	15	5
340	Chiragpally on NH 65	SANGAREDDY	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
341	Within 3 KM from KANDUKUR Bus Stop towards HYDERABAD on NH765, LHS	RANGA REDDY	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
342	PARADISE FOOD COURT, SECUNDERABAD TO TARBUND CROSS ROAD EITHER SIDE	HYDERABAD	Regular	300	OPEN	СС	25	20	800	25	10	Bidding	30	5
343	Srinagar colony Indian bank to Satyasai Nigamagamam, LHS	HYDERABAD	Regular	250	OPEN	СС	25	20	800	25	10	Bidding	30	5
344	From Rampex Lab upto ORR in IDA Bollaram	SANGAREDDY	Regular	150	OBC	СС	25	20	800	25	10	Bidding	30	4
345	WITHIN 2 KM OF SIDDIPET JUNCTION TOWARDS KARIMNAGAR ROAD	SIDDIPET	Regular	100	ST	CFS	25	25	625	0	0	Draw of Lots	0	3
346	JUBILEE HILLS ROAD NO 34	HYDERABAD	Regular	250	OPEN	cc	25	20	800	25	10	Bidding	30	5
347	Within 2 Km from Akkanapeta Crossroad towards Nagaram Village	SIDDIPET	Regular	100	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
348	From Balanagar Metro Station to Kukatpally Metro Station, on LHS	MEDCHAL MALKAJGIRI	Regular	300	OPEN	сс	25	20	800	25	10	Bidding	30	5
349	JANGAMREDDYGUDEM village, on SH-2 , LHS towards Miryalguda	NALGONDA	Regular	100	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
350	Vallur on NH 44 (Between KM Stone 420-423) from Ramayampet to Hyderabad, LHS	MEDAK	Regular	150	ST CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
		1		1							i	i		

351	Arur on NH 65, LHS towards Sangareddy	SANGAREDDY	Regular	150	OPEN PH	DC	35	45	1575	25	75	Draw of Lots	15	5
352	Kandi Village on NH 65 (On LHS from Sangareddy to Hyderabad)	SANGAREDDY	Regular	160	OBC	сс	35	45	1575	25	10	Bidding	30	4
353	From Bowenpally x roads to Tadbund Junction on LHS	MEDCHAL MALKAJGIRI	Regular	180	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
354	Rajeev Ghruvakalpa Housing to ORR Toll Plaza at Gourelli	RANGA REDDY	Regular	150	SC	CFS	25	20	800	0	0	Draw of Lots	0	3
355	Within 2 km from cherlapally bustand LHS, towards Rampally village road	MEDCHAL MALKAJGIRI	Regular	150	OPEN	сс	25	20	800	25	10	Bidding	30	5
356	KOTHUR VILALGE ON ZAHEERABAD TO BIDAR ROAD ON SH, LHS	SANGAREDDY	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
357	Kukatpally(NH65-IDL access road junction) to Maszid-e- Munazzah on Green hills road on either side.	MEDCHAL MALKAJGIRI	Regular	270	OPEN	сс	25	20	800	25	10	Bidding	30	5
358	From Manjeera Mall to Forum Sujana Mall junction(JNTU Road) on LHS	MEDCHAL MALKAJGIRI	Regular	300	OPEN	СС	25	20	800	25	10	Bidding	30	5
359	Kondrapole Village limts on SH 2	NALGONDA	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
360	Sangareddy Town (Not on NH)	SANGAREDDY	Regular	190	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
361	From Medchal Check post to Majidpur SH1 junction, via Rajabollaram on LHS	MEDCHAL MALKAJGIRI	Regular	130	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
362	From LB Nagar Jn. to Vanasthalipuram Signal on LHS	RANGA REDDY	Regular	250	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
363	Connecting road from Saroornagar Bus Stand to LB Nagar Jn Via Rajyalaxmi nagar -SBH colony	RANGA REDDY	Regular	150	SC	CFS	25	20	800	0	0	Draw of Lots	0	3
364	Nastipur village (On Doulathabad to Narsapur Road)	SANGAREDDY	Regular	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
365	Within 5km from Medchal Checkpost towards Nagpur on LHS on NH44	MEDCHAL MALKAJGIRI	Regular	190	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
366	From NH44 Junction near Neeraj international School to Thumkunta(SH-1 Junction) Via Sai Geetha aashram road.	MEDCHAL MALKAJGIRI	Regular	150	OPEN	сс	25	25	625	25	10	Bidding	30	5
367	Lingampally village on NH65, LHS from Hyderabad to Zaheerabad	SANGAREDDY	Regular	160	ОВС	СС	35	45	1575	25	10	Bidding	30	4
368	From Sushma theatre In to Vijayapuri colony (Via Vanasthalipuram Raithu bazar road) not on NH65	RANGA REDDY	Regular	150	SC	CFS	25	20	800	0	0	Draw of Lots	0	3
369	Saheen Nagar to Tukkuguda Junction on LHS, On NH765	RANGA REDDY	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
370	From Nizampet X roads (on NH-65) to Bachupally X Roads on Nizampet main road on either side	MEDCHAL MALKAJGIRI	Regular	250	OPEN	сс	25	20	800	25	10	Bidding	30	5
371	Within Choutuppal muncipal limits towards Narayanpur road ( Not on NH 65)	YADADRI BHUVANAGIRI	Regular	100	OBC	сс	30	30	900	25	10	Bidding	30	4
372	Bandlaguda RTC bus depot to Pasumamula	RANGA REDDY	Regular	150	SC	CFS	25	20	800	0	0	Draw of Lots	0	3
373	From Railway Crossing to Medchal Checkpost on Gandimaisamma-Medchal road , LHS	MEDCHAL MALKAJGIRI	Regular	180	OPEN	СС	30	30	900	25	10	Bidding	30	5
374	From Rasoolpura Metro Station to Govt Women's degree college Begumpet on LHS	MEDCHAL MALKAJGIRI	Regular	300	OPEN	сс	25	20	800	25	10	Bidding	30	5
375	Koti to Kachiguda	HYDERABAD	Regular	200	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
376	From Bahadurpally X Roads to Bachupally Road Junction(via Amritha Villas)	MEDCHAL MALKAJGIRI	Regular	150	SC	CFS	25	20	800	0	0	Draw of Lots	0	3
377	From Prakashnagar Metro Station to Rasoolpura metro station LHS	MEDCHAL MALKAJGIRI	Regular	400	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
378	Maskati Ice cream company to Brahamanapalli Jn. on SH19 LHS	RANGA REDDY	Regular	150	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
379	From Miyapur X roads to Bachupally Crossroad	MEDCHAL MALKAJGIRI	Regular	200	OPEN	cc	25	20	800	25	10	Bidding	30	5
380	FROM INDIRA GANDHI STATUE ON JAGATGIRGUTTA ROAD NO 5 TO SREE POCHAMMATHALLI DEVALAYAM , SANGEETHNAGAR, KUKATPALLI, ON LHS	MEDCHAL MALKAJGIRI	Regular	160	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
					-									

381	JADCHERLA TOWN	MAHBUBNAGAR	Regular	100	ST	CFS	25	25	625	0	0	Draw of Lots	0	3
382	From Nalgonda cross Road to Santoshnagar JN on Inner Road Via Madannapet	HYDERABAD	Regular	160	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
383	Nizampet-Miyapur road, From Usha Super Market to Buddha's Viraj heights on either side	MEDCHAL MALKAJGIRI	Regular	250	OPEN	СС	25	20	800	25	10	Bidding	30	5
384	from kUKATPALLY Metro Stn TO Balanagar Metro Stn on NH65 on LHS	MEDCHAL MALKAJGIRI	Regular	300	OPEN	СС	25	20	800	25	10	Bidding	30	5
385	Lakkaram on NH 65, LHS from Hyd to Vijayawada	YADADRI BHUVANAGIRI	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
386	From Autonagar Jn to LB Nagar Junction on NH65, LHS	RANGA REDDY	Regular	190	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
387	Saketh (Dammaiguda X Roads to Radhika X Roads)	MEDCHAL MALKAJGIRI	Regular	180	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
388	ARAMGHAR CHOWRASTA TO AGRICULTURE UNIVERSITY ROAD EITHER SIDE	RANGA REDDY	Regular	250	OPEN CC 1	DC	25	20	800	25	60	Draw of Lots	15	5
389	From Hashmatpet road junction on NH44 to Tirumalgherry X roads on both sides	MEDCHAL MALKAJGIRI	Regular	190	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
390	From Vellikatta to Kumaravelli Arch on SH1 LHS	SIDDIPET	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
391	Staff Road-(From cindrella bakery to Narne estates) on either side	MEDCHAL MALKAJGIRI	Regular	180	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
392	Tirumalgherry X roads to Alwal Rythu Bazaar on both sides	MEDCHAL MALKAJGIRI	Regular	180	OPEN	СС	25	20	800	25	10	Bidding	30	5
393	within 2 KM from ECIL X Roads towards Moula Ali	MEDCHAL MALKAJGIRI	Regular	160	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
394	bowrampet chowrasta to Oak Ridge International school Bowrampet	MEDCHAL MALKAJGIRI	Regular	150	ST	CFS	25	20	800	0	0	Draw of Lots	0	3
395	Vivekanandanagar Main Road, from Vivekananda statue to Ratnadeep super Market Vivekanandanagar, on either side	MEDCHAL MALKAJGIRI	Regular	250	OPEN	сс	25	20	800	25	10	Bidding	30	5
396	From ORR underpass on Gandimaisamma-Medchal road to G Mysamma X Roads on LHS	MEDCHAL MALKAJGIRI	Regular	150	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
397	B.N.Reddy Nagar Signal to Vanastalipuram Entrance gate, Inner road via NGO's colony (not on NH65 & SH19)	RANGA REDDY	Regular	160	OBC	СС	25	20	800	25	10	Bidding	30	4
398	From ABDULLAPURMET Bus stop TO BRILLIANT GROUP OF INSTITUTIONS (LHS) on NH65	RANGA REDDY	Regular	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
399	ORR at Tukkuguda to Pahadisharief on NH765 LHS	RANGA REDDY	Regular	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
400	UPPAL X ROADS TO TARNAKA X ROADS LHS	MEDCHAL MALKAJGIRI	Regular	200	OPEN CC 2	DC	25	20	800	25	60	Draw of Lots	15	5
401	GANJIPETA ON GADWAL - Chintharevula ROAD	JOGULAMBA GADWAL	Regular	110	OBC CC 1	DC	25	25	625	25	45	Draw of Lots	15	4
402	Adibatla to Bongullur connecting road via TCS office, either side	RANGA REDDY	Regular	150	OPEN	СС	25	20	800	25	10	Bidding	30	5
403	Tarnaka X Roads to Uppal X Roads LHS	MEDCHAL MALKAJGIRI	Regular	200	SC	CFS	25	20	800	0	0	Draw of Lots	0	3
404	Shamshabad to Budwel on NH-44, LHS	RANGA REDDY	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
405	Dilsuknagar to Gaddiannaram connecting Road via Asian ShivaGanga Theatre (Not on NH65) - LHS	RANGA REDDY	Regular	150	OPEN	СС	25	20	800	25	10	Bidding	30	5
406	From Gurramguda Cross to Almasguda Village Ambedkar Statue, LHS	RANGA REDDY	Regular	150	OPEN	СС	25	20	800	25	10	Bidding	30	5
407	Shaliband Signal to Salarjun Museum on LHS via Mir Alam Mandi	HYDERABAD	Regular	160	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
408	Kakamamadi to Chevella on SH	RANGA REDDY	Regular	110	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
409	Within 2km from Bonguloor ORR jn towards Ragannaguda on SH19, LHS	RANGA REDDY	Regular	150	OPEN	СС	25	20	800	25	10	Bidding	30	5
410	FROM MAHAVIR HARITHA VANASTALI PARK tO HAYATHNAGAR BUS STAND ON NH65, LHS Side	RANGA REDDY	Regular	200	OPEN	cc	35	45	1575	25	10	Bidding	30	5

411	RC Puram on NH 65 LHS towards Hyderabad	SANGAREDDY	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
412	Kaveli village on NH65, LHS from Hyderabad to Zaheerabad	SANGAREDDY	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
413	From Pahadi shareef to Kurmaguda (Not on NH)	RANGA REDDY	Regular	150	OPEN	СС	25	20	800	25	10	Bidding	30	5
414	CITY NEURO CENTRE BANJARA HILLS TO MLA COLONY BANJARA HILLS	HYDERABAD	Regular	250	OPEN CC 1	DC	25	20	800	25	60	Draw of Lots	15	5
415	Budwel to Shamshabad on NH-44 LHS	RANGA REDDY	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
416	Ghatkesar on NH 163 between KM stone 22 and 24 on LHS from Hyderabad to Warangal	MEDCHAL MALKAJGIRI	Regular	200	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
417	From Rachaloor Gate to Kandukur Jn. LHS side (on NH765)	RANGA REDDY	Regular	170	OPEN	сс	35	35	1225	25	10	Bidding	30	5
418	Frrom Hastinapur Signal Jn. to Injapur on SH19, LHS	RANGA REDDY	Regular	150	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
419	From Santoshnagar Jn To Chandrayanagutta Cross Road Jn	HYDERABAD	Regular	150	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
420	Kothur gate to Maheshwaram gate on NH765, LHS	RANGA REDDY	Regular	150	OPEN	СС	35	35	1225	25	10	Bidding	30	5
421	Jubli bustand - Secunderabad club- Karkhana Hanuman Temple.	MEDCHAL MALKAJGIRI	Regular	150	ST	CFS	25	20	800	0	0	Draw of Lots	0	3
422	HMDA Logistic park , Bongloor	RANGA REDDY	Regular	100	OPEN	сс	30	30	900	25	10	Bidding	30	5
423	Saroornagar lake to Karmanghat Bus Stop on Sagar Road Via Thapovan Colony	RANGA REDDY	Regular	150	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
424	Within 2km from Yerrakunta X road towards Bandlaguda, LHS (Not NH765)	RANGA REDDY	Regular	150	OPEN	сс	25	20	800	25	10	Bidding	30	5
425	Nizampet on NH 161	SANGAREDDY	Regular	150	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
426	KOSIGI ( WITHIN 2 KM ON MADDUR ROAD)	MAHBUBNAGAR	Regular	100	OBC PH	DC	30	30	900	25	45	Draw of Lots	15	4
427	Agapally village towards Gungal on SH 19	RANGA REDDY	Regular	120	OPEN	cc	35	35	1225	25	10	Bidding	30	5
428	FROM IKEA STORE TO BIO DIVERSITY PARK	RANGA REDDY	Regular	400	OPEN	сс	25	20	800	25	10	Bidding	30	5
429	From Saroornagar Bus Stand to Kothapet Jn (Not on NH65)	RANGA REDDY	Regular	150	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
430	Between Central Power Research Institute(CPRI) to ORR on NH 163 (Hyd-wgl highway)LHS	MEDCHAL MALKAJGIRI	Regular	200	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
431	Jalapally on Airport road	HYDERABAD	Regular	150	OPEN	сс	25	20	800	25	10	Bidding	30	5
432	Hasannagar to Nizam colony on NH44	HYDERABAD	Regular	150	OPEN	cc	25	20	800	25	10	Bidding	30	5
433	From COCO Cola Factory, Moula Ali to Railway Bridge, NFC	MEDCHAL MALKAJGIRI	Regular	150	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
434	From Dilsukhnagar Bus stand to Malakpet TV tower jn, LHS	RANGA REDDY	Regular	150	ST	CFS	25	20	800	0	0	Draw of Lots	0	3
435	FROM TSPA JUNCTION TO MOINABAD ON LHS	RANGA REDDY	Regular	150	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
436	Thummaloor- Srisailam to hyderabad LHS on NH765	RANGA REDDY	Regular	150	OPEN	сс	35	35	1225	25	10	Bidding	30	5
437	Narsingi X to Langar Hauz, LHS Langar houz	RANGA REDDY	Regular	175	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
438	Tirumalagiri X roads to Ramakistapuram Gate	MEDCHAL MALKAJGIRI	Regular	150	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
439	Between Ramayampet Bus Stand to Ramayampet NH 44 Junction towards Hyderabad (Not on NH)	MEDAK	Regular	130	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
440	Maredpally (St Jonhs Church to ABC Lines)	HYDERABAD	Regular	300	OPEN CC 1	DC	25	20	800	25	60	Draw of Lots	15	5

_														
441	Mount Opera Entrance to Kothaguda Cross on NH65, LHS	RANGA REDDY	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
442	Puranapool to High Court	HYDERABAD	Regular	150	OPEN	СС	25	20	800	25	10	Bidding	30	5
443	From Hayatnagar Bus Stand to Pedda Amberpet ORR on NH65, LHS	RANGA REDDY	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
444	RTC X Roads - Andhra Mahila Sabha Hospital, Vidyanagar	HYDERABAD	Regular	170	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
445	LOWER TANKBUND (From Marriot court yard to Sai Baba temple)	HYDERABAD	Regular	170	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
446	FROM BHARATI HIGH SCHOOL KARVAN TO PURANA POOL X ROAD ON SANT SREE KESHAVA SWAMI MAHARAJ MARG IN JIAGUDA	HYDERABAD	Regular	250	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
447	Within 4km from Shadnagar Bus stand on Buchuguda road	HYDERABAD	Regular	100	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
448	Aramghar X Road to Puranapul	HYDERABAD	Regular	175	SC CC 1	CFS	25	20	800	0	0	Draw of Lots	0	3
449	BASWAPUR	YADADRI BHUVANAGIRI	Regular	100	OBC CC 1	DC	30	30	900	25	45	Draw of Lots	15	4
450	Within 3 KM from Shamshabad town towards Mamidipally	RANGA REDDY	Regular	200	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
451	Within 3km from Kandlakoi ORR underpass towards Shamirpet via Munirabad jn on LHS (on ORR service road)	MEDCHAL MALKAJGIRI	Regular	110	OPEN PH	DC	30	30	900	25	45	Draw of Lots	15	5
452	Andhol on NH 161	SANGAREDDY	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
453	Kandukur to Kadthal LHS on NH765	RANGA REDDY	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
454	Hamidullah nagar shamshabad mandal	RANGA REDDY	Regular	150	OPEN	сс	25	20	800	25	10	Bidding	30	5
455	From Champapet Signal to Sagar X Road on LHS	RANGA REDDY	Regular	150	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
456	Mallapur jn to Cherlapally IOCL terminal on FCI Godown road	MEDCHAL MALKAJGIRI	Regular	150	ST	CFS	25	20	800	0	0	Draw of Lots	0	3
457	Within 3 KM from Shankarpally towards Hyderabad (Not on NH)	RANGA REDDY	Regular	110	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
458	Shastripuram road connecting NH44 to NH 765 via SAR function hall	HYDERABAD	Regular	175	OPEN	СС	25	20	800	25	10	Bidding	30	5
459	On ORR service road within Manchirevula Village limits, LHS, towards TSPA jn	RANGA REDDY	Regular	150	OPEN	сс	25	20	800	25	10	Bidding	30	5
460	Karkalpahad to Mysigandi toll on NH765 LHS	RANGA REDDY	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
461	Peddakandukur village on NH-163, LHS from HYD to WGL	YADADRI BHUVANAGIRI	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
462	Shankarpally-Chevella X road (within ORR) to TSPA Junction ON LHS	HYDERABAD	Regular	175	OPEN	СС	25	20	800	25	10	Bidding	30	5
463	Between Pillar 40 - 80, below PVNR Express Highway towards Airport, LHS	HYDERABAD	Regular	400	OPEN CC 1	СС	25	20	800	25	10	Bidding	30	5
464	Within 1.5 km from Telephone colony arch towards Ramakrishnapuram (near Kothapet)	RANGA REDDY	Regular	150	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
465	Within 2 km from Chilkanagar X road towards Boduppal colony road	MEDCHAL MALKAJGIRI	Regular	150	SC	CFS	25	20	800	0	0	Draw of Lots	0	3
466	Aushapur on NH-163 LHS from HYD to WGL	MEDCHAL MALKAJGIRI	Regular	200	OPEN	СС	35	45	1575	25	10	Bidding	30	5
467	Afzalganj	HYDERABAD	Regular	150	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
468	Between Boduppal X rd to Dr.BR Ambedkar Statue on Boduppal Road not on NH	MEDCHAL MALKAJGIRI	Regular	150	OPEN	cc	25	20	800	25	10	Bidding	30	5
469	Between Khairathapur to dharmojigudem on NH-65 LHS	YADADRI BHUVANAGIRI	Regular	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
470	Amberpet to Uppal jn, LHS	MEDCHAL MALKAJGIRI	Regular	200	sc	CFS	25	20	800	0	0	Draw of Lots	0	3
	•													

	T					r			r		,	,		
471	Ashoknagar, Hyderabad	HYDERABAD	Regular	150	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
472	Toopranpet on NH-65 LHS FROM VIJAYAWADA TO HYD	YADADRI BHUVANAGIRI	Regular	150	OPEN	сс	35	45	1575	25	10	Bidding	30	5
473	Between ORR to Cheriyal cross on ECIL-Keesara Road-LHS	MEDCHAL MALKAJGIRI	Regular	150	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
474	Kadthal to Kandukur LHS on NH765	RANGA REDDY	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
475	Dabeerpura	HYDERABAD	Regular	150	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
476	Panthangi toll plaza to Choutuppal on NH-65 - LHS	YADADRI BHUVANAGIRI	Regular	150	OPEN	сс	35	45	1575	25	10	Bidding	30	5
477	Between Dammaiguda X Road to NTR statue on Balaji nagar main road	MEDCHAL MALKAJGIRI	Regular	200	OPEN	СС	25	20	800	25	10	Bidding	30	5
478	Hussaini Alam	HYDERABAD	Regular	150	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
479	THIMAJIPET TO JADCHERLA ON SH-21 LHS TOWARDS JADCHERLA	NAGARKURNOOL	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
480	Dharmojigudem to Khairathapur on NH 65 LHS	YADADRI BHUVANAGIRI	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
481	FROM UPPAL JUNCTION TO CHENGICHERLA X ROADS LHS on NH 163	MEDCHAL MALKAJGIRI	Regular	250	OPEN	сс	35	45	1575	25	10	Bidding	30	5
482	Laldarwaja, Hyderabad	HYDERABAD	Regular	150	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
483	Aushapur on NH-163 LHS from WGL to HYD	MEDCHAL MALKAJGIRI	Regular	200	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
484	Choutuppal muncipality limits on Valigonda road	YADADRI BHUVANAGIRI	Regular	100	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
485	Hubsiguda street no 8	MEDCHAL MALKAJGIRI	Regular	200	OPEN	СС	25	20	800	25	10	Bidding	30	5
486	Nampally to Mallepally Road	HYDERABAD	Regular	150	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
487	Between ORR to KM STONE NO. 14 on NH 163- LHS	MEDCHAL MALKAJGIRI	Regular	180	OPEN	СС	35	45	1575	25	10	Bidding	30	5
488	Tukkuguda Junction to Saheen Nagar , On NH765, LHS	RANGA REDDY	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
489	Padmarao nagar, Hyderabad	HYDERABAD	Regular	150	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
490	From Sarojidevi Eye Hospital to Masabtank Flyover	HYDERABAD	Regular	200	OPEN CC 1	сс	25	20	800	25	10	Bidding	30	5
491	Bits Pilani X road to ORR Near Yadgarpally (on Shamirpet- Keesara road)	MEDCHAL MALKAJGIRI	Regular	150	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
492	From Kompally Bridge to Suchithra X Roads on LHS	MEDCHAL MALKAJGIRI	Regular	150	ST	CFS	25	20	800	0	0	Draw of Lots	0	3
493	RTC X ROADS TO NARAYANGUDA YMCA	HYDERABAD	Regular	150	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
494	Within 2.5 km from NACHARAM X ROAD towards Chilkanagar (on CHILKANAGAR MAIN ROAD)	MEDCHAL MALKAJGIRI	Regular	150	OPEN	СС	25	20	800	25	10	Bidding	30	5
495	Peddakandukur village on NH-163, LHS from WGL to HYD	YADADRI BHUVANAGIRI	Regular	150	OPEN	сс	35	45	1575	25	10	Bidding	30	5
496	NAGOLE JUNCTION TO INDU ARANYA COLONY ON BANDLAGUDA MAIN ROAD	MEDCHAL MALKAJGIRI	Regular	150	SC	CFS	25	20	800	0	0	Draw of Lots	0	3
497	WITHIN 3 KMS RADIUS OF M J MARKET, NAMPALLY	HYDERABAD	Regular	150	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
498	Pocharam within ORR (not on NH 163)	MEDCHAL MALKAJGIRI	Regular	150	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
499	Patancheru on NH65 (on LHS from Hyderabad to Sangareddy)	SANGAREDDY	Regular	200	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
500	Within 2 km from Kodada to Khammam Cross road toawards Khammam Road	SURYAPET	Regular	120	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4

501	HYDERGUDA	HYDERABAD	Regular	170	SC CC 1	CFS	25	20	800	0	0	Draw of Lots	0	3
502	Within Skm from Rampally x Roads towards Ghatkesar (Not on ECIL -Keesara road)	MEDCHAL MALKAJGIRI	Regular	150	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
503	Ghatkesar on NH 163 -between KM stone 22 and 24 LHS from Warangal to Hyderabad	MEDCHAL MALKAJGIRI	Regular	170	OPEN	сс	35	45	1575	25	10	Bidding	30	5
504	KORREMULA VILLAGE not on NH	MEDCHAL MALKAJGIRI	Regular	150	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
505	Nyalkal village to Jharasangam on SH	RANGA REDDY	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
506	Mulkalpally village on SH17	YADADRI BHUVANAGIRI	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
507	Within 2 km from BEL CIRCLE in Nacharam IDA towards Boduppal	MEDCHAL MALKAJGIRI	Regular	150	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
508	FROM BALANAGAR TO RANGAREDDIGUDA (BETWEEN KM STONE 58 & 67) ON NH-44 LHS TOWARDS BENGALURU	MAHBUBNAGAR	Regular	150	OBC	сс	35	45	1575	25	10	Bidding	30	4
509	Uppal Jn to Nagole Jn on IRR LHS	MEDCHAL MALKAJGIRI	Regular	230	OPEN	сс	25	20	800	25	10	Bidding	30	5
510	KALWAKURTY TO VELDANDA ON NH-765	NAGARKURNOOL	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
511	FROM ADDAKAL TO SANKALAMADDI (BETWEEN KM STONE 120 & 106) ON NH-44 LHS TOWARDS HYDERABAD	MAHBUBNAGAR	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
512	WITHIN 2 KM FROM MANNANUR JUNCTION TOWARDS AMRABAD ON NH76S, LHS	NAGARKURNOOL	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
513	JUBILEE HILLS ROAD NO. 5	HYDERABAD	Regular	250	OPEN CC 1	DC	25	20	800	25	60	Draw of Lots	15	5
514	Between Gudur Toll plaza to Kondamadugu Village cross on NH 163 LHS	YADADRI BHUVANAGIRI	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
515	FROM MANOPAD TO ALAMPUR (BETWEEN KM STONE 186 & 196) ON NH-44 LHS TOWARDS BENGALURU	JOGULAMBA GADWAL	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
516	FROM BHOOTPUR TO JANAMPETA (BETWEEN KM STONE 92 & 104) ON NH-44 , LHS TOWARDS BENGALURU	MAHBUBNAGAR	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
517	FROM BHOOTPUR TO JADCHERLA ( BETWEEN KM STONE 93 & 81), ON NH-44, LHS TOWARDS HYDERABAD	MAHBUBNAGAR	Regular	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
518	FROM KOMREDDYPALLY TO ADDAKAL (BETWEEN KM STONE 110 & 120) ON NH-44, LHS TOWARDS BENGALURU	WANAPARTHY	Regular	150	OBC	сс	35	45	1575	25	10	Bidding	30	4
519	BIJINEPALLI TO GUMMAKONDA ON SH-21	NAGARKURNOOL	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
520	FROM MUMMALAPALLY TO KANIMETTA (BETWEEN KM STONE 140 TO 125) ON NH-44 LHS TOWARDS HYDERABAD	WANAPARTHY	Regular	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
521	FROM AMADABAKULA TO NATAVALLI (BETWEEN KM STONE 135 TO 145) ON NH-44 LHS TOWARDS BENGALURU	WANAPARTHY	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
522	FROM RTC X ROADS TO SECUNDERABAD RAILWAY STATION	HYDERABAD	Regular	300	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
523	KOTHAKOTA TOWN WITH IN 2 KM RADIUS FROM POST OFFICE	WANAPARTHY	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
524	Nacharam x road to Yadagiri Function hall on Nacharam Mallapur road	MEDCHAL MALKAJGIRI	Regular	170	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
525	Within 3km from Peddambarpet Checkpost Jn to Koheda Road (Not on NH65)	RANGA REDDY	Regular	150	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
526	Within 3 km from Parigi Bus stand towards kodangal on SH4	VIKARABAD	Regular	110	OBC PH	DC	35	35	1225	25	60	Draw of Lots	15	4
527	FROM HIMAYATNAGAR TO BARKATPURA CHOWRASTA	HYDERABAD	Regular	175	ST PH	CFS	25	20	800	0	0	Draw of Lots	0	3
528	From Peddamberpet ORR Jn. to Hayathnagar Bus Stand on NH65, LHS	RANGA REDDY	Regular	200	OPEN	сс	35	45	1575	25	10	Bidding	30	5
529	Raghavendra colony on Dharur road (Gadwal town)	JOGULAMBA GADWAL	Regular	150	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
530	Within 2km from Makthal bus stand on Nh167 LHS towards Mahabubnagar	MAHBUBNAGAR	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
	•													

531	Peddapur village on Srisailam Hyderabad Road on NH765, LHS towards Hyderabad	NAGARKURNOOL	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
532	Within 2km from Ibrahimpatnam towards Manchal	RANGA REDDY	Regular	100	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
533	FROM JADCHERLA TO RAIPALLE ( BETWEEN KM STONE 80 & 74) ON NH-44 LHS TOWARDS HYDERABAD	MAHBUBNAGAR	Regular	150	OPEN	сс	35	45	1575	25	10	Bidding	30	5
534	Alampur Village,	JOGULAMBA GADWAL	Regular	100	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
535	From Shivaji Circle (Balapur Village) to Mallapur village, on RCI Road	RANGA REDDY	Regular	150	OPEN	сс	25	20	800	25	10	Bidding	30	5
536	YELKICHARLA ON SH-20	MAHBUBNAGAR	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
537	Beeramguda	SANGAREDDY	Regular	190	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
538	From Pahadishareef cross at NH765 TO RCI road- Airport connecting road (Not on NH765)	RANGA REDDY	Regular	150	OPEN	сс	25	20	800	25	10	Bidding	30	5
539	M G ROAD, SECUNDERABAD (PARADISE JUNCTION TO R P ROAD JUNCTION)	HYDERABAD	Regular	250	OPEN CC 1	DC	25	20	800	25	60	Draw of Lots	15	5
540	Peddapur village on NH 65, LHS from Zaheerabad to Sangareddy	SANGAREDDY	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
541	FROM RAJAPUR TO BALANAGAR (BETWEEN KM STONE 70 & 58) ON NH-44 , LHS TOWARDS HYDERABAD	MAHBUBNAGAR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
542	KOTRA X ROAD TO JAI PRAKASH NAGAR ON SH-5	NAGARKURNOOL	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
543	JADCHERLA FLYOVER ON SERVICE ROAD TOWARDS HYDERABAD NOT ON NH	MAHBUBNAGAR	Regular	180	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
544	From Ismailkhanpet jn to MNR College on SH17	SANGAREDDY	Regular	150	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
545	WITHIN 2 KM FROM GACHIBOWLI JUNCTION TOWARDS ORR	RANGA REDDY	Regular	400	ST	CFS	25	20	800	0	0	Draw of Lots	0	3
546	From Ibrahimpatnam Jn to Mangalpally Bus stop on SH19, LHS	RANGA REDDY	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
547	From Phahadi Shareef to ORR at Tukkuguda on NH765	RANGA REDDY	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
548	WANAPARTHY TO GANPUR ROAD WITH IN 3KM FROM WANAPARTHY POLTECHNIC COLLEGE	WANAPARTHY	Regular	100	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
549	SR Nagar Metro stn to Moosapet Metro station	HYDERABAD	Regular	300	OBC CC 1	DC	25	20	800	25	60	Draw of Lots	15	4
550	Within 3 Km RAMAPURAM X ON NH 65 (HYD-VJA LHS)	SURYAPET	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
551	Langar Hauz to Narsingi X , LHS towards Narsingi x road	RANGA REDDY	Regular	200	OPEN PH	DC	25	20	800	25	60	Draw of Lots	15	5
552	Within 3 KM from Gajwel jn towards Chegunta road	SIDDIPET	Regular	100	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
553	WANAPARTHY TO KOTHAKOTA ON LHS WITHIN 3 KMS POLYTECHNIC COLLEGE	WANAPARTHY	Regular	100	OPEN	СС	30	30	900	25	10	Bidding	30	5
554	Gadwal town with in 1 km from municipal office	JOGULAMBA GADWAL	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
555	WANAPARTHY TO PEBBAIR ROAD WITH IN 2KM FROM WANAPARTHY POLTECHNIC COLLEGE	WANAPARTHY	Regular	100	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
556	Gandhinagar(within 2 KM s from Suryapet-Jangaon cross on Jangaon road)	SURYAPET	Regular	100	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
557	WITH IN 2KM FROM BHUTHPUR FLYOVER JUNCTION TOWARDS NAGARKURNOOL ON SH20	MAHBUBNAGAR	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
558	WITH IN 2KM RADIUS FROM MAHABUBNAGAR BUS STATION	MAHBUBNAGAR	Regular	170	OPEN	СС	30	30	900	25	10	Bidding	30	5
559	Within 1KM meters radius of Kuntloor four road jn	RANGA REDDY	Regular	150	ST	CFS	25	20	800	0	0	Draw of Lots	0	3
560	KM stone 153 to 164 on NH 65, LHS towards Vijayawada	SURYAPET	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
					-									

		1			I	r	r		r			I		1
561	WITHIN 2KM FROM BHOOTPUR FLYOVER JUNCTION TOWARDS MAHBUBNAGAR ON SH20	MAHBUBNAGAR	Regular	150	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
562	POLICE COLONY ROAD TO 8TH BATALLION HQ, KONDAPUR	RANGA REDDY	Regular	250	OPEN CC 1	DC	25	20	800	25	60	Draw of Lots	15	5
563	Tandur X road to Lakshminarayanpur X towards Kodangal	VIKARABAD	Regular	130	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
564	KATTANGUR VILLAGE ON NH65, LHS towards Hyderabad	NALGONDA	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
565	WITHIN 2KM FROM JADCHERLA NEW BUS STAND, TOWARDS MAHABUBNAGAR	MAHBUBNAGAR	Regular	150	OPEN	СС	35	35	1225	25	10	Bidding	30	5
566	Within 2 km from Shankarpally X roads towards Chevella	RANGA REDDY	Regular	110	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
567	Aitipamula village on NH65, LHS towards vijayawada	NALGONDA	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
568	FROM BEECHUPALLI TO PUTANDODDI( BETWEEN KM STONE 163 & 170 ON NH-44) LHS TOWARDS BENGALURU	JOGULAMBA GADWAL	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
569	Between Kosgi to Husnabad on SH23	MAHBUBNAGAR	Regular	120	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
570	Within 4 km from Tandur jn on Vikarabad road	VIKARABAD	Regular	100	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
571	Chinna suraram on NH 565	NALGONDA	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
572	Himayatnagar	HYDERABAD	Regular	170	SC	CFS	25	20	800	0	0	Draw of Lots	0	3
573	Madiri Village on NH65	SANGAREDDY	Regular	160	OPEN	СС	35	45	1575	25	10	Bidding	30	5
574	Kavalampet village on NH 65 on LHS from Sangareddy to Hyderabad	SANGAREDDY	Regular	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
575	Cheekatigudem on NH 65	NALGONDA	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
576	M G ROAD	HYDERABAD	Regular	170	SC	CFS	25	20	800	0	0	Draw of Lots	0	3
577	Between Gopanpally Thanda Circle to Brahmaramba Mallikarjuna Temple(in Tellapur Village)	SANGAREDDY	Regular	200	OPEN	СС	25	20	800	25	10	Bidding	30	5
578	Maruthi Bejawada on NH 565	NALGONDA	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
579	Between IDA Bollaram Police station chowrasta to Dr Reddys lab (Unit-1) on IDA Bollaram main road	SANGAREDDY	Regular	150	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
580	Shivampet On NH 161	SANGAREDDY	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
581	Katedan Industrial Jn on NH765 TO Gaghan Pahad Jn on NH44	RANGA REDDY	Regular	150	ST	CFS	25	20	800	0	0	Draw of Lots	0	3
582	from Kompally to Dulapally cross roads on Kompally- Dulapally road on either side	MEDCHAL MALKAJGIRI	Regular	180	OBC	СС	25	20	800	25	10	Bidding	30	4
583	Isnapur village on NH 65, LHS from Sangareddy to Hyderabad	SANGAREDDY	Regular	170	OPEN	СС	35	45	1575	25	10	Bidding	30	5
584	Sadashivpet Bypass road on NH65 LHS towards Zaheerabad	SANGAREDDY	Regular	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
585	Mushirabad X Roads - Kavadiguda - Marriot Hotel	HYDERABAD	Regular	170	SC	CFS	25	20	800	0	0	Draw of Lots	0	3
586	From Wonderla to Ranga Reddy District new Collectorrate Office road	RANGA REDDY	Regular	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
587	Suraram Village on NH 65 (On LHS from Zaheerabad to Sangareddy)	SANGAREDDY	Regular	150	OPEN	сс	35	45	1575	25	10	Bidding	30	5
588	S R NAGAR CIRCLE TO BALKAMPET ON LHS	HYDERABAD	Regular	250	OPEN CC 1	DC	25	20	800	25	60	Draw of Lots	15	5
589	Kanagal Village limits on Nalgonda-Devarakonda Road on SH- 18	NALGONDA	Regular	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
590	Nampally	HYDERABAD	Regular	170	sc	CFS	25	20	800	0	0	Draw of Lots	0	3
	•			•			•		•					

591	Patancheru on NH65 (LHS Patancheru Police station to Tata Motors Showroom)	SANGAREDDY	Regular	200	OPEN	cc	35	45	1575	25	10	Bidding	30	5
592	Sangareddy Town towards Fasalwasdi on NH-161 (within municipal limits)	SANGAREDDY	Regular	180	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
593	From Akbar road - Brig Syed road junction to Tarbund junction on either side	MEDCHAL MALKAJGIRI	Regular	180	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
594	Ambedkar Circle (Tankbund) to Ravindra Bharathi X Road	HYDERABAD	Regular	150	ST	CFS	25	20	800	0	0	Draw of Lots	0	3
595	Thurkalakhanapur on SH	SANGAREDDY	Regular	150	OPEN	СС	35	35	1225	25	10	Bidding	30	5
596	Between Ganeshpally to Alirajpet on SH17, Pragnapur - Jagdevpur Road, LHS	SIDDIPET	Regular	100	OPEN	СС	35	35	1225	25	10	Bidding	30	5
597	Gunrock road (from LIC building to teachers colony X roads )	MEDCHAL MALKAJGIRI	Regular	180	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
598	cherial ( within 5 km towards Bachannapet) on SH9	SIDDIPET	Regular	110	OPEN	сс	35	35	1225	25	10	Bidding	30	5
599	BETWEEN MARIKAL TO BANDERPALLY ON LHS TOWARDS RAICHUR ON NH 167	MAHBUBNAGAR	Regular	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
600	EAST MARADPALLY (SHENOY NURSING HOME TO TUKARAMGATE)	HYDERABAD	Regular	200	OPEN CC 2	DC	25	20	800	25	60	Draw of Lots	15	5
601	WITHIN 3 KMS FROM CANTONMENT BOARD, SECUNDERABAD TOWARDS WEST MARREDPALLY	HYDERABAD	Regular	250	OBC CC 1	DC	25	20	800	25	60	Draw of Lots	15	4
602	Between KM Stone 457 to 452 on NH-44 from Hyderabad to Nizamabad on LHS	MEDAK	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
603	Telugu talli Flyover to RTC X Roads via Indira Park	HYDERABAD	Regular	170	SC	CFS	25	20	800	0	0	Draw of Lots	0	3
604	From Suchithra X Roads to Hashmatpet Rd-NH44 Junction, on either side	MEDCHAL MALKAJGIRI	Regular	180	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
605	Within 2 km from Medak Auto nagar junction (on Medak- Chegunta Road (LHS))	MEDAK	Regular	140	OPEN	СС	30	30	900	25	10	Bidding	30	5
606	Within 2km from Medak Mandal office on SH6 towards Bodhan (LHS)	MEDAK	Regular	150	OPEN	сс	35	35	1225	25	10	Bidding	30	5
607	Malkajgiri	MEDCHAL MALKAJGIRI	Regular	175	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
608	Bahadurpura X road to PVNR express highway Pillar no 144	HYDERABAD	Regular	150	ST	CFS	25	20	800	0	0	Draw of Lots	0	3
609	Within 3km from Gajwel jn towards Wargal road	SIDDIPET	Regular	110	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
610	lbrahimnagar on SH 1, from lbrahim nagar to Siddipet LHS	SIDDIPET	Regular	120	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
611	Aramghar X to Nehru Zoo Park - LHS	HYDERABAD	Regular	175	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
612	Mohammadabad on SH-23	MAHBUBNAGAR	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
613	Mallaram village on SH1	SIDDIPET	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
614	BALKAMPET TO S R NAGAR CIRCLE ON LHS	HYDERABAD	Regular	250	OPEN CC 1	DC	25	20	800	25	60	Draw of Lots	15	5
615	Nehru Zoo Park to Aramghar X - LHS	HYDERABAD	Regular	175	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
616	Peddapur village on NH 65, LHS from Sangareddy to Zaheerabad	SANGAREDDY	Regular	150	OPEN CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5
617	Nagasanpalle on SH6	MEDAK	Regular	130	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
618	Nandigama village on SH15	MEDAK	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
619	KACHIGUDA	HYDERABAD	Regular	175	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
620	Pothanchetpally on SH6	MEDAK	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
	•													

621	Bhoiguda (Chilkalguda X Roads to RTC X Roads	HYDERABAD	Regular	150	ST	CFS	25	20	800	0	0	Draw of Lots	0	3
622	Within SKm from Pregnapur cross roads on SH17 towards Bhongir	SIDDIPET	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
623	Chevella to RR district border to wards Vikarabad	RANGA REDDY	Regular	110	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
624	Pregnapur Jn to New Gajwel bus stand	SIDDIPET	Regular	130	OPEN	СС	30	30	900	25	10	Bidding	30	5
625	Within 2 KM from Gajwel jn towards Ahmedipur	SIDDIPET	Regular	100	SC PH	CFS	30	30	900	0	0	Draw of Lots	0	3
626	Between Yadigirigutta temple arch to Yadagirigutta bus depot LHS	YADADRI BHUVANAGIRI	Regular	100	OBC PH	DC	30	30	900	25	45	Draw of Lots	15	4
627	within 1 km Narsapur cross road to Toopran LHS	MEDAK	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
628	Between KM Stone 421 to 419 on NH-44 from Hyderabad to Nizamabad on NH 44 , LHS	MEDAK	Regular	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
629	FROM GOPANPALLY POST OFFICE TO BHEL BUILDING VIA NALAGANDLA	RANGA REDDY	Regular	300	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
630	Rudraram to Kandi Jn on LHS on NH65	SANGAREDDY	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
631	Within 2 KM from Yellama temple cross road towards sircilla	SIDDIPET	Regular	100	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
632	Within 2 Km Siddipet-Mustabad cross road towards Mustabad	MEDAK	Regular	100	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
633	BETWEEN BANDAMEEDIPALLLY TO OBLALIPALLY ON LHS TOWARDS RAICHUR ON NH-167	MAHBUBNAGAR	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
634	FROM SRI RAMANA THEATRE JUNCTION TO MOOSARAMBAG JUNCTION ON LHS TOWARDS MOOSARAMBAG	HYDERABAD	Regular	150	ST	CFS	25	20	800	0	0	Draw of Lots	0	3
635	Rimmanaguda village on SH1, from Pragnapur jn to Siddipet on LHS	SIDDIPET	Regular	130	OPEN	СС	35	35	1225	25	10	Bidding	30	5
636	within 3 km Siddipet , Siddipet junction towards medak road LHS	SIDDIPET	Regular	100	OPEN	СС	30	30	900	25	10	Bidding	30	5
637	From Yellama temple cross road to Siddipet on Ram Nagar circle road	SIDDIPET	Regular	100	OPEN	СС	25	25	625	25	10	Bidding	30	5
638	From Hyd KM Stone 40 to Kothur Y junction on NH44 LHS towards Hyderabad	RANGA REDDY	Regular	180	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
639	Within 3 KMs from Outer Ring Road towards Isnapur Jn on NH- 65 (LHS)	SANGAREDDY	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
640	From Balanagar X roads to Bowenpally X Roads	MEDCHAL MALKAJGIRI	Regular	230	OPEN CC 1	сс	25	20	800	25	10	Bidding	30	5
641	WITHIN 3 KMS RADIUS OF CP OFFICE, BASHEERBAGH	HYDERABAD	Regular	175	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
642	Chityal to Chinakaparthy on NH65, LHS towards Hyderabad	NALGONDA	Regular	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
643	King Koti	HYDERABAD	Regular	150	ST	CFS	25	20	800	0	0	Draw of Lots	0	3
644	Kurmedu village on SH19, LHS towards Hyderabd	NALGONDA	Regular	120	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
645	Between Tunkimetla to Metlakunta jn on SH4 (Kodangal to Parigi road)	VIKARABAD	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	4
646	MOTHKUR TOWN LIMITS	YADADRI BHUVANAGIRI	Regular	100	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
647	Within 4 KM from Dudiyatanda X Roads, Chilkur on NH 167	SURYAPET	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
648	FROM ECIL X ROAD TO RAMPALLY X ROAD-LHS	MEDCHAL MALKAJGIRI	Regular	150	SC CC 1	CFS	25	20	800	0	0	Draw of Lots	0	3
649	Gowraram on SH 1	SIDDIPET	Regular	100	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
650	KM stone 169 to 180 on NH 65, LHS towards Vijayawada	SURYAPET	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

	T	ı					ı							
651	NAGARKURNOOL TOWN ON SH-20, LHS TOWARDS ACHAMPET	NAGARKURNOOL	Regular	100	OPEN PH	DC	35	35	1225	25	60	Draw of Lots	15	5
652	Sadashivpet Bypass road on NH65 LHS towards Sangareddy	SANGAREDDY	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
653	Rasoolpur Town on SH-4	VIKARABAD	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
654	KM stone 164 to 169 ON NH65	SURYAPET	Regular	150	OPEN	сс	35	45	1575	25	10	Bidding	30	5
655	SOMANGURTHY ON SH 4	VIKARABAD	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
656	Bachepally on NH161	SANGAREDDY	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
657	Jajireddy Gudem (Arvapalli), LHS on Suryapet to T Tirumalgiri Road	SURYAPET	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
658	From KM Stone 180 to 187 on NH 65, LHS, from Hyderabad to Vijayawada	NALGONDA	Regular	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
659	Huzurnagar(on Byepass Road towards Mellacheruvu)	SURYAPET	Regular	100	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
660	Within Skm from Tandur cross road towards Chinchole, SH23	VIKARABAD	Regular	110	OBC	сс	35	35	1225	25	10	Bidding	30	4
661	Nampally X Road to Vijayanagar X Road via Bazarghat	HYDERABAD	Regular	150	ST	CFS	25	20	800	0	0	Draw of Lots	0	3
662	within 2km Annaram Cross road (On NH365 Maddirala to Thungathurthy)	SURYAPET	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
663	From Sainikpuri X roads to ECIL X roads	MEDCHAL MALKAJGIRI	Regular	250	OPEN CC 1	DC	25	20	800	25	60	Draw of Lots	15	5
664	Arur on NH 65, LHS towards Zaheerabad	SANGAREDDY	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
665	Between KM Stone 446 to 441 on NH44 from Hyderabad to Nizamabad on LHS	MEDAK	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
666	Within 3 KM from Seetharampuram X Road on NH167 towards Huzurnagar	SURYAPET	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
667	Girmapur on NH65, LHS towards Zaheerabad	SANGAREDDY	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
668	Yelkaram village on Suryapet to Jangaon Road	SURYAPET	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
669	Narsingi Cross roads on SH15	MEDAK	Regular	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
670	Within 3 Kms from Shadnagar towards Yelikatta(not on NH- 44)	RANGA REDDY	Regular	120	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
671	JOGIPET on NH161	SANGAREDDY	Regular	150	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
672	FROM GOPANAPALLY CHOWRASTHA TO WIPRO CIRCLE, LHS	RANGA REDDY	Regular	300	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
673	BETWEEN BANDARPALLY TO LALKOTA X ROAD ON NH-167	MAHBUBNAGAR	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
674	Ensanpalle, Siddipet	SIDDIPET	Regular	110	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
675	Huggeli Village on NH65 (ON LHS from Sangareddy to Zaheerabad)	SANGAREDDY	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
676	From Mandamallama Function hall Jn. to Balapur "X' road, LHS	RANGA REDDY	Regular	150	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
677	PEBBAIR (BETWEEN KM STONE 158 & 152) ON NH-44 LHS TOWARDS HYDERABAD	WANAPARTHY	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
678	Sadashivpet Town on old NH65	SANGAREDDY	Regular	100	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
679	Chandampally on NH65	NALGONDA	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
680	BETWEEN MAHBUBNAGAR BUS STAND TO SRINIVASA COLONY ON LHS TOWARDS JADCHERLA	MAHBUBNAGAR	Regular	150	OPEN	сс	35	35	1225	25	10	Bidding	30	5
	I.	1	l .		1	1	l	1	1	1	1	1		

681	WITHIN 2 KM FROM ATMAKUR BUS STATION	WANAPARTHY	Regular	100	OPEN	DC	25	25	625	25	45	Draw of Lots	15	5
682	Within 3km from Sadashivpet Town on Tandur road	SANGAREDDY	Regular	100	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
683	VST X Roads - Ramnagar Gundu Bus Stop	HYDERABAD	Regular	150	ST	CFS	25	20	800	0	0	Draw of Lots	0	3
684	PEBBAIR TOWN WITH IN IN 2 KM FROM POST OFFICE (NOT ON NH)	WANAPARTHY	Regular	100	OPEN	DC	25	25	625	25	45	Draw of Lots	15	5
685	Gundrampalli village on NH 65, LHS towards Hyderabad	NALGONDA	Regular	150	OPEN	сс	35	45	1575	25	10	Bidding	30	5
686	Thimmapur on SH15	SIDDIPET	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
687	FROM CHENGICHERLA X ROADS TO UPPAL JUNCTION ON NH 163, LHS	MEDCHAL MALKAJGIRI	Regular	220	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
688	KM stone 167-172, LHS on NH - 65, Chandampally Mandal (Hyderabad to Vijayawada Road)	NALGONDA	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
689	Vantimamidi on SH 1	SIDDIPET	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
690	From Malakpet TV tower jn to Dilsuknagar Bus stand on LHS	RANGA REDDY	Regular	200	OPEN CC 1	DC	25	20	800	25	60	Draw of Lots	15	5
691	Thettekunta village, LHS, NH 365A from Nalgonda to Nakrekal	NALGONDA	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
692	Fateh Nagar Main Road	Medchal Malkajgiri	Regular	200	ST	CFS	25	20	800	0	0	Draw of Lots	0	3
693	Within 3 KM from Ramayampet NH under pass towards Medak on SH15	MEDAK	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
694	Cheriyal Muncipality not on SH	SIDDIPET	Regular	100	OPEN	СС	30	30	900	25	10	Bidding	30	5
695	Between Siddipet Welcome Arch to Bandaram Dargah Kaman, Duddeda on SH1, LHS	SIDDIPET	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
696	KM stone 143 to 153 ON NH 65, LHS towards Vijayawada	SURYAPET	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
697	Within 3 KM from Gajwel in towards Ramayampet road	SIDDIPET	Regular	100	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
698	Between KM STONE -Hyderabad 21 Km to 24 km on NH44, LHS towards Bangalore	RANGA REDDY	Regular	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
699	BANJARA HILLS ROAD NO. 7 EITHER SIDE	HYDERABAD	Regular	250	OPEN CC 2	DC	25	20	800	25	60	Draw of Lots	15	5
700	Gopannapalli on NH 65 on LHS towards Zaheerabad	SANGAREDDY	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
701	Girmapur on NH65, LHS towards Sangareddy	SANGAREDDY	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
702	FROM MOUNT OPERA ENTRANCE TO ABDULLAPURMET BUS STOP ON NH6S, LHS	RANGA REDDY	Regular	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
703	Chityal on NH65, LHS towards Vijayawada	NALGONDA	Regular	150	OPEN	сс	35	45	1575	25	10	Bidding	30	5
704	Devarakonda town Limits on Dindi Road	NALGONDA	Regular	100	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
705	VENKATADRIPALEM on NH167	NALGONDA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
706	Between Hyd KM stone 21 to 28 on NH44, towards Hyderabad, LHS	RANGA REDDY	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
707	FROM DARGAH CROSSROAD TO RAIDURGAM POLICE STATION ON LHS	RANGA REDDY	Regular	120	OPEN	сс	30	30	900	25	10	Bidding	30	5
708	Within 5 kms from KondaMallepally cross on SH18, LHS towards Nalgonda	NALGONDA	Regular	100	OPEN	сс	35	35	1225	25	10	Bidding	30	5
709	From Swami Paripoornanand Ashram To Telegana Social Welfare Residential School For Girls on shamirpet - Ghanpur – Medchal Road on LHS	MEDCHAL MALKAJGIRI	Regular	100	OPEN	сс	25	25	625	25	10	Bidding	30	5
710	Choutukur on NH 161	SANGAREDDY	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3

711	ON BANJARA HILLS ROAD NO. 12 FROM MINISTER'S QUARTERS CROSSROADS TO JAGANNATH TEMPLE CIRCLE ON LHS	HYDERABAD	Regular	350	OPEN	CC	25	20	800	25	10	Bidding	30	5
712	Nagarjun Sagar town on SH 19	NALGONDA	Regular	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
713	BRAHMANAPALLY X ROAD TO HAZEEPUR CHAURASTRA TOWARDS MANNANUR ON NH-765	NAGARKURNOOL	Regular	150	OPEN CC 1	DC	35	35	1225	25	75	Draw of Lots	15	5
714	NAKREKAL BYPASS ROAD ON NH65, LHS towards vijayawada	NALGONDA	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
715	Nalgonda Town - Clock Tower Centre to Bus Stand Road	NALGONDA	Regular	120	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
716	Between Cheriyal x road to ORR, LHS, on ECIL-Keesara Road	MEDCHAL MALKAJGIRI	Regular	150	OPEN	СС	25	20	800	25	10	Bidding	30	5
717	LV PRASAD EYE INSTITUTE TO NAGARJUNA CIRCLE ROAD (BANJARA HILLS ROAD NO. 2 & 3)	HYDERABAD	Regular	350	OPEN	СС	25	20	800	25	10	Bidding	30	5
718	BHAGEERATHA COLONY ROAD ON SH20	MAHBUBNAGAR	Regular	100	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
719	Kollur	SANGAREDDY	Regular	150	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
720	Koppole village on 5H 18	NALGONDA	Regular	110	ST CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
721	Padamati palle village on SH 18, LHS towards kalwakurthy	NALGONDA	Regular	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
722	ON ROAD CONNECTING TEACHERS COLONY AND CHRISTIANPALLY, MAHABUBNAGAR TOWN	MAHBUBNAGAR	Regular	100	ОВС	DC	30	30	900	25	45	Draw of Lots	15	4
723	G.V. gudem on NH 565	NALGONDA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
724	KBR PARK CIRCLE TO JAGANNATH TEMPLE CIRCLE ON LHS	HYDERABAD	Regular	350	OPEN	СС	25	20	800	25	10	Bidding	30	5
725	FROM CYBER TOWER JUNCTION TO FORUM SUJANA MALL, LHS	RANGA REDDY	Regular	400	OPEN	СС	25	20	800	25	10	Bidding	30	5
726	Within 2 KMs from Hayathabad Junction towards Chevella on Shahabad-Chevella Road, LHS	VIKARABAD	Regular	100	ОВС РН	DC	35	35	1225	25	60	Draw of Lots	15	4
727	From Gandimaisamma X Roads to Dundigul ORR Junction on SH on LHS	MEDCHAL MALKAJGIRI	Regular	175	ST PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
728	FROM ATHVELLY MOSQUE TO MEDCHAL CHECKPOST ON LHS ON NH-44	MEDCHAL MALKAJGIRI	Regular	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
729	ON BANJARA HILLS ROAD NO. 11	HYDERABAD	Regular	400	OPEN	СС	25	20	800	25	10	Bidding	30	5
730	WITHIN 2 KM FROM MAKTHAL X ROAD TOWARDS NARAYANPET	MAHBUBNAGAR	Regular	100	OBC	DC	30	30	900	25	45	Draw of Lots	15	4
731	FROM RADISSON HOTEL, GACCHIBOWLI TO KONDAPUR RTO OFFICE ON LHS	RANGA REDDY	Regular	400	OPEN	СС	25	20	800	25	10	Bidding	30	5
732	DEVARKADRA (WITHIN 2KM RADIUS FROM RAILWAY CROSS) ON NH-167 LHS TOWARDS MAHABUBNAGAR	MAHBUBNAGAR	Regular	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
733	H&M BUILDING, JUBILEE HILLS TO CHIRANJEEVI EYE AND BLOOD BANK ON JUBILEE HILLS ROAD NO. 10 ON LHS	HYDERABAD	Regular	400	OPEN	СС	25	20	800	25	10	Bidding	30	5
734	From Medchal check post to Kompally Bridge on LHS on NH44	MEDCHAL MALKAJGIRI	Regular	170	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
735	JAGANNATH TEMPLE CIRCLE TO FILMNAGAR ROAD, JUBILEE HILLS	HYDERABAD	Regular	250	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
736	within 4 KM from marlagaddagudem cross road on NH 565	NALGONDA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
737	5 km from Chevella crossroad on SH4 towards Moinabad, LHS	VIKARABAD	Regular	100	OBC	СС	35	35	1225	25	10	Bidding	30	4
738	From pillar number 72 towards Karwan , LHS on Gudimalkapur road	HYDERABAD	Regular	200	OPEN	СС	25	20	800	25	10	Bidding	30	5
739	From GHMC Corporation to Sree Venkateswara Vetenirary University on Rajendra Nagar Raod	RANGA REDDY	Regular	200	OPEN CC 1	DC	25	20	800	25	60	Draw of Lots	15	5
740	From Dullapally x roads junction(Kaziguda) to Medak Road junction Near SVAS complex	MEDCHAL MALKAJGIRI	Regular	200	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
	•													

741	Thatikal NH 565	NALGONDA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
742	FROM HDFC BANK, YOUSUFGUDA BRANCH TO YOUSUFGUDA CHECK POST	HYDERABAD	Regular	350	OPEN	СС	25	20	800	25	10	Bidding	30	5
743	JUBILEE HILLS CHECK POST TO FILMNAGAR JUNCTION VIA FILMNAGAR ROAD, LHS	HYDERABAD	Regular	400	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
744	From L B NAGAR JUNCTION TO Alkapuri X road on IRR, LHS	RANGA REDDY	Regular	200	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
745	Balapur X road to Mandamalla Function Hall on LHS	RANGA REDDY	Regular	150	ST	CFS	25	20	800	0	0	Draw of Lots	0	3
746	Within 3 KM from Nandipadu X road on SH 2,towards Hyderabad on LHS	NALGONDA	Regular	110	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
747	Khairatabad to Sanjeeva Reddy Nagar ON LHS	HYDERABAD	Regular	400	OPEN	СС	25	20	800	25	10	Bidding	30	5
748	Between Sarojini devi Eye hospital to Retibowli Junction, LHS	HYDERABAD	Regular	350	OPEN	СС	25	20	800	25	10	Bidding	30	5
749	Narayanpet Town Within 2km from Main Bus Stand Not on SH22	MAHBUBNAGAR	Regular	100	OBC CC 1	DC	25	25	625	25	45	Draw of Lots	15	4
750	SURYAPET TOWN not on NH	SURYAPET	Regular	150	ST CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
751	From LB Nagar Junction to Dilsuknagar Bus stand, LHS	RANGA REDDY	Regular	250	OPEN PH	DC	25	20	800	25	60	Draw of Lots	15	5
752	Ring road junction to Aramghar chowrasta on LHS	RANGA REDDY	Regular	200	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
753	Between Retibowli Junction to Sarojini Devi Hospital, LHS	HYDERABAD	Regular	350	OPEN	СС	25	20	800	25	10	Bidding	30	5
754	Arjalabhavi on NH 565	NALGONDA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
755	From Ayodhya Junction to Gundlapochampally village Grampanchayat office	Medchal Malkajgiri	Regular	150	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
756	Karwan Post office to Attapur Brideg Pillar No. 102, Karwan road, LHS	HYDERABAD	Regular	200	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
757	MIYAPUR CIRCLE (ALLWYN X ROADS) TO BHEL BUILDING, SERILINGAMPALLY	RANGA REDDY	Regular	350	OPEN	СС	25	20	800	25	10	Bidding	30	5
758	FROM TSPA JUNCTION TO BANDLAGUDA JAGIR ON LHS	RANGA REDDY	Regular	200	OPEN	СС	25	20	800	25	10	Bidding	30	5
759	Hubsiguda x road to Nacharam X road LHS	MEDCHAL MALKAJGIRI	Regular	200	ST	CFS	25	20	800	0	0	Draw of Lots	0	3
760	FROM GOPANPALLY POST OFFICE TO VATTINAGULAPALLY	RANGA REDDY	Regular	250	OBC	СС	25	20	800	25	10	Bidding	30	4
761	MOOSAPET TO Subramanya Swamy Temple, HITECH CITY	RANGA REDDY	Regular	350	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
762	Nacharam X road to Hubsiguda X road LHS	MEDCHAL MALKAJGIRI	Regular	200	OPEN CC 1	DC	25	20	800	25	60	Draw of Lots	15	5
763	FROM BANDLAGUDA JAGIR TO Shankarpally-Chevella X road (within ORR) on LHS	RANGA REDDY	Regular	175	SC	CFS	25	20	800	0	0	Draw of Lots	0	3
764	Jeedimetla Police Station to Bhagyaradhi Junior College on Jeedimetla Main Road	Medchal Malkajgiri	Regular	150	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
765	NARANYANKHED TOWN ON NARAYANKHED - RAYPALLI ROAD	SANGAREDDY	Regular	150	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
766	Within 5km from Kodangal x road towards Parigi, on SH4, LHS	VIKARABAD	Regular	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
767	Minister Road	HYDERABAD	Regular	200	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
768	Within 3 KM from Vangamarthi village bus stand on NH 365, towards Nakrekal road	NALGONDA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
769	FROM JNTU TO MIYAPUR METRO STATION	RANGA REDDY	Regular	400	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
770	RAIDURG POLICE STATION TO DELHI PUBLIC SCHOOL, KHAJAGUDA, LHS	RANGA REDDY	Regular	300	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
•	•													

					1									
771	JUBILEE HILLS ROAD NO. 4	HYDERABAD	Regular	250	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
772	Sulthanpur (Ameenpur Mandal)	SANGAREDDY	Regular	150	SC	CFS	25	20	800	0	0	Draw of Lots	0	3
773	RASOOLPURA JUNCTION TO ISCON TEMPLE CIRCLE ON SP ROAD	HYDERABAD	Regular	300	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
774	FROM BOTANICAL GARDEN ROAD TO HCU DEPOT, LHS	RANGA REDDY	Regular	350	OPEN	СС	25	20	800	25	10	Bidding	30	5
775	Between Pillar 160 - 260, PVNR Express Highway on Mehdipatnam to Rajender Nagar road, LHS	RANGA REDDY	Regular	200	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
776	Kandi JN to Sangareddy Police Station on NH65(On LHS from Kandi to Sangareddy)	SANGAREDDY	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
777	TANDRA GATE TO SRISAILAM CROSS ON NH-765 ON LHS	NAGARKURNOOL	Regular	150	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
778	From Ramkrishnapuram flyover to Sainikpuri X roads on either side	MEDCHAL MALKAJGIRI	Regular	200	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
779	GURRAMGUDA JN. TO GURRAMGUDA VILLAGE TOWARDS NADERGOLE (NOT ON SH19)	RANGA REDDY	Regular	150	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
780	From Ranga Reddy District border to Hyd KM Stone 43 on NH44 LHS towards Hyderabad	RANGA REDDY	Regular	150	OPEN	сс	35	45	1575	25	10	Bidding	30	5
781	Within 3km from Shamshabad bus stnad on Rallaguda Road	RANGA REDDY	Regular	180	ST	CFS	25	20	800	0	0	Draw of Lots	0	3
782	From Bachupally X Roads to Gandimaisamma X Roads on either side	MEDCHAL MALKAJGIRI	Regular	200	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
783	Yousufguda checkpost to ESI Hospital, S R Nagar	HYDERABAD	Regular	400	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
784	From JNTU metro stn to KUKATPALLY Metro Stn on LHS	MEDCHAL MALKAJGIRI	Regular	300	OPEN	сс	25	20	800	25	10	Bidding	30	5
785	Within 2 KM From Gandimaisamma X roads towards Medchal, LHS	MEDCHAL MALKAJGIRI	Regular	150	SC	CFS	25	20	800	0	0	Draw of Lots	0	3
786	From Tarnaka X roads to COCO COLA Factory, Moula Ali) - LHS	MEDCHAL MALKAJGIRI	Regular	200	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
787	Pragathinagar ( From Bachupally rd-pragati nagar road junction To ICICI Bank Branch Pragatinagar)	MEDCHAL MALKAJGIRI	Regular	230	OPEN	сс	25	20	800	25	10	Bidding	30	5
788	From Dammaiguda X Roads to Nagaram X Roads	MEDCHAL MALKAJGIRI	Regular	200	OPEN CC 1	DC	25	20	800	25	60	Draw of Lots	15	5
789	on KPHB Road No 1 (From Forum Sujana Mall to KPHB Kamaan AT NH65 entrance )	MEDCHAL MALKAJGIRI	Regular	200	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
790	Haveli Ghanpur on SH6	MEDAK	Regular	110	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
791	From Moosapet Metro Station to Balanagar Metro station on either side	MEDCHAL MALKAJGIRI	Regular	300	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
792	From Relief Hospital Mallampet to Mallampet masjid on Mallampet road	MEDCHAL MALKAJGIRI	Regular	180	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
793	From Big bazar Kompally to Kompally Bridge on NH44, LHS	MEDCHAL MALKAJGIRI	Regular	210	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
794	Tarnaka X Road to Mettuguda X Road	HYDERABAD	Regular	175	ST	CFS	25	20	800	0	0	Draw of Lots	0	3
795	RADISSION HOTEL , GACCHIBOWLI TO IKEA STORE, HITECH CITY	RANGA REDDY	Regular	400	OPEN	сс	25	20	800	25	10	Bidding	30	5
796	2 KM ON EITHER SIDE OF VENKATRAOPET VILLAGE JUNCTION ON SH-6	MEDAK	Regular	120	OPEN	DC	30	30	900	25	60	Draw of Lots	15	5
797	From Patel kunta park Kukatpally to Nalla Pochamma Temple(shapurnagar signal) via pipeline road	MEDCHAL MALKAJGIRI	Regular	200	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
798	Within 3 KM from Kompally Bridge(NH44 JUNCTION) towards Devaryamjal	Medchal Malkajgiri	Regular	150	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
799	Within 2 km from Suchithra X Roads towards Jeedimetla on Suchitra Main Road	MEDCHAL MALKAJGIRI	Regular	180	SC CC 1	CFS	25	20	800	0	0	Draw of Lots	0	3
800	Within 1 km from Dargah on APIIC road ( IDA Kukatpally )	MEDCHAL MALKAJGIRI	Regular	160	OPEN CC 2	DC	25	20	800	25	60	Draw of Lots	15	5

801	Within 3km from Manneguda to chevella on SH4	VIKARABAD	Regular	100	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
802	Dharmaram on SH15	SIDDIPET	Regular	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
803	From Vanasthalipuram signal to Mahavir Park on NH 65, LHS towards Vijayawada	RANGA REDDY	Regular	250	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
804	On Usha Mullapudi Road Kukatpally (From Paradise restaurant to Usha Mullapudi Hospital)	MEDCHAL MALKAJGIRI	Regular	200	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
805	RADDISION, GACCHIBOWLI TO KOTHAGUDA X ROAD ON LHS	RANGA REDDY	Regular	400	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
806	DELHI PUBLIC SCHOOL, KHAJAGUDA TO RAIDURG POLICE STATION ON LHS	RANGA REDDY	Regular	300	OPEN	сс	25	20	800	25	10	Bidding	30	5
807	RTC Colony, Tirumalagiri	HYDERABAD	Regular	175	OPEN	сс	25	20	800	25	10	Bidding	30	5
808	Warasiguda	HYDERABAD	Regular	150	OPEN	DC	25	20	800	25	60	Draw of Lots	15	5
809	Himayatnagar to Chikkadapally	HYDERABAD	Regular	150	OBC	DC	25	20	800	25	60	Draw of Lots	15	4
810	BEERSANI, Dharmapuri Mandal	JAGITIAL	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
811	Chimanpally Village, Sirikonda Mandal	NIZAMABAD	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
812	Sompoor Shivar( Within 500m from Sompoor X Road on Hunsa to Pothangal Road),Saloora Mandal	NIZAMABAD	Rural	46	OPEN CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
813	BHEEMPUR, Bheempur Mandal	ADILABAD	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
814	Ramareddy Village, SADASHIVANAGAR Mandal	KAMAREDDY	Rural	46	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
815	Mailaram Village, Dharpally Mandal	NIZAMABAD	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
816	Morthad village on main road within 1km from Police Station (Not on NH), Morthad Mandal	NIZAMABAD	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
817	SIRIKONDA, Sirikonda Mandal	ADILABAD	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
818	Pipri Village, Armoor Mandal	NIZAMABAD	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
819	Renjarla Village, Mupkal Mandal (Within 500mts from Ambedkar Chowrasta on Mupkal Velkatoor Road)	NIZAMABAD	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
820	Chennaraopet, (on Nekkonda to Narasampet Road), Chennaraopet Mandal	WARANGAL RURAL	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
821	PEDDA VANGARA (Within VILLAGE LIMITS), Peddavangara Mandal	MAHABUBABAD	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
822	Within 1km from Kondur X Road towards Dharpally, Sirikonda Mandal	NIZAMABAD	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
823	Narsingpally (Mugpal Mandal)	NIZAMABAD	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
824	Pallikonda Village, Bheemgal Mandal	NIZAMABAD	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
825	Banjara stage (on Nellikudur To Mahabubabad road,Sriramagiri Village ), Mahabubabad Mandal	MAHABUBABAD	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
826	BUGGARAM, Buggaram Mandal	JAGITIAL	Rural	46	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
827	Pitlam village (Within 3 Kms from Pitlam Chourastha towards Banswada) , Pitlam Mandal	KAMAREDDY	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
828	Pulkurthy Village , Damera Mandal	WARANGAL RURAL	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
829	Within 1km from Konasamunder X Roads on Kammarapalli - Bheemgal Road towards Bheemgal, Kamarapalle Mandal	NIZAMABAD	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
830	Kothapally Village(Jammikunta flyover to canal), Jammikunta Mandal	KARIMNAGAR	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4

831	Maha Mutharam, Maha Mutharam Mandal	JAYASHANKAR BHUPALPALLY	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
832	Buggapadu village limits on Sattupalli to Patwarigudem road, Sattupalli Mandal	KHAMMAM	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
833	Velkatoor Village (Within 500mts from Battapur Velkatoor Bridge towards Velkatoor), Mendora Mandal	NIZAMABAD	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
834	Thimmapur Village, Morthad Mandal	NIZAMABAD	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
835	Muchkoor Village, Bheemgal Mandal	NIZAMABAD	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
836	VEMANPALLY, Venampally Mandal	MANCHERIAL	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
837	Ummeda Village, Nandipet Mandal (within 1 KM from Umamaheshwara Temple at River Bank towards Ummeda)	NIZAMABAD	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
838	Bheemgal within 1km from Ambedkar Chowrasta towards Bada Bheemgal on LHS, Bheemgal Mandal	NIZAMABAD	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
839	Bandauthapur, Wardhanapet Mandal	WARANGAL RURAL	Rural	46	OBC PH	DC	20	20	400	12	30	Draw of Lots	5	3
840	Kamepalli village limits on Khammam to Yellandu road on LHS, Kamepalli Mandal	KHAMMAM	Rural	46	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	2
841	Maddelacheruvu Village on Main Road, Pitlam Mandal	KAMAREDDY	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
842	Saloora (Within 1 KM from Saloora Chourastha towards Kajapur) on LHS, Saloora Mandal	NIZAMABAD	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
843	Mentrajpalli Village (Dichpally Mandal) Not on NH, Dichpally Mandal	NIZAMABAD	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
844	Mallaram Village (Within 1 km from Dental College towards Nizamabad), Nizamabad Mandal	NIZAMABAD	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
845	Hanmajipet, Banswada Mandal	KAMAREDDY	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
846	Rajampet Village, Rajampet Mandal	KAMAREDDY	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
847	Amrad Village, Makloor Mandal	NIZAMABAD	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
848	KOTAGIRI (BUS STAND TO AMBEDKAR STATUE) ON LHS, Kotagiri Mandal	NIZAMABAD	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
849	VENKATRAOPETA, Luxittipet Mandal	MANCHERIAL	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
850	Opposite of peddapapayapalli bustand on Parkal to huzrabad Road, Huzurabad Mandal	KARIMNAGAR	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
851	ILLandakunta (ILLandakunta Grampanchyat karyalayam to Seeta Ramachandraswamy Devastanam) (RHS), Illandakunta Mandal	KARIMNAGAR	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
852	JAGDEVPET, VELGATUR Mandal	JAGITIAL	Rural	46	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
853	Ashwaraopalle Village Limits, Raghunathapalle Mandal	JANGAON	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
854	SONALA, Boath Mandal	ADILABAD	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
855	Baddenapally village on roadside(Within 200mtrs from Sarampally textile park Arch towards Sircilla to Siddlpet Road, LHS), Tangallapally Mandal	Rajanna sircilla	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
856	Vallampatla village (Muskulapalle to Kistarao palle ) on LHS, Ellantakunta Mandal	RAJANNA SIRCILLA	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
857	Gadkole Village, Sirikonda Mandal	NIZAMABAD	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
858	Within 2 KMs Between New palvancha circle (Ambedkar circle) towards Kinnerasani road, Palwancha Mandal	BHADRADRI KOTHAGUDEM	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
859	HANUMAJIPET (BETWEEN HANUMAJIPET AND MOODA PALLI ROAD), Vemulawada Mandal	RAJANNA SIRCILLA	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
860	Vidyodaya school to Lakshmivilas Bank (Nr.Jammikunta Flyover on RHS), Jammikunta Mandal	KARIMNAGAR	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4

861	RAIKAL(ON RAIKAL TO KORUTLA ROAD), Raikal Mandal	JAGITIAL	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
862	Yamcha Village, Navipet Mandal	NIZAMABAD	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
863	Erlapudi & Pangidi village limits on Budidampadu to Enkoor Road, RAGHUNADHAPALEM Mandal,	KHAMMAM	Rural	46	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
864	SARANGAPUR (ON SARANGAPUR TO BEERPUR ROAD), SARNGAPUR Mandal	JAGITIAL	Rural	46	OPEN PH	DC	20	20	400	12	30	Draw of Lots	5	4
865	MALLARAM village(1km from meeseva centre on Husnabad- kothakonda road) , Bheemadevarapalli Mandal	KARIMNAGAR	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
866	FOUJEPUR, Jainath Mandal	Adilabad	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
867	KUNTALA, Nirmal Mandal	NIRMAL	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
868	ROMMIPUR, Jaipur Mandal	MANCHERIAL	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
869	Boinpalli Village(Ambedkar X road Jn towards Andhra bank) within 1km, Boinpalli Mandal	RAJANNA SIRCILLA	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
870	Vallabhi village limits on Vallabhi to Jaggayyapet road on RHS, NELAKONDAPALLI Mandal	KHAMMAM	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
871	KANNEBOINAGUDEM (Within VILLAGE LIMITS), Nermatta Mandal	JANGAON	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
872	BOMMAREDDIPALLI , DHARMARAM MANDAL	PEDDAPALLI	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
873	Boinpalli Village(Ambedkar X road Jn. To Peddamma temple) on Main road, Boinpalli Mandal	RAJANNA SIRCILLA	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
874	Kundaram Village Limits on Main road towards Palakurthy, Janagaon Mandal	JANGAON	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
875	Kummarigudem Village Limits, Dharmasagar Mandal	WARANGAL URBAN	Rural	46	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
876	SOAN VILLAGE NOT ON NH, Nirmal Mandal	NIRMAL	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
877	Jillella Village(on Mustabad-Jillela-Ellantakunta road), Thangalapalli Mandal	RAJANNA SIRCILLA	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
878	Between Kommugutta and Peechara via Maddelgudem, Dharmasagar Mandal	WARANGAL URBAN	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
879	Venkatadripeta - Malkapur, Station Ghanpur Mandal	JANGAON	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
880	Neerukulla , Athmakur Mandal	WARANGAL RURAL	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
881	INDHANPALLY, Jannaram Mandal	NIRMAL	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
882	VADLAKONDA TO GHANUPAHAD, Janagaon Mandal	JANGAON	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
883	Sultanpur, Regonda Mandal	WARANGAL RURAL	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
884	Metpalli(KDCC bank towards Amudalapalli village), Shankarapatnam Mandal	KARIMNAGAR	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
885	SUBBAPALLE VILLAGE NOT ON NH, Hazipur Mandal	MANCHERIAL	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
886	Sankepalli village(Gollapalli bustop to sankepalli road), Vemulawada Mandal	RAJANNA SIRCILLA	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
887	Muddunoor, Duggondi Mandal	WARANGAL RURAL	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
888	Kandikatkur(1km from busstand on kalvakunta-kazipur road), Ellantakunta Mandal	RAJANNA SIRCILLA	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
889	BOATH TOWN, Boath Mandal	ADILABAD	Rural	46	sc	CFS	20	20	400	0	0	Draw of Lots	0	2
890	Chintha nekkonda, Nekkonda Mandal	WARANGAL RURAL	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4

891	Marampally Village, Nandipet Mandal	NIZAMABAD	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
892	Cheruvumadharam village limits on Nelakondapalli-Vallabhi Road, NELAKONDAPALLI Mandal	KHAMMAM	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
893	RAMAJIPET (VILLAGE) ON RAIKAL ROAD, ( WITH IN 500METERS FROM BUPATHIPUR X ROAD), Raikal Mandal	JAGITIAL	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
894	Sambaiahgudem village limits on Manuguru to Yedulla Bayyaram road, Manuguru Mandal	BHADRADRI KOTHAGUDEM	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
895	Rangapur(On Huzrabad to jammikunta road), Jammikunta Mandal	KARIMNAGAR	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
896	YASHWANTHRAOPET, Buggaram Mandal	JAGITIAL	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
897	NIMMNAPALLI, Peddapalli Mandal	PEDDAPALLI	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
898	Fathepur Village, Armoor Mandal	NIZAMABAD	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
899	Pothur Village(Pothur Mee Seva Kendra to KLN Hospital) , Ellantakunta Mandal	KARIMNAGAR	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
900	ANTHARGOAN-ON RAMAGUNDAM TO ANTHARGOAN ROAD, Anthargoan Mandal	PEDDAPALLI	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
901	GOVINDARAM, Medipalli Mandal	JAGITIAL	Rural	46	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
902	Yellareddipet(Telangana grameena bank to Saibaba temple ) on Narayanapur road, Yellareddipet Mandal	RAJANNA SIRCILLA	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
903	Mosra (Mosra-Nizamabad Road), Varni Mandal	NIZAMABAD	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
904	ALLIPUR(ON ALLIPUR TO RAIKAL ROAD), Raikal Mandal	JAGITIAL	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
905	GARSHAKURTHY, Gangadhara Mandal	KARIMNAGAR	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
906	Veenavanka Village(play ground to Ijal station), Veenavanka Mandal	KARIMNAGAR	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
907	Anjanapuram village limits on Budidampadu to Enkoor Road, RAGHUNADHAPALEM Mandal	КНАММАМ	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
908	OBULAPUR(Village),MALLAPUR MANDAL	JAGITIAL	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
909	MUTHYAM PET (ON MUTHYAM PET TO MALYAL ROAD), Maliyal Mandal	JAGITIAL	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
910	Veenavanka Village(Within 800m from play ground on Karimnagar-Jammikunta road), Veenavanka Mandal	KARIMNAGAR	Rural	46	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
911	MADDULAPALLY(WITH IN 1KM FROM MADDULAPALLY CHOWRASTA), Pegdapalli Mandal	JAGITIAL	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
912	Tadkole X Road to Maddelacheruvu X Road on LHS, BanswadaMandal	KAMAREDDY	Rural	46	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
913	Chegomma village limits on main road towards Kusumanchi, Kusimanchi Mandal	Khammam	Rural	46	OPEN CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
914	Vemulawada (Between Vijaya bank and baddipochamma temple), Vemulawada Mandal	RAJANNA SIRCILLA	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
915	Rajeshwarapuram village limits on Nelakondapalli- Kusumanchi Road, NELAKONDAPALLI Mandal	Khammam	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
916	GHANPUR RAILWAY STATION - IPPAGUDA, Station Ghanpur Mandal	JANGAON	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
917	KALESHWARAM VILLAGE, Mahadevapur Mandal	JAYASHANKAR BHUPALPALLY	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
918	Damsalapuram village limits on Khammam to Bonakal Road on LHS, Khammam Mandal	Khammam	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
919	Kalakota village limits on Wyra to Madhira Road, Bonakal Mandal	Khammam	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
920	EDLAPALLI ON MANTHANI TO KATARAM ROAD, MALHRRAO Mandal	JAYASHANKAR BHUPALPALLY	Rural	46	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3

921	Ganugapadu village limits on Julurpadu-Chandrugonda Road, CHANDRUGONDA Mandal	BHADRADRI KOTHAGUDEM	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
922	Chinnakorukondi village limits on Kallur to Madhira road, Kallur Mandal	Khammam	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
923	Lalapuram village limits on Pallipadu-Enkoor road, Konijerla Mandal	Khammam	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
924	LOTHUNUR, GOLLAPALLI MANDAL	JAGITIAL	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
925	Pallagutta Village Limits, Station Ghanpur Mandal	JANGAON	Rural	46	sc	CFS	20	20	400	0	0	Draw of Lots	0	2
926	Gubbakurthi & Pedda Ramapuram village limits on Pallipadu- Enkoor road, Konijerla Mandal	Khammam	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
927	Beerolu village limits on Dammaigudem-Solipuram road in Khammam, Kusumanchi Mandal	Khammam	Rural	46	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
928	RAMADUGU(ON RAMDUGU TO GOPAL RAOPET ROAD), Ramadugu Mandal	KARIMNAGAR	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
929	GUDIPET VILLAGE NOT ON NH, Hazipur Mandal	MANCHERIAL	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
930	Chandrupatla village on Kallur to Raghunath Banjara road, Kallur Mandal	Khammam	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
931	Proddutur village on Konijerla to Ravinuthala road, Chintakani Mandal	Khammam	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
932	VARSHAKONDA (ON IBHRAHIMPATNAM TO YERGATLA ROAD), Ibrahimpatnam Mandal	JAGITIAL	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
933	Within 1 KM from Aswaraopeta circle towards Kukunoor road, ASWARAOPET Mandal	BHADRADRI KOTHAGUDEM	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
934	Allapalli village limits on Ananthogu and Markode Road, ALLAPALLI Mandal	BHADRADRI KÖTHAGUDEM	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
935	Kodumuru village limits , Chinthakani Mandal	KHAMMAM	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
936	GANGADHARA (ON GANGADHARA TO BURUGUPALLI ROAD- WITH IN 1 KM FROM NH 563), Gangadhara Mandal	KARIMNAGAR	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
937	Ramanujavaram village limis on Mittapalli to Kurnavalli road, Tallada Mandal	Khammam	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
938	NARSAPUR VILLAGE NOT ON NH, Narsapur Mandal	NIRMAL	Rural	46	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	2
939	Birepalli, Vemsur Mandal	KHAMMAM	Rural	46	OBC PH	DC	20	20	400	12	30	Draw of Lots	5	3
940	Bhanapuram village limits on Mudigonda-Jaggayyapeta Road, Mudigonda Mandal	Khammam	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
941	MUTHAM PETA-KOWTHALA ROAD, (WITHIN 2 KMS FROM KOWTHALA), Kowthala Mandal	KOMARAM BHEEM ASIFABAD	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
942	Venkakateshwarla Palle, Station Ghanpur Mandal	JANGAON	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
943	TALAMADUGU, Talamagudu Mandal	ADILABAD	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
944	JAINATH, Jainath Mandal	ADILABAD	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
945	JALALPUR Village(Within 1 Km from Jalalpur X Roads towards Mudhole), Mudhole Mandal	NIRMAL	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
946	Lingampally to Sripathypally , Bachannapeta Mandal	JANGAON	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
947	Sublaid village limits on sublaid to Madiripuram road, THIRUMALAYAPALEM Mandal	KHAMMAM	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
948	Parlapalli village(1Km from Yellamma temple to pochamma gudi), Thimmapur Mandal	KARIMNAGAR	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
949	ANAKUNTA, Adilabad Mandal	ADILABAD	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
950	NENNELA, Nennela Mandal	MANCHERIAL	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4

		ı			I	r	r				I	1		
951	Kootigal Village Limits, Maddur Mandal	JANGAON	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
952	Donkeshwar Village, Nandipet Mandal	NIZAMABAD	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
953	Maddur Village Limits, Maddur Mandal	JANGAON	Rural	46	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
954	LINGALA GANPUR (Within VILLAGE LIMITS), Lingala Ganpur Mandal	JANGAON	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
955	Nekkonda town limits (on mahabubabad kesamudram road), Nekkonda Mandal	WARANGAL RURAL	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
956	KUBEER, Kubeer Mandal	NIRMAL	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
957	Parvatagiri, Parvatagiri Mandal	WARANGAL RURAL	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
958	SAMUDRALA(Main road towards Palakurthy), Palakurthy Mandal	JANGAON	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
959	Annaram shareef, Paavatagiri Mandal	WARANGAL RURAL	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
960	Nadikuda(on Parkal to Kamalapur Road), Parkal Mandal	WARANGAL RURAL	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
961	Padkal Village (jakranpalli Mandal)	NIZAMABAD	Rural	46	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
962	MALLIKUDURLA (Within VILLAGE LIMITS), Dharmasgar Mandal	WARANGAL URBAN	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
963	Gavicharla, Sangem Mandal	WARANGAL RURAL	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
964	Vasanthapur , Shyampet Mandal	WARANGAL RURAL	Rural	46	OPEN PH	DC	20	20	400	12	30	Draw of Lots	5	4
965	Kalyapur Village (Renjal Mandal)	NIZAMABAD	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
966	QUILESHAPUR (within VILLAGE LIMITS), RAGHUNATHPALLY Mandal	JANGAON	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
967	Girnibavi Village(On Warangal to Narsampet Road), Duggondi Mandal	WARANGAL RURAL	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
968	BETWEEN PALAKURTHY - MONDRAI on Main road, Palakurthy Mandal	JANGAON	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
969	Vangapahad, Hasanparthy Mandal	WARANGAL URBAN	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
970	Kalwala, Kesamudram Mandal	MAHABUBABAD	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
971	Pusapally (on Mahabubabad to kesamudram road), Mahabubabad Mandal	MAHABUBABAD	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
972	Kotteru G, Mahabubabad Mandal	MAHABUBABAD	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
973	Thorrur in Palakurthy Mandal (within village limits), Palakurthy Mandal	JANGAON	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
974	MUTHNOOR, Indravelly Mandal	ADILABAD	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
975	Lakshmipuram Village, Parkal Mandal	WARANGAL RURAL	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
976	DONABANDA VILLAGE NOT ON NH, HAZIPUR Mandal	MANCHERIAL	Rural	46	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
977	DHARMASAGAR Village (on Madikonda Road), Dharmasagar Village	WARANGAL URBAN	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
978	Edulagattepalle village(1km from Edulagattepalle village towards Annaram village on road side), Manakondur Mandal	KARIMNAGAR	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
979	YELLUR , PENCHIKALPETA Mandal	KOMARAM BHEEM ASIFABAD	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
980	BETWEEN MALLAKKAPALLI AND KONDAPARTHY , Warangal Mandal	WARANGAL URBAN	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3

981	MARTHIDI, Bejjur Mandal	KOMARAM BHEEM ASIFABAD	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
982	Between Kistagudem and Kolukonda on main road towards Palakurthy, Lingalaghanpur Mandal	JANGAON	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
983	GADIGUDA, Narnoor Mandal	ADILABAD	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
984	Unikicherla village Limits , Dharmasagar Mandal	WARANGAL URBAN	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
985	Between Yerragutta cross to Ambala Village on main road towards Parkal, Kamlapur Manda	WARANGAL URBAN	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
986	Elukurthy haveli, Geesukonda Mandal	WARANGAL RURAL	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
987	Porandla village(1km from Primary Agricultural Co operative Bank on Porandla road), Thimmapur Mandal	KARIMNAGAR	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
988	Shivunipally Village Limits, Station Ghanpur Mandal	JANGAON	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
989	Chigurumamidi village(1km from Andhra bank on Husnabad- karimnagar road), Chigurumamidi Mandal	KARIMNAGAR	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
990	Mogilicherla , Kuravi Mandal	MAHABUBABAD	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
991	Jeedikallu Village Limits , Lingala Ghanpur Mandal	JANGAON	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
992	Vemanoor Village on Rajarampalli-Basanthnagar Road, Palkurthi Mandal	PEDDAPALLI	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
993	Odithala, Chityal Mandal	JAYASHANKAR BHUPALPALLY	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
994	Paidipally, Warangal Mandal	WARANGAL RURAL	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
995	Between Narmetta to Agapet . Narmetta Mandal	JANGAON	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
996	LOKHARI, Gadiguda Mandal	ADILABAD	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
997	Mallikudurlu, Velair Mandal	WARANGAL URBAN	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
998	Medaram, Tadvai Mandal	JAYASHANKAR BHUPALPALLY	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
999	Between Agapet to Machupahad, Narmetta Mandal	JANGAON	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1000	Siddapur, Hasanparty Mandal	WARANGAL URBAN	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1001	Lingannapet village(ZP high school lingannapet to Durgamatha temple lingannapet on main road) , Gambhiraopet Mandal	RAJANNA SIRCILLA	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1002	Kunur Village Limits, Zaffargadh Mandal	JANGAON	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1003	Rangaiahpally, Regonda Mandal	JAYASHANKAR BHUPALPALLY	Rural	46	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1004	Velchal, Chityal Mandal	JAYASHANKAR BHUPALPALLY	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1005	Gangaram, Gangaram Mandal	MAHABUBABAD	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1006	Pamnur to Uppugal, , Zaffargadh Mandal	JANGAON	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1007	Utoor Village(1km from Utoor post office towards Gattepally on Utoor Gattepally road), Manakondur Mandal	KARIMNAGAR	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1008	Alair, Nellikudur Mandal	MAHABUBABAD	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1009	Raigudem village limits on Nelakondapalli to Vallabhi road, NELAKONDAPALLI Mandal	КНАММАМ	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1010	Thimmapeta Village Limits, Zaffargadh Mandal	JANGAON	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
•	•			•										

1011	Nandipet (From Chakali Illamma Chowrasta to Pochamma Temple, Nandipet), Nandipet Mandal	NIZAMABAD	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1012	Indalwai (Not on NH), Indalwai Mandal	NIZAMABAD	Rural	46	OPEN CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
1013	Venkatapuram Village Limits, Inavolu Mandal	WARANGAL URBAN	Rural	46	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
1014	Peruvancha village limits on Kallur to Thiruvur Road, Kallur Mandal	KHAMMAM	Rural	46	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
1015	Sarvapur(GOURARAM X ROAD TO GANDIVET X ROAD, on LHS), Ghandari Mandal	KAMAREDDY	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1016	Gannaram Shivar(Birkur 5km Stone to Baswapur X Road on LHS on Birkur Pothangal road), Kotagiri Mandal	NIZAMABAD	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1017	Raghunathapalle Village Limits, Zaffergadh Mandal	JANGAON	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1018	Laxmipuram village limits on Khammam-Vallabhi Road, Mudigonda Mandal	Khammam	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1019	BADANKURTHI, Khanapur Mandal	NIRMAL	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1020	Nampally village (Telangana Thalli statue to Sree Raja Rajeshwara Swamy Devastanam Road), Vemulawada Mandal	KARIMNAGAR	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1021	Chennur Village Limits, Palakurthy Mandal	JANGAON	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1022	Peddamallareddy Village, Bhiknoor Mandal	KAMAREDDY	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1023	Kothapet (on yellandu to Mahabubabad Road on LHS), Byarram Mandal	MAHABUBABAD	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1024	Ootpally (on Bellal-Mosra Road), Bodan Mandal	NIZAMABAD	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1025	Garnepally Village Limits, Zaffergadh Mandal	JANGAON	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1026	Vannel B Village, Balkonda Mandal	NIZAMABAD	Rural	46	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1027	Gannavaram village limits on Rebbavaram to Nemali Road, Wyra Mandal	KHAMMAM	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1028	Kanchanapally Village Limits, Raghunathapally Mandal	JANGAON	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1029	Kaldurki Village, Bodhan Mandal	NIZAMABAD	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1030	Ankole, Birkur Mandal	KAMAREDDY	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1031	Kadavendi Village Limits, Devaruppula Mandal	JANGAON	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1032	Gangirenigudem, Shyampet Mandal	WARANGAL RURAL	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1033	On Satapur Gate Road( from Yedapally to ARP Road), Yedapally Mandal	NIZAMABAD	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1034	Within 1km from Koyagutta X Road towards Gandhari(on Banswada to Gandhari Road), Banswada Mandal	KAMAREDDY	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1035	Tigaram Village Limits, Zaffergadh Mandal	JANGAON	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1036	Bonakal village limits within 1 KM from Rly Flyover towards Khammam side on LHS, Bonakal Mandal	KHAMMAM	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1037	Suddala (towards Kanagarthi road), Konaraopet Mandal	Rajanna sircilla	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1038	Agriculture Marketyard arch(on Korapalli road) to Mandal Praja parishad office Jammikunta on RHS, Jammikunta Mandal	KARIMNAGAR	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1039	Thatikonda Village Limits , Station Ghanpur Mandal	JANGAON	Rural	46	OBC PH	DC	20	20	400	12	30	Draw of Lots	5	3
1040	POOSALA , SULTHNABAD MANDAL	PEDDAPALLI	Rural	46	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	2
	•													

1041	1km from Sirsapally X road on Huzrabad to Jammikunta road, towards Jammikunta on RHS, Huzurabad Mandal	KARIMNAGAR	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1042	Within 2KM from Telangana Thalli Statue towards Chekkapally Bye-pass Road , Vemulawada Mandal	KARIMNAGAR	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1043	Between Tarigoppula and Narmetta, Nermetta Mandal	JANGAON	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1044	KUKKALAGUDUR(ON -DHARMARAM TO KANNALA ROAD), PALAKURTHI Mandal	PEDDAPALLI	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1045	TAMSI, TAMSI Mandal	ADILABAD	Rural	46	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
1046	VENNAMPALLI ON PEDDPALLI TO KALVA SRIRAMPUR ROAD, Srirampura Mandal	PEDDAPALLI	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1047	Kodakandla Village Limits, Kodakandla Mandal	JANGAON	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1048	TELUKUNTA, JULLAPLLI Mandal	PEDDAPALLI	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1049	Honnajipet Village, Dharpally Mandal	NIZAMABAD	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1050	Pragathi Singaram, Shyampet Mandal	WARANGAL RURAL	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1051	MATCHUPETA, MUTHARAM Mandal	PEDDAPALLI	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1052	PUTNOOR ON DHARAMARAM TO KANNALA ROAD, PALAKURTHI Mandal	PEDDAPALLI	Rural	46	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
1053	Jalalpur village, Varni Mandal	NIZAMABAD	Rural	46	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
1054	Bhavanipet village, Bodan Mandal	NIZAMABAD	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
1055	KACHAPUR (VILLAGE)ON KACHAPUR TO KUMMARI KUNTA ROAD, JULLAPLLI Mandal	PEDDAPALLI	Rural	46	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
1056	MANCHERIAL TOWN ON LAXMI TALKIES - LUXETTIPET BYEPASS ROAD.	MANCHERIAL	Regular	100	OBC	СС	20	20	400	25	10	Bidding	30	4
1057	MANCHERIAL MUNCIPAL LIMITS ON MANDAMARRI- GODAVARIKHANI ROAD	MANCHERIAL	Regular	100	ST	CFS	20	20	400	0	0	Draw Of Lots	0	3
1058	Karimnagar( Between Karimnagar District Court and Spencers Retail, Chaitanyapuri) on RHS	KARIMNAGAR	Regular	130	OPEN	cc	25	35	875	25	10	Bidding	30	5
1059	SULTANABAD (SHASTRI NAGAR TO SRI RAMPUR X ROAD) ON SH-1 LHS	PEDDAPALLI	Regular	100	OPEN	cc	30	35	1050	25	10	Bidding	30	5
1060	NIRMAL TOWN ON BUS STAND ROAD	NIRMAL	Regular	100	OBC	DC	20	20	400	25	45	Draw Of Lots	15	4
1061	BOATH X ROADS TO NEERADIGONDA ON NH 44 (ON LHS)	ADILABAD	Regular	150	SC	CFS	35	45	1575	0	0	Draw Of Lots	0	3
1062	Between 36 KMs to 35 KMs mile stone on SH42 towards Suryapet LHS in Kusumanchi village limits	KHAMMAM	Regular	100	OPEN	cc	35	35	1225	25	10	Bidding	30	5
1063	Nizamabad (On Gowdown Road near Railway Station)	NIZAMABAD	Regular	100	OPEN CC 1	DC	20	20	400	25	45	Draw Of Lots	15	5
1064	ON BHAINSA BELTARODA ROAD ON NH61 ON LHS (WITHIN 10 KMS FROM BHAINSA)	NIRMAL	Regular	150	OBC	DC	35	45	1575	25	75	Draw Of Lots	15	4
1065	REBBENA TO KAGAZNAGAR X ROADS ON SH1 ON LHS	KOMARAM BHEEM ASIFABAD	Regular	100	SC	CFS	35	45	1575	0	0	Draw Of Lots	0	3
1066	Within 1 Kms from Pochampad X Road towards Armoor on NH44 on LHS	NIZAMABAD	Regular	150	OPEN	сс	35	45	1575	25	10	Bidding	30	5
1067	Kamareddy(Within 300m from NH44 towards Kamareddy on Sircilla-Kamareddy Road ) on LHS	KAMAREDDY	Regular	100	OPEN	сс	35	35	1225	25	10	Bidding	30	5
1068	Saloora (500 Mts from Ambedkar Statue towards Narsi) on RHS	NIZAMABAD	Regular	100	OBC	DC	35	35	1225	25	60	Draw Of Lots	15	4
1069	Yedapally (Within 500m from Yedapally Mangalpahad Chourastha towards nizamabad) on RHS	NIZAMABAD	Regular	100	OPEN	CC	35	35	1225	25	10	Bidding	30	5
1070	MANUGURU MUNICIPAL LIMITS ON ETURUNAGARAM TO ASWAPURAM ROAD	BHADRADRI KOTHAGUDEM	Regular	100	ST	CFS	20	20	400	0	0	Draw Of Lots	0	3
-														

1071	Within 300 metres from Nekkonda-Enugal cross towards Sai Reddy pallem	WARANGAL RURAL	Regular	100	OPEN	СС	30	30	900	25	10	Bidding	30	5
1072	on NH44 from Balkonda to Telangana University Dichpally LHS	NIZAMABAD	Regular	150	OBC	DC	35	45	1575	25	75	Draw Of Lots	15	4
1073	Bhupalapalli(Within 2.5 Kms from Singareni Area Hospital to Ambedkar Statue on NH353C)	JAYASHANKAR BHUPALPALLY	Regular	150	OPEN	СС	35	35	1225	25	10	Bidding	30	5
1074	ASFIBAD TO BURGUDA ON SH1	KOMARAM BHEEM ASIFABAD	Regular	100	SC PH	CFS	35	45	1575	0	0	Draw Of Lots	0	3
1075	SRIRAMPUR POLICE STATION TO SINGARENI GM OFFICE, SRIRAMPUR COLONY ON NH63 ON LHS	MANCHERIAL	Regular	150	OBC PH	DC	35	45	1575	25	75	Draw Of Lots	15	4
1076	Mahabubabad (within 2 Kms from railway over bridge on NH 365 on LHS)	MAHABUBABAD	Regular	150	OPEN	СС	35	35	1225	25	10	Bidding	30	5
1077	Mancherial town towards Bellampally (within 4 Kms from IB Chowrasta Ambedkar Statue) on LHS	MANCHERIAL	Regular	100	OPEN	СС	20	20	400	25	10	Bidding	30	5
1078	Nizamabad on Byepass Road (Within 2km from Kanteshwar Byepass Chowrasta towards Bodhan)	NIZAMABAD	Regular	100	OBC	DC	25	25	625	25	45	Draw Of Lots	15	4
1079	SRIRAMPUR POLICE STATION TO SINGARENI GM OFFICE, SRIRAMPUR COLONY ON NH63 ON RHS	MANCHERIAL	Regular	150	SC	CFS	35	45	1575	0	0	Draw Of Lots	0	3
1080	TANDUR IB CENTRE (AMBEDKAR STATUE) TO BELLMPALLY ON SH1 (3 KMS FROM IB CENTRE) ON LHS	MANCHERIAL	Regular	100	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1081	GOLETI-KHAIRIGUDA X ROADS TO TANDUR ON SH1(WITHIN 1 KM FROM GOLETI X ROAD ) ON LHS	KOMARAM BHEEM ASIFABAD	Regular	100	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1082	Nizamabad (Krishna Temple, Maruthi Nagar to RBVRR School on LHS)	NIZAMABAD	Regular	100	OBC	DC	20	20	400	25	45	Draw Of Lots	15	4
1083	Himamnagar village limits on Kothagudem to Khammam Road on SH12 on RHS	KHAMMAM	Regular	100	ST	CFS	35	45	1575	0	0	Draw Of Lots	0	3
1084	ADILABAD TOWN FROM COLLECTOR CHOWK TO MAVALA ON LHS	ADILABAD	Regular	100	OPEN	СС	20	20	400	25	10	Bidding	30	5
1085	BELLAL Y JUNCTION,KONDUKUR TO KADAM ON SH24	NIRMAL	Regular	100	OPEN	DC	35	35	1225	25	60	Draw Of Lots	15	5
1086	ON NIRMAL-BHAINSA ROAD WITHIN 3KMS FROM SHIVAJI CHOWK (ON RHS)	NIRMAL	Regular	100	OPEN	СС	20	20	400	25	10	Bidding	30	5
1087	Navipet (within 500 Mts. From Ayyappa Temple on Basra Road towards Basra) on RHS	NIZAMABAD	Regular	100	OBC	СС	35	35	1225	25	10	Bidding	30	4
1088	CHENNUR TO ARJUNGUTTA ON NH63	MANCHERIAL	Regular	150	SC	CFS	35	45	1575	0	0	Draw Of Lots	0	3
1089	YELLAMPETA TO MARRIPEDA ON NH563 ON LHS TOWARDS KHAMMAM	MAHABUBABAD	Regular	150	OPEN CC 1	DC	35	35	1225	25	75	Draw Of Lots	15	5
1090	Kamareddy (Within 3 Kms from RTO towards Kamareddy)	KAMAREDDY	Regular	100	OBC	DC	25	25	625	25	45	Draw Of Lots	15	4
1091	TANDUR IB CENTRE (AMBEDKAR STATUE) TO BELLMPALLY ON SH1 (3 KMS FROM IB CENTRE) ON RHS	MANCHERIAL	Regular	100	OPEN	CC	35	45	1575	25	10	Bidding	30	5
1092	Guthpa Village on Nizamabad Armoor Road LHS	NIZAMABAD	Regular	150	ST	CFS	35	45	1575	0	0	Draw Of Lots	0	3
1093	MYDARIPET TO NAGASAMUDRAM ON SH24	MANCHERIAL	Regular	100	OPEN	DC	35	35	1225	25	60	Draw Of Lots	15	5
1094	Bichukunda(within 2kms from bustand on either side)	KAMAREDDY	Regular	100	OBC	DC	20	20	400	25	45	Draw Of Lots	15	4
1095	ADILABAD TOWN (PUNJAB CHOWK TO TIRUPALLY GS ESTATE)	ADILABAD	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
1096	ADILABAD TOWN (VINAYAKCHOWK TO RANI SATHI TEMPLE ROAD WITHIN 1 KM)	ADILABAD	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
1097	RANGAMPALLI ON SH-1 TOWARDS KARIMNAGR LHS	PEDDAPALLI	Regular	100	SC CC 1	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1098	Between Singarajupally and Devaruppala on SH-9	JANGAON	Regular	100	OBC CC 1	DC	35	35	1225	25	60	Draw Of Lots	15	4
1099	CHILKAGUDA TO VENKATAPUR ON SH-24 ON LHS	MANCHERIAL	Regular	100	OPEN	DC	35	35	1225	25	60	Draw Of Lots	15	5
1100	MANCHERIAL IB CHOWRASTAH TO CCC X ROAD ON NH63 ON LHS	MANCHERIAL	Regular	150	OPEN PH	DC	35	45	1575	25	75	Draw Of Lots	15	5

1101	Between VRK SILKS & Allipuram cross roads on Mamatha Hospital Road in Khammam	KHAMMAM	Regular	100	SC	CFS	20	20	400	0	0	Draw Of Lots	0	3
1102	Kamareddy (Between Nizamsagar X Roads towards Collectorate till NH) on LHS	KAMAREDDY	Regular	100	OBC	DC	20	20	400	25	45	Draw Of Lots	15	4
1103	BHEEMARAM TALUK OFFICE TO KISTAMPET ON NH63 ON LHS	MANCHERIAL	Regular	150	OPEN	DC	35	35	1225	25	75	Draw Of Lots	15	5
1104	Banswada town Limits	KAMAREDDY	Regular	100	OBC	DC	20	20	400	25	45	Draw Of Lots	15	4
1105	Within 500 mtrs radius of Manchukonda Government Hospital on Khammam to Yellandu Road LHS	KHAMMAM	Regular	100	SC	CFS	30	30	900	0	0	Draw Of Lots	0	3
1106	CHENNUR ON KOTAPALLY ROAD WITHIN MUCIPAL LIMITS	MANCHERIAL	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
1107	MANDAMARRI TOWN LIMITS NOT ON SH	MANCHERIAL	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
1108	ADILABAD TOWN(BETWEEN TELANGANA CHOWK TO PUNJAB CHOWK)	ADILABAD	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
1109	Narakkapet ( on NH 365)	WARANGAL RURAL	Regular	150	OBC	DC	35	35	1225	25	75	Draw Of Lots	15	4
1110	Mohmmadnagar(Within 3 Kms from bustop towards Banswada-SH-6)	KAMAREDDY	Regular	100	ST	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1111	Within 1.2km from Bommakal-peddapally flyover towards Rampur Junction on SH1,LHS	KARIMNAGAR	Regular	100	OPEN	DC	35	35	1225	25	60	Draw Of Lots	15	5
1112	RAMAGUNDAM IOC DEPOT TO MEDIPALLI JUNCTION ON SH-1(L.H.S)	PEDDAPALLI	Regular	100	OPEN CC 1	DC	35	35	1225	25	60	Draw Of Lots	15	5
1113	Between Chinnapendiyal and Ghanpur on NH-163 L.H.S towards hyderabad	JANGAON	Regular	150	OBC	DC	35	45	1575	25	75	Draw Of Lots	15	4
1114	Bheemgal (on LHS within 500 mts from Ambedkar Chowrasta towards Elec. Substation)	NIZAMABAD	Regular	100	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1115	Sircilla(Sircilla collectorate to Siddipet on Bypass Road within 1KM),RHS	RAJANNA SIRCILLA	Regular	100	OPEN	CC	20	20	400	25	10	Bidding	30	5
1116	JANGAON Chowrastha and pembarthi on NH-163 on R.H.S towards hyderabad	JANGAON	Regular	150	OBC	DC	35	45	1575	25	75	Draw Of Lots	15	4
1117	Kothagattu Village(Mulangoor X Roads to Kothagattu Bus Stop on NH-563) on LHS	KARIMNAGAR	Regular	150	OPEN	СС	35	35	1225	25	10	Bidding	30	5
1118	Karimnagar(Within 300m from Opposite of Shatavahana University main gate towards Jagtial road ) on RHS	KARIMNAGAR	Regular	100	OPEN	СС	20	20	400	25	10	Bidding	30	5
1119	Lad Mavandi Shivar(Within 500m from Balaganapathi Agro Industries on SH6 towards Bodhan) on LHS	NIZAMABAD	Regular	100	ST	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1120	Mubaraknagar Area on NH	NIZAMABAD	Regular	150	OBC	DC	35	45	1575	25	75	Draw Of Lots	15	4
1121	KARIMNAGAR TOWN ,AMBEDKAR STADIUM TO FCI GODOWN(BHAGATNAGAR) on LHS	KARIMNAGAR	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
1122	Karimnagar( from NTR Statue-Rampur Jn. to Ramachandrapur colony on Vemulawad Bye pass Road) LHS	KARIMNAGAR	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
1123	Within 3 Km from Urusugutta X Road towards Kazipet on LHS	WARANGAL URBAN	Regular	150	SC	CFS	30	30	900	0	0	Draw Of Lots	0	3
1124	SIRPUR TOWN ON KAGAZNAGAR ROAD	MANCHERIAL	Regular	100	OBC	DC	20	20	400	25	45	Draw Of Lots	15	4
1125	Siricilla(from Old bus Stand towards Karimnagar within 1 KM) on LHS	RAJANNA SIRCILLA	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
1126	Devakkapaily Village on SH-1(Gundlapaily to Bejjanki) on LHS	KARIMNAGAR	Regular	100	OPEN	DC	35	35	1225	25	60	Draw Of Lots	15	5
1127	Karimnagar(Asian Shiva Theater to Shatavahana University,Jyothi Nagar) on LHS	KARIMNAGAR	Regular	100	OBC	DC	20	20	400	25	45	Draw Of Lots	15	4
1128	Between Gopa Thanda to Yellampeta RTC Bus Stand on NH-563 LHS towards Maripeda	MAHABUBABAD	Regular	150	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1129	KARIMNAGAR TOWN ,Kaman junction to housing board junction(LHS)	KARIMNAGAR	Regular	100	OPEN	СС	20	20	400	25	10	Bidding	30	5
1130	ENDAPALLI-ON SH-7	JAGITIAL	Regular	100	OPEN	СС	35	35	1225	25	10	Bidding	30	5
-	-		-		-									

1131	Chintakunta to Odyaram (on SH-11)	KARIMNAGAR	Regular	115	OBC	DC	35	35	1225	25	60	Draw Of Lots	15	4
1132	BETWEEN RAGAVAPUR AND RAGHUNATHAPALLY ON NH-163 (R.H.S. TOWARDS HYDERABAD)	JANGAON	Regular	150	ST	CFS	35	45	1575	0	0	Draw Of Lots	0	3
1133	Velgatur on SH - 7	JAGITIAL	Regular	100	OPEN	СС	35	35	1225	25	10	Bidding	30	5
1134	GANGADHARA- ON NH 563	KARIMNAGAR	Regular	150	OPEN	DC	35	35	1225	25	75	Draw Of Lots	15	5
1135	Nagunoor bridge to Pratima medical College on SH7,LHS	KARIMNAGAR	Regular	100	OBC	DC	35	35	1225	25	60	Draw Of Lots	15	4
1136	MANCHINEELLA BHAVI- ON JAGTAIL TO NIZAMABAD ROAD(ON LHS)	JAGITIAL	Regular	150	OPEN	СС	20	20	400	25	10	Bidding	30	5
1137	Between Thanamcharla Village to Thanamcherla Electrical Substation on NH-365 on RHS	MAHABUBABAD	Regular	150	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1138	Shivanagar(Ramachandrapur Overhead water tank to Ramnagar on Vemulawada Bye passs road) RHS	KARIMNAGAR	Regular	100	OBC	DC	20	20	400	25	45	Draw Of Lots	15	4
1139	SHIVA PALLI ON SH-1(TOWARDS RAMAGUNDAM ON LHS)	PEDDAPALLI	Regular	100	OPEN CC 1	DC	35	35	1225	25	60	Draw Of Lots	15	5
1140	PEDDAPALLI- SANTHI NAGAR- ON SH1(LHS) TOWARDS KARIMNAGAR	PEDDAPALLI	Regular	100	OPEN	СС	35	35	1225	25	10	Bidding	30	5
1141	Between Peddanagaram Vilalge to Yellampeta Village on NH-563 on RHS towards Maripeda	MAHABUBABAD	Regular	150	ST	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1142	With in 2km from Penchikal pet x road (towards Godvarikhani) on Pothana colony to Godavarikhani Road.	PEDDAPALLI	Regular	100	OBC	СС	25	25	625	25	10	Bidding	30	4
1143	GARIPELLI- ON RAMGUNDAM TO KARIMNAGAR ROAD ON SH-1(LHS)	PEDDAPALLI	Regular	100	OPEN	DC	35	35	1225	25	60	Draw Of Lots	15	5
1144	MAHADEVPUR(ON MAHADEVPUR TO BHUPALAPALLI ROAD)	JAYASHANKAR BHUPALPALLY	Regular	150	OPEN	DC	35	35	1225	25	75	Draw Of Lots	15	5
1145	Between Rampur and Yelkurthi on bypass on R.H.S. towards dharmasagar	WARANGAL URBAN	Regular	150	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1146	On LHS Perkit Chowrasta to NH44 (Not on NH)	NIZAMABAD	Regular	100	OBC	СС	25	25	625	25	10	Bidding	30	4
1147	ERRAGUNTAPALLI ON SH-7	PEDDAPALLI	Regular	100	OPEN	DC	35	35	1225	25	60	Draw Of Lots	15	5
1148	WITH IN 500 M FROM NH-63 ON METPALLI TO VELLULLA ROAD	JAGITIAL	Regular	100	OPEN CC 2	СС	35	35	1225	25	10	Bidding	30	5
1149	ON PRANAY MARG (From Subedari to 100 FEET)	WARANGAL URBAN	Regular	150	OBC CC 1	DC	20	20	400	25	60	Draw Of Lots	15	4
1150	Between Shamirpet and Bachannapet on SH-9	JANGAON	Regular	100	SC CC 1	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1151	WITH IN 500 METERS FROM MALYAL BUS STAND- ON MALYAL TO PEGADAPLLI ROAD	JAGITIAL	Regular	100	OPEN	CC	25	25	625	25	10	Bidding	30	5
1152	In Vanaparthy Village on SH-9 on LHS towards Suryapet	JANGAON	Regular	100	OPEN	СС	35	35	1225	25	10	Bidding	30	5
1153	Bodhan(within 1km from Ambedkar Statue towards Rudrur) on RHS	NIZAMABAD	Regular	120	OBC	DC	20	20	400	25	45	Draw Of Lots	15	4
1154	Bhupalpally ( RHS 3.5 kms from Jayashankar statue towards parkal )	JAYASHANKAR BHUPALPALLY	Regular	100	sc	CFS	25	25	625	0	0	Draw Of Lots	0	3
1155	VENKATAPURAM ON NH-63	JAGITIAL	Regular	150	OPEN	DC	35	35	1225	25	75	Draw Of Lots	15	5
1156	MARUTHI NAGAR ON NH-63	JAGITIAL	Regular	150	OPEN	DC	35	35	1225	25	75	Draw Of Lots	15	5
1157	BETWEEN GHANPUR AND CHAGAL ON NH-163 (L.H.S. TOWARDS HYDERABAD)	JANGAON	Regular	150	OBC	СС	35	45	1575	25	10	Bidding	30	4
1158	Keshavapuram village limits on Suryapet-Khammam Road SH42	KHAMMAM	Regular	100	OPEN	СС	30	30	900	25	10	Bidding	30	5
1159	Kotulanaduma on NH563 on LHS	KARIMNAGAR	Regular	150	ST	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1160	Pallipadu village limits on Khammam to wyra road SH42	KHAMMAM	Regular	100	OPEN	CC	30	30	900	25	10	Bidding	30	5

	T			,										
1161	BETWEEN MYLARAM AND VELIKATTA ON NH-563 (R.H.S. TOWARDS KHAMMAM)	WARANGAL RURAL	Regular	150	OBC	DC	35	35	1225	25	75	Draw Of Lots	15	4
1162	8 INCLINE COLONY	PEDDAPALLI	Regular	100	OPEN CC 1	DC	25	25	625	25	45	Draw Of Lots	15	5
1163	Nizamabad(Gurubabadi area)	NIZAMABAD	Regular	100	sc	CFS	25	25	625	0	0	Draw Of Lots	0	3
1164	BETWEEN RAGAVAPUR AND RAGHUNATHAPALLY ON NH-163(L.H.S. TOWARDS HYDERABAD)	JANGAON	Regular	150	OBC	DC	35	45	1575	25	75	Draw Of Lots	15	4
1165	Muthagudem village limits on NH 221	KHAMMAM	Regular	150	OPEN	СС	35	35	1225	25	10	Bidding	30	5
1166	Ravinuthala village limits on Bonakal to Wyra Road RHS	KHAMMAM	Regular	100	OPEN	CC	30	30	900	25	10	Bidding	30	5
1167	Warangal ( gopalpur cross road to Jawarhar nagar road)	WARANGAL URBAN	Regular	150	OBC	DC	20	20	400	25	60	Draw Of Lots	15	4
1168	Govindaraopet (on NH 163)	JAYASHANKAR BHUPALPALLY	Regular	150	ST	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1169	Between Khammam ZP Circle & Church Compound Bridge RHS	KHAMMAM	Regular	100	OPEN	CC	20	20	400	25	10	Bidding	30	5
1170	Within 1 KM from Bhadrachalam Road Rly station towards Bhajanamandir Road on RHS in Kothagudem town	BHADRADRI KOTHAGUDEM	Regular	100	OPEN	CC	20	20	400	25	10	Bidding	30	5
1171	Bollonipally (on NH 365 from Mallampalli to Narsampet on LHS)	WARANGAL RURAL	Regular	150	OBC	CC	35	35	1225	25	10	Bidding	30	4
1172	BETWEEN GUDEPAD & PARKAL LHS ON NH353C	JAYASHANKAR BHUPALPALLY	Regular	150	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1173	Within 1 KM from Govind Centre, Yellandu towards Mehabubabad	BHADRADRI KOTHAGUDEM	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
1174	Between 18 to 19 KM stone (old no.) on Khammam to Kodad road RHS in Nelakondapalli village limit	KHAMMAM	Regular	150	OPEN	DC	35	35	1225	25	75	Draw Of Lots	15	5
1175	Between Nidigonda and Yeswanthapur on NH-163 on R.H.S. towards Hyderabad	JANGAON	Regular	150	OBC PH	DC	35	45	1575	25	75	Draw Of Lots	15	4
1176	MANCHERIAL TOWN ON HAMALIWADA GOPALWADA ROAD	MANCHERIAL	Regular	100	ST PH	CFS	20	20	400	0	0	Draw Of Lots	0	3
1177	Nizamabad town - Lalitha Mahal Theatre to Mahalaxmi Temple, Gurubabadi	NIZAMABAD	Regular	100	OPEN	СС	20	20	400	25	10	Bidding	30	5
1178	SFS Chowrasta to Brilliant Grammer Highschool, Namdevwada - on LHS, Nizamabad Town	NIZAMABAD	Regular	100	OPEN	СС	20	20	400	25	10	Bidding	30	5
1179	Between Atmakur and Neerukulla cross on NH163	WARANGAL RURAL	Regular	150	OBC	DC	35	35	1225	25	75	Draw Of Lots	15	4
1180	From Kanteshwar Bypass Chowrasta to Railway Track on LHS on Nizamabad Bypass road	NIZAMABAD	Regular	100	OPEN	СС	20	20	400	25	10	Bidding	30	5
1181	Dharmaram(On NH 365 from maripeda bunglow to kuravi on RHS)	MAHABUBABAD	Regular	150	ST	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1182	Within 2Kms from Bodhan Bus Stand in Nizamabad towards Bhodan	NIZAMABAD	Regular	100	OPEN	СС	20	20	400	25	10	Bidding	30	5
1183	Jakkaram(On NH 163)	JAYASHANKAR BHUPALPALLY	Regular	150	OBC	DC	35	35	1225	25	75	Draw Of Lots	15	4
1184	Nizamabad town from Phulong Chowrasta to Pangra Bridge	NIZAMABAD	Regular	100	OPEN	СС	20	20	400	25	10	Bidding	30	5
1185	Karimnagar(NTR Statue, Rampur Jn.to Kaman junction)	KARIMNAGAR	Regular	100	SC	CFS	20	20	400	0	0	Draw Of Lots	0	3
1186	Machapur (on NH 163)	JAYASHANKAR BHUPALPALLY	Regular	150	OBC	СС	35	35	1225	25	10	Bidding	30	4
1187	On Nizamabad Hyderabad Road, within 1km from Bypass Cross towards Dichpally on LHS	NIZAMABAD	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
1188	Bheemgal New Busstand to Babapoor Gram Panchayath	NIZAMABAD	Regular	100	OPEN CC 1	DC	25	25	625	25	45	Draw Of Lots	15	5
1189	Nizamabad(Phulong Chourastha to Varni Chourastha)	NIZAMABAD	Regular	100	OBC	DC	20	20	400	25	45	Draw Of Lots	15	4
1190	MANDAMARRI TO BELLAMPALLI ROAD ON SH1	MANCHERIAL	Regular	100	SC	CFS	35	45	1575	0	0	Draw Of Lots	0	3
	I.	1	l .	l	!	l		1	1	1	I .	1		

1191	Devi Theatre to SBI Vinayak Nagar on 1st Mayor Street Nizamabad	NIZAMABAD	Regular	100	OPEN	CC	20	20	400	25	10	Bidding	30	5
1192	Kondoor village on RHS from Nizamabad Janepally Road	NIZAMABAD	Regular	100	OPEN	СС	30	30	900	25	10	Bidding	30	5
1193	BETWEEN SUBEDARI POLICE STATION AND KAZIPET BYPASS ROAD (100ft ROAD)	WARANGAL URBAN	Regular	150	OBC	СС	20	20	400	25	10	Bidding	30	4
1194	Rajupeta	JAYASHANKAR BHUPALPALLY	Regular	150	ST	CFS	25	25	625	0	0	Draw Of Lots	0	3
1195	Armoor (Ambedkar Statue to Armoor Post Office)	NIZAMABAD	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
1196	Bussapur on NH-44 (LHS towards Nirmal Within 3Kms from Nirmal 18 Kms Stone)	NIZAMABAD	Regular	150	OPEN	СС	45	45	2025	25	10	Bidding	30	5
1197	On Quila Road within 1.5 Km from Bhodhan Bus Stand in Nizamabad	NIZAMABAD	Regular	100	OPEN	СС	20	20	400	25	10	Bidding	30	5
1198	ON HUNTER ROAD - FROM SR JUNIOR COLLEGE TO WARANGAL RAILWAY JUNCTION	WARANGAL URBAN	Regular	150	OBC CC 1	DC	20	20	400	25	60	Draw Of Lots	15	4
1199	HIMAM NAGAR VILLAGE Limits on Kothagudem- Thallada Road (LHS)	KHAMMAM	Regular	100	ST CC 1	CFS	35	30	1050	0	0	Draw Of Lots	0	3
1200	Devunipalli shivar on SH11 (Jeevdan high school to SPR School LHS)	KAMAREDDY	Regular	100	OPEN PH	СС	35	35	1225	25	10	Bidding	30	5
1201	Between Yelkurthi and Dharmasagar on bypass on L.H.S. towards dharmasagar	WARANGAL URBAN	Regular	150	OBC	DC	35	35	1225	25	75	Draw Of Lots	15	4
1202	BANSWADA MRO office to Koyagutta X Roads on SH6 on LHS	KAMAREDDY	Regular	100	OPEN	DC	35	35	1225	25	60	Draw Of Lots	15	5
1203	MAMDA TO NIRMAL ON SH24 (WITHIN 5 KMS FROM MAMDA)	NIRMAL	Regular	100	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1204	Narsannapally on NH44 Towards Hyderabad on LHS (Within 3 Kms from 108 km Stone No.389)	KAMAREDDY	Regular	150	OPEN	DC	35	45	1575	25	75	Draw Of Lots	15	5
1205	Between Nawabpet and Vanaparthy on SH-9 RHS towards Janagaon	JANGAON	Regular	100	OBC	DC	35	35	1225	25	60	Draw Of Lots	15	4
1206	Nasrullabad on SH-6(Banswada towards Varni) on LHS	KAMAREDDY	Regular	100	OPEN	DC	35	35	1225	25	60	Draw Of Lots	15	5
1207	Basvapura Shivara(Within 1km from Durki Chowrasta towards Varni) on RHS	KAMAREDDY	Regular	100	OPEN	СС	35	35	1225	25	10	Bidding	30	5
1208	Mahabubabad within Municipal Limits	MAHABUBABAD	Regular	100	ST	CFS	20	20	400	0	0	Draw Of Lots	0	3
1209	BETWEEN NEW SHYAMPET CIRCLE TO HANAMKONDA CHOWRASTA	WARANGAL URBAN	Regular	150	OBC	СС	20	20	400	25	10	Bidding	30	4
1210	Bodhan(Towards Nizamabad within 3kms from Ambedkar Circle)	NIZAMABAD	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
1211	Banswada MRO Office to Koyagutta X Road on RHS	KAMAREDDY	Regular	100	OPEN CC 1	DC	35	35	1225	25	60	Draw Of Lots	15	5
1212	Lankapalli village limits on Khammam to Sattupalli Road on SH42	КНАММАМ	Regular	100	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1213	BETWEEN THORRUR AND DANTALAPALLY (NH-563 ON L.H.S. TOWARDS KHAMMAM)	MAHABUBABAD	Regular	150	OBC	DC	35	35	1225	25	75	Draw Of Lots	15	4
1214	Armoor town (on RHS from Mamidipally Chourastha to Union Bank of India Perkit)	NIZAMABAD	Regular	100	OPEN	СС	20	20	400	25	10	Bidding	30	5
1215	Kamareddy muncipality Limits (From Nizamsagar X Road towards Tadwai) ON LHS	KAMAREDDY	Regular	100	OPEN	СС	20	20	400	25	10	Bidding	30	5
1216	BETWEEN PEMBARTHI AND YESHWANTHAPUR ON NH-163 BYPASS LHS towards Warangal	JANGAON	Regular	150	OBC	СС	35	45	1575	25	10	Bidding	30	4
1217	Kallur town limits on Khammam to Sattupalli Road RHS on SH42	KHAMMAM	Regular	100	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1218	Yellareddy (From Court towards Nizamsagar within 3kms) on LHS	KAMAREDDY	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
1219	Jannepally X Roads to Sarangapur on LHS	NIZAMABAD	Regular	100	OPEN	DC	35	35	1225	25	60	Draw Of Lots	15	5
1220	BETWEEN PEMBARTHI AND YESHWANTHAPUR ON NH-163 BYPASS RHS towards Warangal	JANGAON	Regular	150	OBC	DC	35	45	1575	25	75	Draw Of Lots	15	4
	I				<u> </u>	L	l	L			1	1		<u> </u>

1221	Between Sindura Nursery and Kanaka Durga Temple on Sattupalli to Aswaraopet road on SH42	KHAMMAM	Regular	100	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1222	Banswada (Bus Stand to tadkole x Road) on LHS	KAMAREDDY	Regular	100	OPEN	СС	20	20	400	25	10	Bidding	30	5
1223	Kanteswar to Pangra Bridge, Nizamabad Town Mainroad	NIZAMABAD	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
1224	MOTHER THERESA STATUE JN TO KAZIPET RLY JN CROSS (L.H.S TOWARDS HYDERABAD)	WARANGAL URBAN	Regular	150	OBC	DC	20	20	400	25	60	Draw Of Lots	15	4
1225	Vutukuru village limits on Khammam to Yellandu Road	KHAMMAM	Regular	100	SC	CFS	30	30	900	0	0	Draw Of Lots	0	3
1226	Bodhan Town Limits ( Within 2kms from Ambedkar Circle towards Rudrur on LHS)	NIZAMABAD	Regular	100	OPEN	СС	35	35	1225	25	10	Bidding	30	5
1227	Between Yeswanthapur and Jangaon Chowrastha on NH- 163	JANGAON	Regular	150	OBC	DC	35	45	1575	25	75	Draw Of Lots	15	4
1228	Lingampally on SH11	KAMAREDDY	Regular	100	OPEN	DC	35	35	1225	25	60	Draw Of Lots	15	5
1229	Tadwai (Within 1km from Shabari Matha Ashram towards Yellareddy on RHS on SH11)	KAMAREDDY	Regular	100	OPEN	DC	35	35	1225	25	60	Draw Of Lots	15	5
1230	Chinnaboinapally (Warangal to Eturunagaram on NH-163 on RHS)	JAYASHANKAR BHUPALPALLY	Regular	150	ST	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1231	Between Nawabpet and Vanaparthy on SH-9 LHS towards Janagaon	JANGAON	Regular	100	OBC	DC	35	35	1225	25	60	Draw Of Lots	15	4
1232	Dharmareddy(Within 3 Kms on LHS from Dharmareddy bustand towards Yellareddy)	KAMAREDDY	Regular	100	OPEN	DC	35	35	1225	25	60	Draw Of Lots	15	5
1233	Sarampally Shivar (Within 1km from 375/8 km Stone towards Kamareddy RHS)	KAMAREDDY	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
1234	Yerrapahad on SH11	KAMAREDDY	Regular	100	sc	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1235	Between Warangal R.T.O Chowrastha to Gavicharla X cross road on L.H.S.	WARANGAL URBAN	Regular	150	OBC	СС	20	20	400	25	10	Bidding	30	4
1236	JANGAON - SIDDIPET ROAD - WITHIN 1KM FROM JANGAON CHOWRASTHA	JANGAON	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
1237	Between Devaruppala and Mondrai on SH-9	JANGAON	Regular	100	OPEN CC 1	DC	35	35	1225	25	60	Draw Of Lots	15	5
1238	Within 2 Kms from Gavicherla X Road towards Warangal On LHS	WARANGAL URBAN	Regular	150	OBC	СС	20	20	400	25	10	Bidding	30	4
1239	Pochampad on NH44	NIZAMABAD	Regular	150	SC	CFS	35	45	1575	0	0	Draw Of Lots	0	3
1240	BETWEEN CHAGAL AND RAGAVPUR ON NH-163 (L.H.S. TOWARDS HYDERABAD)	JANGAON	Regular	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1241	MOTHER THERESA STATUE JN TO KAZIPET RLY JN CROSS (R.H.S TOWARDS HYDERABAD)	WARANGAL URBAN	Regular	150	OPEN	DC	20	20	400	25	60	Draw Of Lots	15	5
1242	Between Yelkurthi and Dharmasagar on bypass on R.H.S. towards dharmasagar	WARANGAL URBAN	Regular	150	OBC	DC	35	45	1575	25	75	Draw Of Lots	15	4
1243	Within 2 KMs Between New palvancha circle (Ambedkar circle) towards Kinnerasani road	BHADRADRI KOTHAGUDEM	Regular	100	ST	CFS	30	30	900	0	0	Draw Of Lots	0	3
1244	Between Nidigonda and Yeswanthapur on NH-163 on L.H.S. towards Hyderabad	JANGAON	Regular	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
1245	Warangal (Within 1 km from warangal railway station)	WARANGAL URBAN	Regular	150	OPEN	СС	20	20	400	25	10	Bidding	30	5
1246	Between Tekulagudern and Unikicherla on bypass on L.H.S. towards Unikicherla	WARANGAL URBAN	Regular	150	OBC	DC	35	45	1575	25	75	Draw Of Lots	15	4
1247	Warangal (Beat bazaar to Khammam road)	WARANGAL URBAN	Regular	150	OPEN	DC	20	20	400	25	60	Draw Of Lots	15	5
1248	Karimanagar (Collector office to Swetha Hotel, rearside)	KARIMNAGAR	Regular	100	SC CC 1	CFS	20	20	400	0	0	Draw Of Lots	0	3
1249	Warangal (Between Enumamula market to deshaipet on RHS)	WARANGAL URBAN	Regular	150	OPEN CC 2	DC	20	20	400	25	60	Draw Of Lots	15	5
1250	Hunter Road (from Adalath Circle - to Kakatiya Nature Cure Hospital)	WARANGAL URBAN	Regular	150	OBC CC 1	DC	20	20	400	25	60	Draw Of Lots	15	4

1251	Oglapur (on NH 163)	WARANGAL RURAL	Regular	150	OPEN	DC	35	35	1225	25	75	Draw Of Lots	15	5
1252	Singapuram on NH563	KARIMNAGAR	Regular	150	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1253	Between MGM Circle and Warangal Chowrastha on L.H.S	WARANGAL URBAN	Regular	150	OBC	DC	20	20	400	25	60	Draw Of Lots	15	4
1254	Mahabubabad (within 3 Kms from railway over bridge on NH 365 on RHS )	MAHABUBABAD	Regular	150	OPEN	DC	35	35	1225	25	75	Draw Of Lots	15	5
1255	Bethole (on NH 365)	MAHABUBABAD	Regular	150	OPEN	DC	35	35	1225	25	75	Draw Of Lots	15	5
1256	Between MGM Circle and Warangal Chowrastha on R.H.S	WARANGAL URBAN	Regular	150	OBC	DC	20	20	400	25	60	Draw Of Lots	15	4
1257	Burugampahad village limits on Palvancha to Sarapaka road	BHADRADRI KOTHAGUDEM	Regular	100	ST	CFS	30	30	900	0	0	Draw Of Lots	0	3
1258	Mahbubabad(Railway Station to Rama Mandiram Road on RHS)	MAHABUBABAD	Regular	100	OPEN	CC	20	20	400	25	10	Bidding	30	5
1259	Hanamkonda ( RHS Ambedkar statue to 100 feet road)	WARANGAL URBAN	Regular	150	OPEN	DC	20	20	400	25	60	Draw Of Lots	15	5
1260	Alugunur (Telangana Grameena Bank to IRIS World School on SH 1 on LHS)	KARIMNAGAR	Regular	100	OBC	DC	35	45	1575	25	60	Draw Of Lots	15	4
1261	Between K.U. Cross and Hasanparthy on L.H.S. on NH- 563 towards Karimnagar	WARANGAL URBAN	Regular	150	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1262	Armoor town (on LHS from Ambedkar Statue to Mamidipally Chourastha)	NIZAMABAD	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
1263	On Kothagudern new bypass road	BHADRADRI KOTHAGUDEM	Regular	100	OPEN CC 1	DC	35	35	1225	25	60	Draw Of Lots	15	5
1264	Hanamkonda (between Hanamkonda water tank and hanamkonda chowrasta)	WARANGAL URBAN	Regular	150	OBC	DC	20	20	400	25	60	Draw Of Lots	15	4
1265	Between Rampur and Chinnapendiyal on NH-163 L.H.S towards hyderabad	WARANGAL URBAN	Regular	150	SC	CFS	35	45	1575	0	0	Draw Of Lots	0	3
1266	KAGAZNAGAR TOWN ON EASGAON ROAD WITHIN KAGAZNAGAR URBAN LIMITS	KOMARAM BHEEM ASIFABAD	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
1267	METPALLY ON -NH63 (WITH IN MUNCIPAL LIMITS)	JAGITIAL	Regular	150	OPEN	CC	20	20	400	25	10	Bidding	30	5
1268	Gannaram on NH44	KAMAREDDY	Regular	150	OBC	DC	35	45	1575	25	75	Draw Of Lots	15	4
1269	Within 2 KMs from Sattupalli flyover towards Aswaraopet on SH42	KHAMMAM	Regular	100	OPEN	CC	35	35	1225	25	10	Bidding	30	5
1270	Athmakur ( on NH 163)	WARANGAL RURAL	Regular	100	ST	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1271	Tekulapalli village limits from VM Banjar to Kallur road SH42 on LHS	KHAMMAM	Regular	100	OPEN	DC	35	35	1225	25	60	Draw Of Lots	15	5
1272	Kamareddy to Tadwai on SH11	KAMAREDDY	Regular	100	OBC	DC	35	35	1225	25	60	Draw Of Lots	15	4
1273	Between Warangal cross roads and Nayudupeta cross roads on Khammam bypass road	KHAMMAM	Regular	100	OPEN	CC	35	35	1225	25	10	Bidding	30	5
1274	Kothapalli to Thotapalli on SH1	KARIMNAGAR	Regular	100	SC PH	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1275	Kothabadi on SH 11 ( Yellareddy to Banswada Road)	KAMAREDDY	Regular	100	OBC PH	DC	35	35	1225	25	60	Draw Of Lots	15	4
1276	Annarugudem village limits on Thallada-Enkoor Road SH12	KHAMMAM	Regular	100	OPEN	СС	35	35	1225	25	10	Bidding	30	5
1277	Between Tekulagudem and Unikicherla on bypass on R.H.S. towards Unikicherla	WARANGAL URBAN	Regular	150	OPEN	DC	35	35	1225	25	75	Draw Of Lots	15	5
1278	Bodhan town Limits ( From Ambedkar Chourastha towards Narsi within 2kms from Ambedkar Chourastha On LHS)	NIZAMABAD	Regular	100	OBC	DC	20	20	400	25	45	Draw Of Lots	15	4
1279	Within 5 Km from Urusugutta X Road towards Kazipet on RHS	WARANGAL URBAN	Regular	150	SC	CFS	25	25	625	0	0	Draw Of Lots	0	3
1280	HANUMAN STATUE IB MANCHERIAL TO GUDIPET ON NH63 ON LHS	MANCHERIAL	Regular	150	OPEN	DC	35	35	1225	25	75	Draw Of Lots	15	5

1281	KAGAZNAGAR X ROADS TO KAGAZNAGAR TOWN	KOMARAM BHEEM ASIFABAD	Regular	100	OPEN	DC	30	30	900	25	45	Draw Of Lots	15	5
1282	Kamareddy Muncipal Limits	NIZAMABAD	Regular	100	OBC	DC	20	20	400	25	45	Draw Of Lots	15	4
1283	Yedulla Bayyaram village limits on Manuguru to Eturunagaram road	KHAMMAM	Regular	100	ST	CFS	30	30	900	0	0	Draw Of Lots	0	3
1284	ON NIRMAL-MANCHERIAL ROAD WITHIN 1 KMS FROM SHIVAJI CHOWK	NIRMAL	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
1285	BHAINSA TOWN NOT ON NH	NIRMAL	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
1286	Mancherial town on Bellampally road(within 4 Kms from IB Chowrasta Ambedkar Statue) on RHS	MANCHERIAL	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
1287	Bodhan town Limits (From Ambedkar Chourastha to Shakkarnagar on RHS)	NIZAMABAD	Regular	100	OBC	DC	20	20	400	25	45	Draw Of Lots	15	4
1288	PANTHINI TO WARDANNAPET	WARANGAL URBAN	Regular	150	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1289	BETWEEN GUDIPET TO DONABANDA ON NH-63 RHS	MANCHERIAL	Regular	150	OPEN CC 1	DC	35	35	1225	25	75	Draw Of Lots	15	5
1290	Armoor Town Bus Stand to Perkit Chowrasta	NIZAMABAD	Regular	100	OBC	СС	20	20	400	25	10	Bidding	30	4
1291	GUDEM GUTTA TO UTUKUR ON NH63 LHS	MANCHERIAL	Regular	150	OPEN	СС	35	35	1225	25	10	Bidding	30	5
1292	Rompaid village limits on Yellandu to pakala road	KHAMMAM	Regular	105	ST	CFS	30	30	900	0	0	Draw Of Lots	0	3
1293	Ragudu(on Sircilla-Siddipet bypass Road)	RAJANNA SIRCILLA	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
1294	From Perkit X Roads to Kammarapally on LHS	NIZAMABAD	Regular	150	OBC	DC	35	45	1575	25	75	Draw Of Lots	15	4
1295	BETWEEN THORRUR & PEDDANAGARAM VILLAGE ON NH563(ON RHS TOWARDS KHAMMAM)	MAHABUBABAD	Regular	150	OPEN	СС	35	35	1225	25	10	Bidding	30	5
1296	Bommakkal-Peddapalli flyover to Mogdumpur on SH-1 on LHS	KARIMNAGAR	Regular	100	OPEN	DC	35	35	1225	25	60	Draw Of Lots	15	5
1297	Between Rampur and Yelkurthi on bypass on L.H.S. towards dharmasagar	WARANGAL URBAN	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw Of Lots	0	3
1298	Kamareddy(Nizamasagar X Road to Railway Station) on RHS	KAMAREDDY	Regular	100	OBC CC 1	DC	20	20	400	25	45	Draw Of Lots	15	4
1299	DHARMARAM-ON-SH-7	PEDDAPALLI	Regular	100	OPEN	СС	35	35	1225	25	10	Bidding	30	5
1300	Within 500 Mtrs radius of Sri Dhasanjaneya Swamy Temple on Wyra to Bonakal Road	KHAMMAM	Regular	150	OPEN PH	DC	35	35	1225	25	60	Draw Of Lots	15	5
1301	ON CHITYAL TO BHAINSA ROAD ON NH61 ON RHS	NIRMAL	Regular	150	SC	CFS	35	45	1575	0	0	Draw Of Lots	0	3
1302	Banswada(Within 3 Kms from Tadkole X Roads towards Varni) on LHS	KAMAREDDY	Regular	100	OBC	DC	20	20	400	25	45	Draw Of Lots	15	4
1303	CHOPPDANDI-ON SH-7	KARIMNAGAR	Regular	100	OPEN	СС	35	35	1225	25	10	Bidding	30	5
1304	NIRMAL ON OLD BYE PSS ROAD TOWARDS KADATHAL ON LHS (WITHIN 3 KM FROM SHIVAJI CHOWK)	NIRMAL	Regular	100	OBC	DC	20	20	400	25	45	Draw Of Lots	15	4
1305	ON CHITYAL TO BHAINSA ROAD ON NH61 ON LHS	NIRMAL	Regular	150	SC	CFS	35	45	1575	0	0	Draw Of Lots	0	3
1306	MOHAN RAO PET-NH-63	JAGITIAL	Regular	100	OPEN	DC	35	35	1225	25	60	Draw Of Lots	15	5
1307	ARNAKONDA-ON SH7	KARIMNAGAR	Regular	100	OPEN	DC	35	35	1225	25	60	Draw Of Lots	15	5
1308	KORUTLA (WITH IN MUNCIPAL LIMITS-ON NH63- TOWARDS JAGTIAL) on LHS	JAGITIAL	Regular	150	OPEN	CC	20	20	400	25	10	Bidding	30	5
1309	Within 1 Km from Enumamula grain market	WARANGAL RURAL	Regular	150	OBC	DC	20	20	400	25	60	Draw Of Lots	15	4
1310	Julurupadu village limits on Tallada to Kothagudem road	BHADRADRI KOTHAGUDEM	Regular	100	ST	CFS	35	35	1225	0	0	Draw Of Lots	0	3

1311	FROM JAGTIAL NEW BUS STAND CHOWRASTA TOWARDS DHARMAPURI (WITH IN MUNCIPAL LIMIT)	JAGITIAL	Regular	150	OPEN	DC	20	20	400	25	75	Draw Of Lots	15	5
1312	WITH IN 5KM FROM IBRAHIMPATNAM CROSS ROAD TOWARDS NIZAMABAD (ON NH-63)	JAGITIAL	Regular	150	OPEN CC 1	DC	35	35	1225	25	75	Draw Of Lots	15	5
1313	Arepally (on NH-163 RHS Warangal to Mallampalli)	WARANGAL RURAL	Regular	150	OBC	DC	35	35	1225	25	75	Draw Of Lots	15	4
1314	HANUMAN STATUE IB MANCHERIAL TO GUDIPET ON NH63 ON RHS	MANCHERIAL	Regular	150	SC	CFS	35	45	1575	0	0	Draw Of Lots	0	3
1315	MEDIPALLI ON NH 63	JAGITIAL	Regular	150	OPEN	DC	35	35	1225	25	75	Draw Of Lots	15	5
1316	Mallampally (on NH163 RHS Warangal to Mulugu)	JAYASHANKAR BHUPALPALLY	Regular	150	OBC	DC	35	35	1225	25	75	Draw Of Lots	15	4
1317	MANTHANI X ROAD TO MAHADEVPUR (WITHIN SKM FROM MANTHANI X ROAD TOWARDS MAHADEVPUR)	JAYASHANKAR BHUPALPALLY	Regular	150	OPEN	DC	35	35	1225	25	75	Draw Of Lots	15	5
1318	PEDDAPALLI TO BOMPALLI (AFTER BYPASS)	PEDDAPALLI	Regular	100	OPEN	DC	25	25	625	25	45	Draw Of Lots	15	5
1319	Mittagudem village limits on Aswapuram to Manuguru road	BHADRADRI KOTHAGUDEM	Regular	100	ST	CFS	30	30	900	0	0	Draw Of Lots	0	3
1320	MANDAMARRI TO KYATHANPALLI ON SH1 LHS	MANCHERIAL	Regular	100	OBC	DC	35	45	1575	25	60	Draw Of Lots	15	4
1321	AMBARPET- ON SH7	JAGITIAL	Regular	150	OPEN	DC	35	35	1225	25	60	Draw Of Lots	15	5
1322	SIDDAPALLI ON PEDDPALLI TO MANTHINI ROAD	PEDDAPALLI	Regular	100	OPEN	DC	35	35	1225	25	45	Draw Of Lots	15	5
1323	Gudur (on NH365 LHS Warangal to Mahabubabad)	MAHABUBABAD	Regular	150	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1324	Apollo Reach Hospital to Teegalaguttapalle on SH7	KARIMNAGAR	Regular	100	OBC	DC	35	35	1225	25	60	Draw Of Lots	15	4
1325	VENKAT RAO PET ON NH-63	JAGITIAL	Regular	150	OPEN	DC	35	35	1225	25	75	Draw Of Lots	15	5
1326	WITH IN 1KM FROM MALYAL X ROAD TOWARDS KARIMNAGAR ON NH563	JAGITIAL	Regular	150	OPEN	DC	35	35	1225	25	75	Draw Of Lots	15	5
1327	Mankammathota to Padmanagar water tank on SH11	KARIMNAGAR	Regular	100	OBC	DC	20	20	400	25	45	Draw Of Lots	15	4
1328	Rebbavaram village limits on Wyra-Bonakal road	KHAMMAM	Regular	100	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1329	Bommakkal-Peddapalli flyover to Mogdumpur on SH-1 on RHS	KARIMNAGAR	Regular	100	OPEN	DC	35	35	1225	25	60	Draw Of Lots	15	5
1330	Within 4 KMs from New Palvancha circle (NTR Statue) towards Mulkalapalli Road	BHADRADRI KOTHAGUDEM	Regular	100	OPEN	СС	30	30	900	25	10	Bidding	30	5
1331	Moranchapally(ON NH353C)	JAYASHANKAR BHUPALPALLY	Regular	150	OBC	DC	35	35	1225	25	75	Draw Of Lots	15	4
1332	Dummugudam village limits on Bhadrachalam-Cherla road	BHADRADRI KOTHAGUDEM	Regular	100	ST	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1333	THATIPALLY ON NH-63	JAGITIAL	Regular	150	OPEN	DC	35	35	1225	25	75	Draw Of Lots	15	5
1334	WITH IN 4 KM FROM SH-1 ON FCI MAIN ROAD	PEDDAPALLI	Regular	100	OPEN	DC	35	35	1225	25	45	Draw Of Lots	15	5
1335	Janagalapally( on NH 163)	JAYASHANKAR BHUPALPALLY	Regular	150	OBC	DC	35	35	1225	25	75	Draw Of Lots	15	4
1336	BONTHAKUNTAPLLI ON SH-1 ON LHS TOWARDS KARIMNAGAR	PEDDAPALLI	Regular	100	OPEN	DC	35	35	1225	25	60	Draw Of Lots	15	5
1337	Bayyaram village limits on Yellandu-Mehabubabad road	MAHABUBABAD	Regular	100	SC	CFS	30	30	900	0	0	Draw Of Lots	0	3
1338	Budharaopet (on NH 365)	WARANGAL RURAL	Regular	150	OBC	DC	35	35	1225	25	75	Draw Of Lots	15	4
1339	CENTINARY COLONY	PEDDAPALLI	Regular	150	OPEN CC 1	DC	35	35	1225	25	75	Draw Of Lots	15	5
1340	KURIKYALA ON KARIMNAGAR TO JAGTIAL ROAD	KARIMNAGAR	Regular	150	OPEN	DC	35	35	1225	25	75	Draw Of Lots	15	5

1341	RAMAKRISHNAPUR-KYTHANPALLI ROAD	MANCHERIAL	Regular	100	ST	CFS	20	20	400	0	0	Draw Of Lots	0	3
1342	Warangal (On circuit house road)	WARANGAL URBAN	Regular	150	OBC	DC	20	20	400	25	60	Draw Of Lots	15	4
1343	KASULAPALLY ON PEDDPALLI TO DHARMARAM ROAD	PEDDAPALLI	Regular	100	OPEN	DC	35	35	1225	25	45	Draw Of Lots	15	5
1344	BOTLAVANAPARTHY ON PEDDPALLI TO DHARMARAM ROAD	PEDDAPALLI	Regular	100	OPEN	DC	35	35	1225	25	45	Draw Of Lots	15	5
1345	Sattupalli on Post office road	KHAMMAM	Regular	100	SC	CFS	30	30	900	0	0	Draw Of Lots	0	3
1346	Between Thanamcharla Village to Thanamcherla Electrical Substation on NH-365 on RHS	MAHABUBABAD	Regular	150	OBC	DC	35	35	1225	25	75	Draw Of Lots	15	4
1347	GAREPALLI ON BHUPALPALLI TO MAHADEVPUR ROAD	JAYASHANKAR BHUPALPALLY	Regular	150	OPEN	DC	35	35	1225	25	75	Draw Of Lots	15	5
1348	Reddypalli village limits on Khammam to Korivi Road	KHAMMAM	Regular	100	OPEN CC 2	DC	20	20	400	25	45	Draw Of Lots	15	5
1349	Madnoor (500m from ZP High school Madnoor towards Nanded on NH 161)	KAMAREDDY	Regular	150	OBC CC 1	DC	35	35	1225	25	75	Draw Of Lots	15	4
1350	Koyagutta X Road towards Yellareddy on SH6(With in 2kms from Koyagutta X Road)	KAMAREDDY	Regular	100	SC CC 1	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1351	Between Venkatagiri Cross roads to Anjanapuram on Tallada to Kallur Road on SH42	KHAMMAM	Regular	100	OPEN	СС	35	35	1225	25	10	Bidding	30	5
1352	Between Nirmal Hridai High School & SBI-NST Road branch on Gattayya centre to VDOs colony road in Khammam Town	KHAMMAM	Regular	100	OPEN	сс	20	20	400	25	10	Bidding	30	5
1353	Gangadevipally( on RHS warangal narsampet road)	WARANGAL RURAL	Regular	100	OBC	DC	25	25	625	25	45	Draw Of Lots	15	4
1354	Between Kuravi cross and kandikonda cross on NH-365 on RHS	MAHABUBABAD	Regular	100	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1355	On Kammam Bus Depot road Between Mayuri centre & Khammam bypass	KHAMMAM	Regular	150	OPEN	DC	20	20	1225	25	75	Draw Of Lots	15	5
1356	Between Church compound and Police Commmissionerate new building on Kodad road	KHAMMAM	Regular	100	OPEN	CC	20	20	400	25	10	Bidding	30	5
1357	Between Kuravi cross and kandikonda cross on NH-365 on LHS	MAHABUBABAD	Regular	150	OBC	DC	35	35	1225	25	75	Draw Of Lots	15	4
1358	PEDDAKALVALA-ON SH-1	PEDDAPALLI	Regular	100	OPEN	DC	35	35	1225	25	60	Draw Of Lots	15	5
1359	Within 1 KM from Bhadrachalam town Ambedkar Circle towards Parnasala side	BHADRADRI KOTHAGUDEM	Regular	160	ST	CFS	20	20	400	0	0	Draw Of Lots	0	3
1360	Within 500 mtrs radius at Athukur Junction in Madhira town	KHAMMAM	Regular	100	OPEN	DC	30	30	900	25	45	Draw Of Lots	15	5
1361	Nagireddipet( Within 1km from Rampratap theatre towards Yellareddy on SH6)	KAMAREDDY	Regular	100	OBC	DC	35	35	1225	25	60	Draw Of Lots	15	4
1362	Nutankal village limits on Thallada to Kallur Road on SH42	KHAMMAM	Regular	100	OPEN CC 1	CC	35	35	1225	25	10	Bidding	30	5
1363	BETWEEN ASHWINI THEATRE ,THORRUR TO AMBEDKAR STATUE ON LHS TOWARDS KHAMMAM	MAHABUBABAD	Regular	150	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1364	Kaman junction to Karimnagar Busstand	KARIMNAGAR	Regular	100	OBC	DC	20	20	400	25	45	Draw Of Lots	15	4
1365	Within 2Kms from Kanteshwar Temple towards Armoor on LHS	NIZAMABAD	Regular	100	OPEN	СС	20	20	400	25	10	Bidding	30	5
1366	Bheemgal town from Existing HPCL outlet to SBI Bheemgal	NIZAMABAD	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
1367	Polasa on NH - 63	JAGITIAL	Regular	150	OBC	DC	35	35	1225	25	75	Draw Of Lots	15	4
1368	Within 1 KM from Bhadrachalam town Ambedkar Circle towards Nellipaka side	BHADRADRI KOTHAGUDEM	Regular	160	ST	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1369	Nizamabad town (Within 2kms from Varni Chowrasta towards Varni) on LHS	NIZAMABAD	Regular	100	OPEN	СС	20	20	400	25	10	Bidding	30	5
1370	Nizamabad (NTR Statue, Kumar Galli to Nehru Chowk)	NIZAMABAD	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5

1371	Jamlam on SH25	NIZAMABAD	Regular	150	OBC	DC	35	35	1225	25	60	Draw Of Lots	15	4
1372	On NH44(Tekriyal to Adloor Yellareddy on RHS)	KAMAREDDY	Regular	150	SC	CFS	35	45	1575	0	0	Draw Of Lots	0	3
1373	Nizamabad (Pedha Bazar Road from Nehru Chowk to Post Office Shivajinagar)	NIZAMABAD	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
1374	Nizamabad (Within 1km from Gol Hanuman Mandhir, Shivaji Nagar)	NIZAMABAD	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
1375	BETWEEN BASANTH NAGAR TOLL GATE TO IOCL- RAMAGUNDAM DEPOT ON SH-1 (ON LHS)	PEDDAPALLI	Regular	100	OBC PH	DC	35	35	1225	25	60	Draw Of Lots	15	4
1376	Bommanapalli village limits on Yellandu to Kothagudem Road	KHAMMAM	Regular	100	ST PH	CFS	20	20	400	0	0	Draw Of Lots	0	3
1377	Nizamabad (Aryanagar Area)	NIZAMABAD	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
1378	on NH44 (Jangampally to Anthampally )	KAMAREDDY	Regular	150	OPEN	DC	35	45	1575	25	75	Draw Of Lots	15	5
1379	SUGLAMPALLI-ON SH-1	PEDDAPALLI	Regular	100	OBC	DC	35	35	1225	25	60	Draw Of Lots	15	4
1380	On NH44(Tekriyal to Adloor Yellareddy on LHS)	KAMAREDDY	Regular	150	OPEN	DC	35	45	1575	25	75	Draw Of Lots	15	5
1381	Annapureddypally village limits on Kistaram to Mulakalapally road	KHAMMAM	Regular	100	ST	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1382	Kamareddy Muncipality Limits(Nizamasagar X Road towards tadwai) on RHS	KAMAREDDY	Regular	150	OPEN	СС	20	20	400	25	10	Bidding	30	5
1383	Between Kistaram & VM Banjar on SH42 (on LHS)	KHAMMAM	Regular	100	OBC	DC	35	45	1575	25	60	Draw Of Lots	15	4
1384	Rekurthi on NH563	KARIMNAGAR	Regular	150	OPEN	СС	35	35	1225	25	10	Bidding	30	5
1385	Kamareddy(Within 300m from NH44 towards Siricilla on RHS on Sircilla-Kamareddy Road)	KAMAREDDY	Regular	100	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1386	Between Kodad cross roads to Venkatagiri cross roads on LHS	KHAMMAM	Regular	100	OBC	DC	30	30	900	25	45	Draw Of Lots	15	4
1387	ARAPET- ON NH63	JAGITIAL	Regular	150	OPEN	DC	35	35	1225	25	75	Draw Of Lots	15	5
1388	Narsapur Shivar on SH25	NIZAMABAD	Regular	100	OPEN CC 1	DC	35	35	1225	25	60	Draw Of Lots	15	5
1389	Ponnekal village limits on SH42	KHAMMAM	Regular	100	OBC	DC	35	35	1225	25	60	Draw Of Lots	15	4
1390	LINGAMPET ON SH11	KAMAREDDY	Regular	100	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1391	Machareddy on SH11	KAMAREDDY	Regular	100	OPEN	DC	35	35	1225	25	60	Draw Of Lots	15	5
1392	Within 2 KMs from Yellandu cross roads, Khammam (Telugu Thalli statue) towards Yellandu road	KHAMMAM	Regular	150	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
1393	Narsannapally on NH44 Towards Hyderabad on RHS (Within 3 Kms from 108 km Stone No.389)	KAMAREDDY	Regular	150	OBC	DC	35	45	1575	25	75	Draw Of Lots	15	4
1394	Forest Office Road in Bhadrachalam town	KHAMMAM	Regular	100	ST	CFS	20	20	400	0	0	Draw Of Lots	0	3
1395	Nizamabad(NTR Statue to Kanteshwar bypass chourastha)	NIZAMABAD	Regular	100	OPEN	СС	20	20	400	25	10	Bidding	30	5
1396	Kamareddy( Within 1km from Toompally 27kms stone towards Ramareddy on RHS)	KAMAREDDY	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
1397	Yellareddy Muncipal Limits	KAMAREDDY	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
1398	Tanikella village limits on Khammam-Aswaraopet road SH42	KHAMMAM	Regular	100	OBC CC 1	DC	35	35	1225	25	60	Draw Of Lots	15	4
1399	ITDA Road in Bhadrachalam town	KHAMMAM	Regular	100	ST CC 1	CFS	20	20	400	0	0	Draw Of Lots	0	3
1400	NIZAMBAD TOWN(FROM NTR STATUE TO PHULONG CHOWRASTA)	NIZAMABAD	Regular	100	OPEN PH	DC	20	20	400	25	45	Draw Of Lots	15	5
	·		·	_		_	_	_	_	_			_	_

1401	JANGAON TOWN WITHIN MUNCIPAL LIMITS	JANGAON	Regular	100	OBC	СС	20	20	400	25	10	Bidding	30	4
1402	Balasamudram Road (Between SBI to TSRTC Busstand)	WARANGAL URBAN	Regular	150	OPEN	DC	20	20	400	25	60	Draw Of Lots	15	5
1403	Dharmaram to Dichpally ON LHS	NIZAMABAD	Regular	100	SC	CFS	20	20	400	0	0	Draw Of Lots	0	3
1404	Warangal ( within 3 kms from warangal chowrasta)	WARANGAL URBAN	Regular	150	OPEN	DC	20	20	400	25	60	Draw Of Lots	15	5
1405	Between Sri Sri circle and Mamatha hospital circle on LHS in Khammam town	КНАММАМ	Regular	120	OBC	DC	20	20	400	25	45	Draw Of Lots	15	4
1406	Warangal (Kareemabad)	WARANGAL URBAN	Regular	150	OPEN	СС	20	20	400	25	10	Bidding	30	5
1407	Hanamkonda (Between Mulugu cross road to Police headquarters on LHS)	WARANGAL URBAN	Regular	200	OPEN	DC	20	20	400	25	60	Draw Of Lots	15	5
1408	Tadvai (on NH 163)	JAYASHANKAR BHUPALPALLY	Regular	150	ST	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1409	Within 2 KMs Between Ballepalli centre towards Ballepalli Government High school road	KHAMMAM	Regular	100	OBC	DC	20	20	400	25	45	Draw Of Lots	15	4
1410	Warangal (Within 4 KMS from kashibugga chowrasta on narsampet road on LHS)	WARANGAL URBAN	Regular	150	OPEN	DC	20	20	400	25	60	Draw Of Lots	15	5
1411	Hanamkonda ( Ambedkar statue to 100 feet road on LHS )	WARANGAL URBAN	Regular	150	OPEN CC 1	DC	20	20	400	25	60	Draw Of Lots	15	5
1412	Between Warangal x roads to Thirumalayapalem on LHS	KHAMMAM	Regular	100	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1413	FROM HASANPARTY TO K.U. CROSS ON L.H.S.	WARANGAL URBAN	Regular	150	OBC	DC	35	45	1575	25	75	Draw Of Lots	15	4
1414	Warangal ( within 2 kms from Pochama maidan to deshaipet road)	WARANGAL URBAN	Regular	150	OPEN	DC	20	20	400	25	60	Draw Of Lots	15	5
1415	NARSAMPET MUNCIPAL LIMITS	WARANGAL RURAL	Regular	150	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
1416	ON JANGAON - SURYAPET ROAD(WITHIN 2 KM FROM JANGAON CHOWRASTHA)	JANGAON	Regular	100	OBC	DC	20	20	400	25	45	Draw Of Lots	15	4
1417	SABITHAM ON PEDDAPALLI TO MANTHINI ROAD	PEDDAPALLI	Regular	100	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1418	Warangal (LHS Pochama Maidan to hunter road)	WARANGAL URBAN	Regular	150	OPEN	DC	20	20	400	25	60	Draw Of Lots	15	5
1419	Hanamkonda (Between Police headquarters to KU cross road on RHS)	WARANGAL URBAN	Regular	150	OPEN	DC	20	20	400	25	60	Draw Of Lots	15	5
1420	Bachannapet City Limits on SH-9	JANGAON	Regular	100	OBC	DC	35	35	1225	25	60	Draw Of Lots	15	4
1421	on NH44(Anthampally to Baswapur) on LHS	KAMAREDDY	Regular	150	SC	CFS	35	45	1575	0	0	Draw Of Lots	0	3
1422	Narsampet(Between Bus Station and Ambedkar Centre)	WARANGAL RURAL	Regular	100	OPEN	cc	20	20	400	25	10	Bidding	30	5
1423	Parkal(Within Municipal limits)	WARANGAL RURAL	Regular	110	OPEN	DC	25	25	625	25	45	Draw Of Lots	15	5
1424	Manakondur to Thadikal on NH 563 ON LHS	KARIMNAGAR	Regular	150	OBC	DC	35	35	1225	25	75	Draw Of Lots	15	4
1425	BETWEEN WARDANNAPET AND MYLARAM ON NH- 563 (L.H.S. TOWARDS KHAMMAM)	WARANGAL RURAL	Regular	150	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1426	Bhupalpally ( 3 kms from Jayashankar statue towards parkal on LHS )	JAYASHANKAR BHUPALPALLY	Regular	150	OPEN	DC	25	25	625	25	45	Draw Of Lots	15	5
1427	Chukkapur on SH11	KAMAREDDY	Regular	100	OBC	DC	35	35	1225	25	60	Draw Of Lots	15	4
1428	Mulugu on NH-163	JAYASHANKAR BHUPALPALLY	Regular	150	OPEN	DC	35	35	1225	25	75	Draw Of Lots	15	5
1429	Mahabubabad (within Muncipal limits)	MAHABUBABAD	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
1430	Warangal( within Muncipal Limits)	WARANGAL URBAN	Regular	100	ST	CFS	20	20	400	0	0	Draw Of Lots	0	3
	•													

1431	Karimnagar( from NTR Statue-Rampur Jn. To Ramachandrapur colony Overhead water tank, on	KARIMNAGAR	Regular	100	OBC	DC	20	20	400	25	45	Draw Of Lots	15	4
	Vemulawada Bye pass Road) RHS													
1432	Mannegudem (on NH-365A)	MAHABUBABAD	Regular	150	OPEN	DC	35	35	1225	25	75	Draw Of Lots	15	5
1433	Mulkalapalle (on NH 365A)	MAHABUBABAD	Regular	150	OPEN	DC	35	35	1225	25	75	Draw Of Lots	15	5
1434	Mittapalli village limits on Thallada to Kallur Road on SH42	KHAMMAM	Regular	100	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1435	Venkatraopet on SH11	KARIMNAGAR	Regular	100	OBC	DC	35	35	1225	25	60	Draw Of Lots	15	4
1436	Itikalpally ( on NH 365)	WARANGAL RURAL	Regular	150	OPEN	DC	35	35	1225	25	75	Draw Of Lots	15	5
1437	Warangal (RHS within 3 km from mulugu cross road to arepally on NH163)	WARANGAL URBAN	Regular	150	OPEN CC 1	DC	25	25	625	25	60	Draw Of Lots	15	5
1438	Shabaspalli on SH11	KARIMNAGAR	Regular	100	OBC	СС	35	35	1225	25	10	Bidding	30	4
1439	Within 500 mtrs radius of Stage Pinapaka on Wyra to Thallada Road RHS on SH42	KHAMMAM	Regular	100	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1440	Warangal (LHS within 3 km from mulugu cross road to arepally on NH163)	WARANGAL URBAN	Regular	150	OPEN	DC	25	25	625	25	60	Draw Of Lots	15	5
1441	Warangal (on Pothana road)	WARANGAL URBAN	Regular	150	OPEN	DC	20	20	400	25	60	Draw Of Lots	15	5
1442	Gollapalli on SH11	KARIMNAGAR	Regular	100	OBC	СС	35	35	1225	25	10	Bidding	30	4
1443	Between Raghunathapally and Nidigonda on NH-163	JANGAON	Regular	150	ST	CFS	35	45	1575	0	0	Draw Of Lots	0	3
1444	Warangal (within 2 kms from Kashibugga chowrasta to enumamula road)	WARANGAL URBAN	Regular	150	OPEN	DC	20	20	400	25	60	Draw Of Lots	15	5
1445	Chennapur on NH353C	JAYASHANKAR BHUPALPALLY	Regular	150	OPEN	DC	35	35	1225	25	75	Draw Of Lots	15	5
1446	5km from Andhra Bank towards Sircilla on SH11	RAJANNA SIRCILLA	Regular	100	OBC	DC	35	35	1225	25	60	Draw Of Lots	15	4
1447	Pallampet (on venkatapur to mulugu ghanpur road)	JAYASHANKAR BHUPALPALLY	Regular	150	OPEN	DC	25	25	625	25	45	Draw Of Lots	15	5
1448	Mandalapalli village limits on Sattupalli to Aswaraopet Road RHS on SH42	KHAMMAM	Regular	100	SC CC 1	CFS	35	35	1225	0	0	Draw Of Lots	0	3

1449	Warangal ( Puppalagutta )	WARANGAL URBAN	Regular	150	OPEN CC 2	DC	20	20	400	25	60	Draw Of Lots	15	5
1450	Mancherial Chowrasta to Appollo reach Hospital on SH7	KARIMNAGAR	Regular	100	OBC CC 1	DC	35	35	1225	25	60	Draw Of Lots	15	4
1451	Arepally (on LHS Warangal to Mallampalli on NH-163)	WARANGAL URBAN	Regular	150	OPEN	DC	35	35	1225	25	75	Draw Of Lots	15	5
1452	Kamareddy (within 2.5kms from Railway Station towards Siricilla) on LHS	KAMAREDDY	Regular	100	SC	CFS	20	20	400	0	0	Draw Of Lots	0	3
1453	karimnagar town From D - Mart, Bank colony to Arepally on Arepally Road	KARIMNAGAR	Regular	100	OBC	DC	20	20	400	25	45	Draw Of Lots	15	4
1454	Warangal Muncipal Limits	WARANGAL URBAN	Regular	150	OPEN	DC	20	20	400	25	60	Draw Of Lots	15	5
1455	Warangal (kothawada on 80 feet road )	WARANGAL URBAN	Regular	150	OPEN	DC	20	20	400	25	60	Draw Of Lots	15	5
1456	Karimnagar (Karimnagar Bustand to Mankammathota main road)	KARIMNAGAR	Regular	100	OBC	DC	20	20	400	25	45	Draw Of Lots	15	4
1457	Yerragunta village limits on Penuballi to Chandrugonda Road LHS on NH 30	KHAMMAM	Regular	100	ST	CFS	20	20	400	0	0	Draw Of Lots	0	3
1458	Warangal (on KU bypass road)	WARANGAL URBAN	Regular	150	OPEN	cc	20	20	400	25	10	Bidding	30	5
1459	Within 2 KMs from Govind Centre, Yellandu towards Kothagudem side on LHS	BHADRADRI KOTHAGUDEM	Regular	100	OPEN	DC	20	20	400	25	45	Draw Of Lots	15	5
1460	Karimnagar(Naka Chowrasta to Bommakal flyover on Rajeev rahadari road)	KARIMNAGAR	Regular	100	OBC	DC	25	25	625	25	45	Draw Of Lots	15	4
1461	Between ZP Circle and Mayuri centre in Khammam town on LHS	KHAMMAM	Regular	150	SC	CFS	35	45	1575	0	0	Draw Of Lots	0	3
1462	Regonda on NH353C	JAYASHANKAR BHUPALPALLY	Regular	150	OPEN	сс	35	35	1225	25	10	Bidding	30	5
1463	Venkatapuram village limits on Cherla to wazeedu road	JAYASHANKAR BHUPALPALLY	Regular	150	OPEN CC 1	DC	35	35	1225	25	60	Draw Of Lots	15	5
1464	IN THORRUR ON NH563 ON RHS TOWARDS KHAMMAM	MAHABUBABAD	Regular	150	OBC	DC	35	35	1225	25	75	Draw Of Lots	15	4
1465	Muthojipet ( on NH 365)	WARANGAL RURAL	Regular	100	SC	CFS	35	35	1225	0	0	Draw Of Lots	0	3
1466	Laknepally ( on Warangal Narsampet road)	WARANGAL RURAL	Regular	100	OPEN	DC	30	30	900	25	45	Draw Of Lots	15	5
1467	Katakshapur (Within 1 Km from Km 169/6) on NH163	WARANGAL RURAL	Regular	150	OPEN	сс	35	35	1225	25	10	Bidding	30	5
1468	KAZIPET BYEPSS (ON 100FT ROAD) ON RHS TOWARDS KU CROSS ROAD	WARANGAL URBAN	Regular	150	OBC	сс	20	20	400	25	10	Bidding	30	4
1469	NIZABAD TOWN WITHIN MIUNCIPAL LIMITS	NIZAMABAD	Regular	100	OPEN	DC	25	25	625	25	45	Draw Of Lots	15	5
1470	JAGANNADHAPURAM VILLAGE LIMITS ON NEW PALVANCHA TO BURUGAMPAHAD ROAD	BHADRADRI KOTHAGUDEM	Regular	150	ST	CFS	35	45	1575	0	0	Draw Of Lots	0	3
1471	VEDIRA ON NH563	KARIMNAGAR	Regular	150	OPEN	DC	35	35	1225	25	75	Draw Of Lots	15	5
1472	JAIPUR CROSS ROADS TO INDARAM ON SH-1 ON LHS	MANCHERIAL	Regular	100	OBC	DC	35	35	1225	25	60	Draw Of Lots	15	4
1473	KAZIPET BYEPSS (ON 100FT ROAD) ON LHS TOWARDS KU CROSS ROAD	WARANGAL URBAN	Regular	150	OPEN	DC	20	20	400	25	60	Draw Of Lots	15	5
1474	BHUPALAPALLI MUNCIPAL LIMITS	JAYASHANKAR BHUPALPALLY	Regular	100	SC PH	CFS	20	20	400	0	0	Draw Of Lots	0	3
1475	Warangal (RHS Pochama Maidan to hunter road)	WARANGAL URBAN	Regular	150	OBC PH	DC	20	20	400	25	60	Draw Of Lots	15	4
1476	Mokilla village, Shankarpally Mandal	RANGA REDDY	Rural	60	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
1477	Elwarthy village, Shankarpally Mandal	RANGA REDDY	Rural	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
1478	Marriguda on Kurmed road, Marriguda Mandal	NALGONDA	Rural	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
-			-		•									

# Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

 $^{st}$  The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant

should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available at a cost of Rs. 100/- from the Corporation Offices at the addresses mentioned below. It is also hosted in the Corporation Website

www.iocl.cor

or from

www.petrolpumpdealerchayan.in and can be downloaded free of cost.

" If the minimum dimension mentioned here is different from the minimum dimensions mentioned by the State Authorities, then the dimensions applicable on the date of advertisement for the state, as given by the authorities will be treated as minimum required dimension. The minimum dimensions mentioned in the advertisement here is for the purpose of eligibility criteria. However, for better layout, positioning and construction of facilities, better maneuverability of vehicles, better customer convenience which is likely to give better sales, bigger plot sizes of about 35 m x 35m would be preferable for other than NH sites.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREPULY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 12.01.2019.

Type of			Application	Type of	Type of Site	Categor	Applica	
RO	Type of Site	Category	fee in Rs.	RO		у	tion fee	
Regular	r CFS	SC/ST		Rural			in Dr	
		3C/31	3000	ROs	CFS	SC/ST	2500	
	сс	OBC	5000		сс	ОВС	4000	
	сс	Open	10000		сс	Open	8000	
	DC	OBC	5000		DC	ОВС	4000	
	DC	Open	10000		DC	Open	8000	

The facility for submission of on-line application will be withdrawn immediately

after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of 15 years and renewable every 15 years thereafter. This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership. The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English News papers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute

For purchase of Brochure and any information with regard to the advertisement, candidates may contact the following address:

1 Indian Oil Corporation Limited Secunderabad Divisional Office 9-1-83 & 83, Sarojini Devi Road, Secunderabad - 500 003 Ph. 9014636504; 9014645109 Call centre: 7997005658

Indian Oil Corporation Limited,
 Warangal Divisional Office
 House No: 5-11-503 & 504
 4th Floor, "KANDAKATLA GATEWAY"

4th Floor, "KANDAKATLA GATEWA' KU Cross Roads

Nayeem Nagar, Hanamkonda, Warangal – 506 009 Ph. 9014640551; 9014638621

Call centre: 7997005658

For Districts: Hyderabad, Jogulamba Gadwal,

Mahabubnagar, Medak, Medchal Malkajgiri, Nagarkurnool, Nalgonda, Rangareddy, Sangareddy, Siddipet, Suryapet, Vikarabad, Wanaparthy, Yadadri Bhongir

For Districts: Adilabad, Bhadradri Kothagudem,

Nirmal, Jagitial, Jangaon, Jayashankar Bhuapalapally, Nizamabad, Kamareddy, Karimnagar, Khammam, Komram Bheem Asifabad, Mahabubabad, Peddapalli, Mancherial, Rajanna Sircilla, Warangal Rural,

Warangal Urban